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Preface

The idea of writing notes for Cambridge A-level Economics came to me in 2003,

when, hayi
alroady taught for a year, | realized that no single economics book available in the | h?vmg
ocal a
international markets covered all the topics with the depth and perspective requireq by th C?:
e

syllabus, Both students and teachers had to consult 3 to 4 different books to find all the materia)
(hat they needed—private candidates and new teachers had it even worge, Furthermore, it wag
really difficult for students to keep having to refer through different books when the exams were
close and they were starved for time. | took on the challenge and decided to write a
comprehensive text that explicitly followed the syllabus and exam pattern of the CIE, A year and
a half later, in the middle of 2004, | had finally written and published four entire volumes of A-leve|

economics notes. Part of them had been hand-written, and part of them had been typed. Soon,

word of their usefulness spread, and they were bought all over Pakistan.

The notes had served their purpose well till the end of 2014. Till that boint, there had only been
minor changes in the syllabus. But now, there was a dire need to update them, for the new
syllabus for the 2016 examination introduced some significant changes in course content.

In this new and improved edition, old topics have been revised and new topics have been added.
At the end of each topic, a relevant list of essay questions has been added as well, and these
contain questions spanning from 1990 to 2015. These questions provide a clear guideline
regarding how the examiners assess students’ knowledge on the topics for Paper 2 and Paper 4,
allowing the student to practice effectively. While writing these notes | kept in mind the way in
which the examiner tests MCQs as well. The notes have been divided into four volumes to make

it easier for those who are following the AS and A2 track separately and for those who are taking

the composite exam; the syllabus division in the following pages has been provided for this

express purpose.

| hope my efforts will help to contribute both to the learning of the student, as well as to the
inquisitiveness of any teachers of A-level economics, effectively. Your suggestions will help me
improve the quality of the content for later editions and will be highly appreciated.

Imran Latif

Cell: 0092-300-44-10-900
Email: :mranlatrfmahk@gmanl com ,
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1 Basic economic ideas and resource allocation [AS Level)

a} Scarcity, choice and opportunity cost s the fundarmental economic problem

o the meaning af scarcity and the inevitability
of choices at all levals (individual, firms,
governments)

= the basic questions of what will be produced,
how and for whom

* the meaning of the term, 'ceteris paribus’
s the margin and decision making at the margin
s shart run, long run, very long run

b} Positive and normative statements e the distinction between facts and value
judgements
¢} Factors of production = the rewards to the factors of production: land,

labour, capital and enterprise
* specialisation and division of labour

d} Resource allocation in different economic o decision making in market, planned and mixed
systerns and issues of transition economies
* the role of the factor enterprise in a modern
economy
a} Production possibility curves s  shape and shifts of the curve

s gonstant and increasing opportunity costs

fi Money s functions and characteristics in a modern
economy

s barter, cash and bank deposits, cheques, near
rmoney, liquidity

g} Classification of goods and services * {ree goods, private goods (economic goods)
and public goods

=  merit goads and demerit goods as the outcome
of imperfect information by consumers.
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The price system and the micro economy (AS Level)

Demand and supply curves

effective demand
individual and market demand and supply
factors influencing demand and supply

b}

Price elasticity, incoma elasticity and
cross-elasticities of demand

the meaning and calculaticn of elasticity of
demand

the range of elasticities of demand
the factors affecting elasticity of demand

the implications for revenue and business
decisions of price, income and cross-elasticities
of demand

c)

Price elasticity of supply

meaning and calculation of elasticity of supply
the range of elasticities of supply
the factors affecting elasticity of supply

implications for speed and ease with which
businesses react to changed market conditions

d)
)

Interaction of demand and supply
Market equilibrium and disequilibrium

meaning of equilibrium and disequilibrium
effects of changes in supply and dermand on
equilibrium price and quantity

applications of demand and supply analysis

movements along and shifts of the demand
and supply curves

joint demand {complements} and alternative
dernand (substitutes)

joint supply
the workings of the price mechanism; rationing,
signalling and the transmission of preferences

f)

Consumer and producer surplus

meaning and significance

how these are affected by changes in
equilibrium price and quantity
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3 Government microeconomic intervention (AS Level)

a} Maximum and minimum prices = meaning and effect on the market
b} Taxes (direct and indirect) * impact and incidence of taxes
= specific and ad valorem taxes
= average and marginal rates of taxation
= proportional, progressive and regressive taxes
s the Canons of Taxaticn
c} Subsidies = impact and incidence of subsidias
d) Transter payments * meaning and effect on the market
e} Direct provision of goods and services * meaning and effect on the market
f) MNationalisation and privatisation * meaning and effect on the market
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4 Glossary of command words

This glossary should prove helpful to candidates as a guide, although it is not exhaustive and it has
deliberately been kept brief. The number of marks allocated for any part of a question is a guide to the depth
required for the answer.

Command word What it means

Calculate Work out using the infarmation provided

Define Give the exact meaning of

Describe Give a description of, explain the main features of

Identify Name the key knowledge point

lllustrate Give examples, use a diagram

Outline Describe the key points without detall

State Give a concise answer with little or no supporting argument requirad

Analyse Explain the main points in detail, examine closely, separate into parts and
show how all the parts connect and link

Compare Explain the similarities and differences between

Explain/how Give clear reasons or make clear the meaning of, use examples and explain
the theory behind the question. This command word requires ‘Knowledge and
Understanding’ as well as ‘Application’

Consider Give your thoughts about, with some justification

Assess Show how important something is, give your judgement on

Comment upon

Give your reasoned opinion on, with explanations

Criticise Give an opinion but support it with evidence

Discuss Give the important arguments for and against, often requires a conclusion.
This command word requires ‘Analysis’ and 'Evaluation’

Justify Explain why the arguments for an opinion are stronger than the arguments
against

Evaluate Discuss the importance of, judge the overall worth of, make an attempt to

weigh up your opinicns

To what extent

Give reasons for and against, come tc a conclusion with a justification of
which arguments are strongest and which are weakest
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a. Scareity,
coat

he fTundamental economic problem
he meanng of scarcity and the
imevitability of choices at all levels
(Mmdividual, fims, govemments)

ihe Dasic questions of what will be
producad, how and for whom

the margin and decision making at the
margin

b. Positive and normative statements
the distinction between facts and
value judgements

c. Factors of production

the rewards to the factors of
production: land, labour, capital and
enterprise

specialisation and division of labour
(Transferred to Book 2 unit 2)

d. Resource allocation in different.
,economic systems and issues of
“-transition
decision making in market, planned
‘and mixed economies
the role of the factor enterpnise in a
modern economy

‘Production possibility curves

c¢hoice and opportunity

-—

-e.
- shape and shifts of the curve
— constant and increasing opportunity
costs . ‘
f. Money (Transferred to book 2 unit 2)

functions and characteristics in a
modern economy

barter, cash and bank deposits,
cheques near money\ liquidity

N
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Basic Economic Ideas and Resource Allocation

Economy 15 an area where goods and services are produced and consumed.
Economics 15 the social science that studies human behaviour between unlimited wants and b
resources with their alternative uses. hmiteg

In other words, itis a social science that studies how we can make the best use of what we haye -
to satisfy our needs and wants, Ordey

Or, simply, economics is the study of the economy.

Production and consumption

Resources are combined in the process of production to create goods and services. Goods and se
have the capacity to satisfy wants. The process through which individuals use up goods and services
satisfy wants is known as consumption. Some goods, such as a chocolate bar, are quickly used
satisfy our wants and are known as consumer perishables. Other things satisfy wants over 3
period. These are called consumer durables. Examples of consumer durables include television sets

refrigerators and vehicles.

BASIC ECONOMIC PROBLEM
The limitedness of resources to satisfy all human needs and wants in the society is known as the basjc
economic problem, fundamental economic problem or problem of scarcity.

From an individual to a whole society, everyone faces the problem of scarcity. The problem of scarcity
arises due to two reasons:

1. Limited nature of resources
2. Unlimited nature of wants

The Limited Nature of Resources

Resources

v v 0

Freorosources | (%0
} | &

- unlimited in supply 0

- limited in supply - e.g. Air, Sunlight \.\\ ,\/P\
l o)l
v v v P
LLand (N)l [Labour(L)] Capital (K) lEntrepreneurship]

O o

Resources are all those materials and efforts which can be useo‘l& @g{fce goods and services, €9

. R
agricultural area, labour, machines, tools, etc. ((> \‘:\&
Resources are of two types: b bo
% >
A lLJ’nllymuted resources or free resources 0 &6
Imited resources or scarce resources Q~0 \\“\\Y\
A
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Resources which are unlimited in supply, e.g. S€a water. Free resources are not of much ‘

concern 10 economists.

Limited Resources or Scarce Resources:

Resources which are limited in their su
limited, number of machines, buildings,

pply, .g., agricultural area that a country can have are
oil-reserves, and labour force are limited in supply.

~ Scarce resources are also known as factors of production.

- There are four major types of factors of production, i.e., land, labour, ca

j. Land (natural resources):
- All natural and god-gifted resources whic

collectively known as land, e.g., agricultural

minerals, coal, metals,

natural forests, etc.

- Ifafactor owner lends its factor of productionto s

that factor owner will receive for

pital, and entrepreneurship.

h can be used to produce goods and services are

area, oil-reserves, gas-reserves, rivers, lakes,

omeone else for use of specific period, the benefit

parting with the use of factor he owns, is known as factor reward,

return of factor of production or factor income.
- Reward for land is known as rent.

ii. Labour (human resource):

All human efforts (physicz_al or mental) used to produce goods and services are termed as labour. Labour
refers to the efforts used in the production process and is not the same as workers.

Workers Labour
Doctor Medical service
Teacher Teaching services
Engineer Engineering services
Security guara Security Services

| Labour = No. of workers x average work hours |

- Reward of labour is wages and salaries.

- Salaries are offered to permanently appointed staff and paid usually monthly or weekly.
— Wages are offered to the labour hired for a specific period or on task-basis. @

x
ii. Capital (man-made resource): ,\Q
| - All these resources which are manr-made and can be used to produce goods and se%e 0_)
w - e.g., machines, building, tools, furniture, roads and vehicles, etc. O 00

- Reward of capital is interest.

Capital

N
\o\\o’\}\

l

VoV
QTR

Y

Financial Capital

Y

Amount of money invested by
the owner

Used in
Accounting Terms

MEG

p
X Ay

&( Physical Capital

X N 2

All those man-made resources

b used to produce goods and
services

Used in
Economics
Terms

-
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v, Entraprensurehip! or *
Fiirsprshadr 1§ the person who combines all three factors of ,p“’d and Likes e b "kmd??
Combining sll factors function may be shared with managenial labour but riskAaking is excus

funchion of entrespransur

I nlreprensurship is the service of entrepreneur.
rofit.

Newatd lor entreprenaurship is known 25 p
wo | tasoum | cAPITAL | ENTREPRENEURSHP
Bymbol N L K
—
S bines all factors of
an efforts . e COMDI
Definition Limited natural me?suur?edn in number ';ﬂea;;‘:?g:: production
resourcas of hours. o takes the risk of logs,
- R i e B — «_,_,_——-—"—’—’-‘—_‘
' . Medical services | * Roads '
o Agricultural 813 | | 1oaching services | @ Buildings « Sole-trader's services
o Ol ‘ i e Machines « Partners’ services
Examplos : o Banking services :
g * Minerals « Labour services « Microsoft « Shareholder’s services
o [iver word
| l;o-\;n;d. a Ront | Wages or salary interest Profit
e am— — . E————
Unlimited Nature of Wants
Wants are all those desires which give us pleasure. . '
known as needs. e.g., food, clothing, shelter, efc

Those desires without which we cannot live are
However, those desires which provide us pleasure

wants,
Needs are limited but wants are unlimited.

but we can survive without then are termed as

individuals, firms, or a society have diverse and wide range of wants.

Individuals may desire bettor food, luxurious housing, high incomes, better working conditions, and

50 0N, o
sire for more and more profits, expansion, market-share, and monopoly pow‘g Q
i »
T

Firms may deg
Society may desire for improved Infrastructure, low un-employment, low inflation, h
growth, and high standaf8 of living.
OO
N

There is no limit of wants people, firms, and societies have.” o
) .

This limited nature of resources and unlimited nature of wants leads to the exist \b ltaéic economic
problem at all levels, Scarclty means inability to satisfy all of the wants with t@@ vel of limited
QYO

resources,

|Wants |— are salisfied _, goods & services |— are pt '@gy@ Resources
¢
Qe

by
: |
< d\&
Basic Economic Problem ( cgios

to choose some of their wants that can bé
helps us to make wise choices to achieve the
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st possible satisfaction. Hence, ecopami

\ t mua%‘gg@/megalecture
s and war's. www.megalecture.coitf best choices i, ord

_.ore there is scarcity, there is choice, and eye
¢ is no choice and no opportunity cost, i e, frgg ;:(232 has its OPPOrtNity cost. ff they

Choice means selection of somethin fo ,
accompanied by opportunity cost. g for consumption or production Every

Brtowyw
© I8 1o scarcity,

p .:I . “
Opportunity cost is the benefit of the n : _
having been made. et best alternative sacrificed due to the cyrrent choice

pxamples:

At an individual level

\n individual faces the basic economic problem if he has Rs.20 and

! . . W . .

prices of Rs.15 and Rs.10, respectively. He is unable to buy both due to :gtzr:r?t:duy : Pep.g and chips with

to make a choice. If he chooses Pep income; henoe:sform

opportunity cost.
_Atafirm's level
A firm may have to choose either an advertising campaign or instalment of new machinery in the factory
because it does not have enough resources to do both, Choice of advertisi . i

i : ertising cam
opportunity cost of new machinery. 9 paign will have the

— At the country’s level

A society may face basic economic problem when it does not find enough resources to develop a school

network in rural areas as well as wants to strengthen its defence system. Choice of strong national defence
will lead to the sacrifice of the benefit she could have from Improved education.

- Opportunity Cost is even present between the choice of present or future.

- Ifasociety chooses high standard of living in future, It must invest more today to reap high in future.
More investment today means less consumption and lower standard of living in the present.

- Present consumption is the opportunity cost of investment and better future living standards.

Problem of scarcity and its link with choice and opportunity can be best explained through a Production
Possibility Curve (PPC).

PRODUCTION POSSIBILITY CURVE 000

The Production possibility curve (PPC) is a curve that shows all maximum possible combi G;&m
goods and services which a country can produce using all available resources with efficie e of
production at a given state of technology.

Assumptions of PPC \o N’

- Suppose there are only two goods produced in a country: Guns and vo) (bq’

- Suppose the economy is working at full employment. All avallab rm 68 are utilized to
produce goods and services and quantity of resources Is fixed. ¢ S

- Assume that country is using best available technique of pr L¥, Productive Efficiency
(a situation where it is impossible to produce more of one W[tgout sacrifice of other.) |

- Finally to construct PPC and make it comprehendible, {gjas d that state of technology wil

not change in the given time constraint. % b(\

@@fry producing guns and roses assuming
nt way at present state of technology.
conomy will be at point ‘A’

ill be at point 'B'

Following diagram shows the production possibility curve

that all available resources are fully employed in the
- If all resources are allocated in guns produ
- If all resources in roses production the econom
- Acurve joining ‘A’ and ‘B' is PPC as shown below
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4
A
0 B Good x
Points "A’ and 'B' may be joined by a straight line or an inward bending curve as shown below:
A '
A A
0 B Goodx 0 B Good x

Hence, PPC may be of three shapes, i.e., outward bending, inward bending, or a straight line.

Shape of PPC

There are some concemns about the shape of PPC.
- Why is the PPC downward sloping?
— Why is the PPC outward bending?
— When is the PPC a straight line? 000

- When s the PPC inward bending?
O
x>0

PPC is always downward sloping because of presence of trade-off (i.e., opportunity ¢ st@e the two

1. Why is the PPC downward sloping?

goods because of scarcity. According to basic assumption of PPC, as a country ha INOf its available
resources with productive efficiency in a given constraint of technology, it is impossi 0 increase the
production of one good without losing the other. That's why PPC will a wnward sloping.
However, scarcity does not provide any information regarding why PPC is s@ig t@}:, inward bending, or
outward bending. X O

N\
2. Why is the PPC outward bending? &‘\0.0
PPC is curved or bowed outward in figure below. % 4&‘\
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[y s hecAtSe of non-homogeneity of resources or imperfect mobility of resources from one use to
Llher Inothef wolds, resources are speclalized in their nature and can’t be equally efficient in prodtdon

ol goode. Workers who are efficlent in roses (farmers) are not equally efficient in guns (factory
Lokors) Al TESOUTCS, like labour are speclalized for particular products,

AL point "a" In figure, where all available resources are employed in production of guns, £Conomy
i using even those resources in guns which were more efficient in roses production. If resources
which were more efficlent for roses and least efficient in guns are switched to produce some of the

1os6s, wo will be at point “c”, where a little sacrifice of guns can generate more roses, shown by
opportunity cost of 2 units.

If wo move from “¢” to "d” in figure, we have to switch those resources in production of roses, which

wore also efficient in production of guns. Consequently, opportunity cost (i.e., sacrifice of guns) will
be greater than before, i.e., 3 units of guns,

Incroase in production of roses beyond the point “d”, leads to use those resources in production of
roses which were most suitable for guns, resulting into high opportunity cost.

Ihis non-homogeneity of resources and increasing opportunity cost causes the PPC to be curved or bowed
outward. This is known as the law of increasing opportunity costs.

3. When is the PPC a straight line?

PPC can also be in straight line if resources are homogenous or perfectly mobile for both goods. @
Straight line PPC will have constant opportunity cost. This is shown in the following diagram. C ,\Q

coct P

4492 v q/?\'
‘ XS

2 \ i’é%@
1 N &.\0'

4. When is the PPC inward bending? Q.\g‘g‘A ]
1f

Non-homogenous resources
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_  Decreasing opportunity cost
Least suitable resources for roses are

the end.

Good y
r

20

PPC and opportunity cost calculations:

According to the following diagram:

t

Guns

20 42

15

10 e

b
4 Roses

.

0 2 3

- Opportunity cost of 4 units of roses is 20 units of guns or opportunity cost of 20 uni

units of roses

- Opportunity cost of 15 units of guns is 2 units of roses or opportunity cost of 2 u

units of guns

— Opportunity cost of increase in roses from 2 units to 3 units is fall in produo@ -%

VD
eQ ©

to 10 units, i.e.,5 units of guns and vice-versa

POINTS BELOW, ON, AND BEYOND THE PPC

switched to roses production at first and least suitable g

A7
!

Points on the PPC | Points beloﬂ@ﬁp Points beyond the PPCARR
According to figure abd ande "\\'6 - 7
Attainable Y “{‘ -
Desirable % ] 0 “?7:0{\ ‘
Employment of Resources - : o) =
Productive Efficiency = emgl = Hp;oymem ~ :
Opportunity Cost v x -
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9 2 3 4 Roses

3oies on the PPC

Fort "E tEpresents the maximum production

- of guns if all resources are e

oraducton of guns and no roses are produced. ° mPloyed in the
ﬁ'n[q'. “w' fapﬁs?nzs the maximum pmduchon of roses when no guns are produced.

s oanve hizr;;gﬂ these two extreme points (may be outward bending, inward bending, or a straight
e 1 .

Aany pont aiong the curve, such as *d” and "¢, there is a trade-off between two goods.
e oroduciion of roses can only be expanded by taking resources away from the production of
2

Mien an economy moves from point *d” to "e”, to have an extra unit of roses it must sacrifice “5"
ants of guns (opportunity cost).

Foants below the PPC

“ont "S" or 2ny other points below the PPC show that the economy is either under-utilizing its
Scarce resources (i.e., unemployment) or it is using an inefficient technique of production.
=oonomy is capable of moving to point “d” without sacrificing roses; more guns can be produced
0y ether employing idle resources or replacing inefficient techniques with efficient ones. It is also
wossiie 10 produce more roses without sacrificing guns, as shown through a movement from point
ST o point “e” on the PPC.

This mavement of an economy from a point below the PPC to the any of the points on the PPC is
2180 known as actual economic growth.

Points heyond the PPC

S
Paint “U” is unattainable within the current time frame and production capacity. It ca@ Qf)zed
in the long run when some of the assumptions of the PPC are relaxed, e.g., an mcr@e a

iQiantity
of land, Iabour, and capital or an improvement in technology. \\0 ,,\'\

Shifts In the PPC Q‘S%bq/

The praduction possibility curve can shift parallel inward or outward: ®

G??d y '\'0 g
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] re three major causes of shifts in the PPC.
1 A change in the quantity of resources

5 A change in the productivity (quality) of existing resources.
3 A reallocation of resources.
1. A Change in the Quantity of Resources

Land:
Land may increase because of.

Discovery of oil, metal or mineral reserves by active search.
Froded, water-logged land may be made usable for agricultural purposes (Reclamation ofm

-It shifts the PPC outward.

[.and may decrease because of:

Depletion of non-renewable natural resources .e.g., oil-reserves may exhaust by over ufilizag
Erosion caused by deforestation will reduce agricultural land. +

Water-logging may reduce agricultural usage of land.
Natural disasters (floods, earthquakes, etc.) may reduce the quantity of land for a country,

-t shifts the PPC inward.

Labour:
[ Population
Y
y 4
Dependentage group Working age group
(Below 16 yearsand or Adult Population
Above 65 years) (16-65 years)

] Inactive Population

r Active Population

Y l :
: x 9
I Employed ’ Unemployed Those who ar e either (‘,\@
¥ ¥ not willing to workor | «. @) (%)
unable to work 0 !

Those who are eg.
willing and able to university students ,\'\

job and those who work but have no o housewives
are selfemployed job ¢ disables
L]

. 7 on training
X o~

’ Labour Force or Work Force or Working 0
Population x
P 5 ‘Q

\
i.  Labour may increase by: *‘ 09
AP

Increase in total population, especially in the working p : ion, even

= Change in structure of population from less dependen{ p iti to more working population. &
without an increase in total population. ’b b

— Immigration is greater than emigration. 0 QO

- Increased women-participation in jobs, @ \‘.\'g

~  Lower school-leaving age. Q'

- Higher retirement age. 4’6‘

~ It shifts PPC outwards.

Those who are
employed on some
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Hecrease in :ota: prng‘la;fn. Ie:pec:ally in thz‘working population.

e in structu pulation from workin ulati -

\fﬁﬁggt a decrease in total population. 9 population to more dependent, population even
£migration is greater than immigration.
Decreased women-participation in jobs.
Higher <chool-leaving age.
Lower retirement age.
It shifts pPC inwards.

Capitall
capital stock means total value of capital goods (buildings, factories, roads, bridges, etc.) at a
point in time.
investment is the total spending on capital goods and services in given period of time usually one
year (Gross investment).
Net investment is the increase in capital stock of a country in one year.

Net Investment = Gross Investment—Depreciation

_  Depreciation or capital consumption is a loss in value of an asset due to wear and tear,
obsoleteness, or just the passing of time.

Investment itself depends on various factors, including:
" Rate of return on Capital
_ Interest rate
_ Business optimism and pessimism
_ Government policies about taxation and subsidies
_  Political stability
- Technology
— Infrastructure

Example:

Suppose there is a software house having a capital stock of 10 computers at the beginning of year 1. During
year 1, the software house bought 5 new computers (gross investment), but 2 out of existing 10 ten
computers became obsolete and are discarded. In year 2, software house will have 13 computers cgtal

stock.
CAO

Capital stock in year 1 = 10 computers v o
Gross investment in year 1 = 5 computers \> OGD
Depreciation in year 1 = 2 computers O 1\0
Net investment = 5 -2 = 3 computers ‘\0 ,'\
Capital stock in year 2 = capital stock in year 1 + Net |nvestment\o N
=10 + 3 = 13 computers Q/
e Net calital\ M
Gross Investment Vs. Depreciation investment oclzb PPC
Gross Investment > Depreciation >0 ses | Shifts outward
Gross Investment = Depreciation 0 \,;’é@nchanged Unchanged
Gross Investment < Depreciation %' | Decreases | Shifts inward
@
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Consumer Goods
A

> Gross Investment < Depreciation
B

A/-A Gross Investment = Depreciation

Cc— Gross Investment > Depreciation

{
Depreciation
4__.——-"

i
i >
Xo Capital Goods (Gross Investment)

0

2. Change in Quality (Productlvlty) of Resources:

Productivity is the efficiency of factors of'meUctlons used.
Productivity is defined as output per unit of input (per unit of time).
utput

(0]
Productivity =
roducivity Labor

Example:
If '5" workers produce 10,000 goods in ‘5" hours, then:

Q. What is total production?
Ans: 10,000
Q. What is the productivity of labour?
10,000
g - 2000, 400 goods per worker per hour
Determinants of the productivity of labour: . 0(25\0

- Wage rate \'\
O

~  Education and training

- Technology &\o ':\

—~  Work conditions
— Length of working hours 30,5"],
QO

Fringe benefits\perks\non-monetary benefit\ non-pecuniary benefits

-~ Bonuses and commissions
- Promotional opportunities @ Q

~  Health 8\\'0(
Determinants of the productivity of caplital: $-\0.
- Technology

- Skiled labour b &
- Depreciation, etc. 0

Determinants of the productivity of land: <?.0 .
- Technology

- Skilled labour
- Fertility rates, otc,

Ans:
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- ‘A;-”I'Iinants
Comm
\ianagemen

unication

t techniques, etc

makes capital more productive and increases the productive i

rove = . ; ; capacity of a country
7t pand training contributes to human capital (labour) and improves their productivity

Guc f‘f,“n ; Iso uses capital more efficiently. - Educated and

oarch and development (R&D) algo contribut(_es towards the productivity of land. Better techni
thods of farming and fishing, development of new breeds of plants and a'?uemaf

R on, improved me
Hiizers can enhance the productivity of existing land, shifting the PPC outwards.

4 technology

~he use of fe
~oner technology can also help the entrepreneurial abilities of a country. Improved communication
gansportations = new management techniques can contribute a lot towards the productivity of
{ jffreareneurship. The PPC will shift outwards in this .

location of Resources:

3. The Real
etc.) from the production of one product to another product’s is

itching resources (land, labour, capital,

Sw

known as reallocating resources.

. Different sectors of an economy have different levels of productivity. The services sector is the most
comparatively less productive, and the agricultural

sector, but the manufacturing sector is

productive
uctive sector of an economy.

sector is the least prod
to manufacturing and services sector, an increase in productivity

and vice-versa.
b, The reallocation of resources from consumer goods to capital goods will also increase the productive
PC outwards. The opposite will be true if resources are

. capacity of a country in the future, shifting the P
switched to more consumer goods, as shown in the following figure.

When resources are reallocated from agricultural
leads to an outward shift in the PPC,

Consumer Goods
C
A @
Y, Q
. ,(}0%
O
c?@
*\ /,\
NN
VD

0 X, X, B D
Capital Goods Qo

 Initially, the economy was producing at “A” with Yo consumer goods and 33 Aal goods.
(mb %onsumer goods (Y1) are

- When resources are reallocated to “B”, where more capital goods

_ Produced, there will be a high ate of economic growth and the PP {{@'outwalﬂ.
. O
ypes of Shifts in PPC > &
(g

Paralle! shift. 00 ‘Q
Pivotal shift. Q:r\”‘s\.
Non-parallel shift.
Intersecting shift.
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1. Parallel 8hift;
A pacallel shift in the PPC occuts whan an increase or decraase in the quantity and quality of raoow“‘.

equally suitable o disastious for both goodsa, as shown in the diagram bolow.

Good y

t
Gl
A
N
0 F B D Goodx
2. Pivotal Shift: -

A pivotal shift in the PPC occurs when a change in the quantity and quality of resources affects only one
good, or affects one good more than other, This Is shown In the diagrams below.,

Guns Guns
A

1

G

131
~

v

»
y B c 0 Roses \So’bq"\

Roses
To illustrate: A genetic breakthrough in the productivity of roses will only incrge roductive capacity
ng% C?U""y for roses, and have no effect on the productive capacity of a co oé&ms. This will shift the
N not;?m ff\B lo AC in above left diagram. Similarly, when new gun m&%es are dlscovereq. it will
™ Png or the productive capacity of roses, and the PPC will shift F in above right diagram.
& PPC will pivot outward toward the good in which its productlvitﬁﬁ gased,

A decline in the quantity or productivit 8 L
of resource | shift of the PPC from K
to KMor LN, as shown in the figure be);ow. s wil CBUSQ%,‘(V\@ pivota

3. Non-parallel Shitt; % *00

Unequal suitabili Q'.e ’ |
the diagram pels v):’.will lead to different rate of growth rent goods and the PPC will shift as shown in
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Guns 4
(Capital intensive)
S
w
A
0 R T Roses

(Labour intensive)

4 mgcrsecting Shift:

' [ i t rises and the production capacity of
4y be a case in which the production capacity of one produc . ;
1,““31::::-1;rc)>duct falls. In this scenario the PPC will shift from XY to UV, as shown in the diagram below.
the othe

N

Good Y

— .
0 B D GoodX (‘?\0
'\
Uses and Limitations of the PPC 0 Oob

ics i ts) and 'n\)mic (the
The PPC represents both microeconomic (the study of economics in segments) { ,\fo‘
study of the economy as @ whole) issues. \o

Microeconomic Issues: @

The PPC shows the microeconomic ISsues of: _ ' .
- Ttslec;)asic economic problem, i.e., scarcity , choice, and ow&g@
- ‘ foncy: N cannot do this alone.
- :::;il;:it:r‘;eel:’ff::?;‘:\l:;yy(Production according thtg ;le d% S e%ﬁf\lte;tayginbtuc:n -y
Social preferences are needed to determine
i >

However, the PPC does not show the microeco no:jnic issu@oj)ga;nd public goods (6. tional defence.
-~ The provision of merit (e.g., education an F
light houses, etc.) ‘ )
- gthmalities (e.g., noise, pollution, congestiom¥tc.)
Competition, etc.
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Macroeconomic Issues:

The PPC shows the macroeconomic issues of:
Actual growth (anincrease in real GDP) by a movement of the point of production from below the

PPC 1o on the PPC.

(8

Potential growth (an increase in potential GDP) by an outward shift of the PPC.
Employment and unemployment in the economy.

Sowever, PPC does not show the macroeconomic issues of;
- Rate of inflation (A persistent rise in the general price level)
- Balance of payments (A record of all transactions of a country with the rest of the world)

Even distribution of income

ECONOMIC STRUCTURE

The term economic structure refers to the way in which an economy consists of various sectors ie. primary
secondary, tertiary and quaternary sector. r

1. Primary sector:
This consists of agriculture, fishing and activities such as mining and oil extraction.

2. Secondary sector:
Secondary sector includes manufacturing activities that are found in an economy e.g. food processing,

textiles and clothing, iron and steel production, vehicle manufacturing, and electronics, etc. . '

3. Tertiary sector:
This is the service sector and covers a range of diverse activities such as retailing, transport, logistics,

banking, insurance, and education, etc,

4. Quaternary sector:
A relatively new term to denote the knowledge-based part of the economy—especially the provision of

information. Typical examples are scientific research and product development, computing, and ICT.@
As economies develop their economic structure changes and there is a progression from pglQal
secondary to tertiary activities. In developed economies, the tertiary sector tends to be pal

employer. o ’\0
POSITIVE AND NORMATIVE STATEMENTS \o\\o\"\

Pogjtive statemgnts are based on facts or established principles. The @t merits can be tested and
verified from the information available. They can be also used in const b‘éd explanation of theories

Positive Statements

and.ttlzoncepts in economics. For example: Pakistan is experiencin oJese of inflation; this statement is

Positive because the data on inflation trends can be retrieved fr%ﬁh%aﬁ\remment of Pakistan.

Normative Statements b(\

No

to r:;;at:‘;e M are based on opinions and cann é&ed or verified because they are notmeant

inflation S:O?”girs?mar point, or they can be regar ements that are generalized. For example:
oW atany cost. Statements Jike th nnot be proven and they are not a fact as they

are generalizeq.

youtube.com/megalecture

ECTURE

MEGA LE

ctu )T



www.youtube.com/megalecture

. . TW"W 8% ang ®30urce
e slatemants usually incly lasses : Megalecture@gmail.com ocston

foutube.com/megalecture
www.megalecture.com

" ould betought 10 be
e ableundesitable

[
(yitfunfalt

()0 J/bettot/best/badiworse
il mful/benaficial

Holtara/mappinessiwell-being/standard of living
Hesetves/doasn't daserve, eic,

| n51C ECONOMIC QUESTIONS

o thies basic quastions that explain the proce
et B _ 8
U concept of scarcity. The three basic quest’:ons a?e?f

RIVIOLN

production of goods and service
s that
what to produce, how to produce, and Z)r:s;:ou;

|

4. What to Produce

{nited fr'-.;/:\ll 1( ”;\’:v‘rjv(i (r)!tétﬁz:lggv vtl: ott?\ grrodu;;e ev?rything. 50 we have to decide what to produce and in what
quantitiss, We he we have to produce consumer goods ‘
g nd sEVICes such as military hardware and defense systems 8 and services of non-consimer

e second part of this question asks: "how much of each good is to be prod " Soci i [
e gonze 1 9 produced?” Society’s point of view

socially optimum (at a point where soclal welfare is maximized)
Undar-production (less than socially optimum)
Over-production (more than socially optimum)

The Private Sector;
Aims 1o maximize profit,
Produces fewer necossitios and more luxurles.
Under-produces merit goods, i.e., goods whose actual private benefits is not realized by the
consumars who consume them because of imperfect knowledge; e.g., education, healthcare, seat
belts, helmets, etc, .
Over-produces de-morlt goods, 1.e., goods which are harmful to society but the consumersgho
consume them do not realize the actual private cost of such goods; e.g., cigarettes, alcoh

elc, Coag 6? ,
Does not produce public goods, which are non-excludable and non-exhaustible &e}@w in
consumption) and, most imes, non-rejectable as well. N ,\'\

4

a, The Public Sector: ~0 q/
~ Aims for collective welfare of the soclety. d ,OV,Q,J Qrb
Fewer luxury goods and more merit goods and public goods are p - @

Socially optimum merit goods \'@ O
Socially optimum demaerit goods. i\ é
Soclally optimum public goods. &d\,@'
N | -
2. How to Produce ‘o &

Way in which we can produce enoug i The private an
fésources are used efficlently and to their maximQ.éP ty. P
deciding how to produce the goods and services.
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Minimizes its costs by whichever method is the least-cost one, i.e., labour or capital hlm

h. The Public Sector:
Produces inefficiently
prefers labour intensive methods because of employment.

3. For Whom to Produce

As we cannot satisfy all the wants because of scarcity, we have to decide which group of people must

satisfied and which is left unsatisfied, or which goods and services must be produced that can b
maximum wants. Under the private sector the problem is solved by using the price mechanism m
decides the quantity of goods and services to be produced and for which group these goods and s'gm
will be produced; whereas under the public sector the decision is made through the rationing mechanism
This concept allows more equal distribution then the price mechanism. !

MEANING OF THE TERM ‘CETERIS PARIBUS'

This Latin term is widely used by economists to refer to a situation where ‘other things remain equal'. The
idea behind this is to be able to simplify an actual situation by assuming that apart from a single change of
circumstances, everything else is unchanged. In this way, economists can model one change at a time,

DECISIONS AT THE MARGIN

Like ceteris paribus, this is another tool that is used by economists to simplify a situation. Many aspects of
microeconomics involve analyzing decisions at the margin’. By this we mean that a small change in gne
economic variable will lead to further (small) changes in other variables.

Decision making characterized by weighing the additional (marginal) bengfits of a change against the
additional (marginal) costs of a change with respect to current conditions.

According to economists, for most decisions, you think in terms of additional, or marginal, ¢
benefits, nof total costs and benefits. That's because most decisions deal with making a small, or

change. T\ 0
|
n

)
To illustrate, suppose you just finished eating a burger and drinking a soda for lunc ,Y@?#M a litle
hungry and are considering whether or not to order another burger. An economist wQu Apét declding
whether or not to order another burger, you will compare the additional benefits of t &%ﬂlonal burger o
the additional costs of the additional burger. In economics, the word marginal ydaym for additional.
So we say that you will compare the marginal benefits of the (next) burger to {(ﬂfhal costs of the (next)
burger. If the marginal benefits are greater than the marginal costs, youhu%q}y expect a net benefit 0
ordering the next burger, and therefore, you order the next burger.m“f&«a.@ , the marginal benefité are
less than the marginal costs, you obviously expect a net cost to 0 zaghe next burger, and therefore,
you do not order the next burger. (o

)
Condition Action b @b@

Marginal Benefit of next burger > Margj &
, ginal Cost of next next burger
Marginal Benefit of next burger < Marginal Cost of ;{'Doynot buy next burger
ﬁfjﬂ

What you don't consider when making this decision are

Thet'®
' total benefits and total costs of burgers
because the benefits and costs connected vith the first burger (the one you have alread ne

y eaten) a8
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ision. You are nouetiiegdietwesn et
{10 current dec en @ating two burgers and eating
. relevah scision is whether to eat a second burger after you have already eaten gfwst burger "

ww{.t;ﬁ yoUr d
NG RUN AND VERY LONG RUN

DLI'EJ(
gHORT RUN, 1O

s atime period in which it is' possible to change some inputs but not all of them. Typicaily #
uction, can be increased or decreased to change output. So, with

o

The ShOmbour, 4 variable factor of prod

s W m %acto s of production remaining the same (ceteris paribus), a firm taking on more workers may be
all t }ﬂ(}rease its outpu@. .

2" g run, itis possible for all factors of production or resources to change. So, in the long run, a firm
In 1"“:,‘1 Jrove the quality and quantity of its capital by building a new factory to increase its output. This will

mar allow it to be more efficient since the firm has had time to evaluate how best this can be done
s 4 efficiently. :

guc;éésfully an
t only all factors of production variable are, but all other key inputs are also

The very long run is where not
Vngiﬁb!e' These key inputs can include technology, government regulations and social considerations.
specialization

he whole production by an individual worker, or producing

ers to performing @ specific of t

ts rather than a number of goods & services, by a firm, region or country.

specialization ref

one or few produc

jvidual Level (Division of Labour)

Specialization at Ind
everal individual tables and each task is

uction process is divided into s carried out by

When the whole prod
aid that division of labour is there.

g single worker, itiss
on of labour

The main advantageé of division of labour is that production is incre

of output produced. This is because of the following factors:
1. Specialists can be employed: No individual is good at everything. For instance, some people are
d teachers. Division of

good at doing electrical work, some areé good at plumbing, and some are goo
labour allows people to specialize in doing a job at which they can becomé both proficient and efficient.

ers: By doing the same task day after day an individual b qs
This is a development of the idea that 'practice make ?
the job tedious and boring. We deal with thi 6 en

O
in training

Advantages of divisi
ased and there are lower costs per unit

2 Leads to grater skill among work

efficient at performing that task.
However, repetition of certain jobs might make

discussing the disadvantages of division of labour. o
»Sq’i(w

3. Saves time:_Individuals need only train for oné job and this obviously saves time

people. Individuals can learn a single skill very quickly. \) o
ned to does only onmePjob. then they only

4. Economy the use of skills/tools: If a person has trai
need to possess the tools to do that particular job. These tools will bw&s use.

5. Allows the use of specialist: Machinery can be quite easily d ec.Q% perform a specific task in
Alct a machine to manufacture

the production process. |t would be very difficult, for example,
awhole car. On the other hand, a machine could be devel tc@‘e orm a specialized task, such as

welding. o
M : . A ,
ost producers in developed economies accept the advanMwston of labour. However, division of

. labour does have its disadvantages. Q:@ﬁfr\&
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s of division of Labour
. doing the same job day after day :
. monotony: People can become bored b)’ and
. Boredot ":ﬁ"gthe, things. have a bad effect on the qualvty.of the product. It may lead aigg b“t
A '.jr,* as al.e-w.:,t»on industnal unrest and absentee¢§m. ' ‘
prooe S = workers lose their skills and crafts in doing the same job every day.
than extensions of the machines, simply pressing a button °'Pl‘|,'

Disadvantage

may. amo

Decline in crafts work: V
wers becone [tle more

lad

ma’y WC
z ever

; - For the good to be produced, workers are dependent on other workers (o do the
va fe;?::;ien?tms d0es 3ot happen at every stage of the produd{on process, then the prodt;:
':i;m w1 brear down. For instance, the paint sprayer in a car factory is dependent on the body buider
" a:-.-».: prosuced the car body. Indeed, whole firms might be dependent on other firms to produce they
i ir e Sor the production of the finished good.

plien 5 sometimes feel alienated from fellow workers and the management. They geq

4. Alienagtion: VWorre - : ‘
ermuelves 35 being regarded as little more than machines anq have !rttle contact 'w:th the peopy
w e decsions.  This feeling of alienation may develop into a high level of industrial Unrest

(strives) of Zhsenteeism.

5, A greater risk of unemployment: Workers specialize in performing a particular task as P?‘tOflle
roducion of a particular good. However, if demand for thgt good declines some wquers might have
gttty fnding other jobs because they have only been !rglped to perform one gpec:ﬁc task.

6. Standardized products and a lack of variety: Due to division of labour, }he ﬁmsheq products will be
i tinsushable one from another. Consumers will face with a lack of variety or choice because each
s st b passed through exactly the same process. ) ,

7. Occupational diseases: Certain jobs are dangerous and workers doing th_ese jobs run the risk of
dsesse of suddent, For example, asbestos workers run the risk of cancer, paint workers may get lead

porsoning, or fishermen might drown,

L&)

Thess disadvantages have certain firms to break away from traditional division of labour is going to be
sucesstul in an sconomy then the baker would have plenty of bread but no clothes. The tailor would have
dotnes but no bread.  The exchange of goods and services must takes place and is faciltated, in a
desslopsd suonomy, by a good transport system and a sophisticated system of money and banking.

Indesd, muney is characterized by being a medium of exchange.
Thus, the provision of road, rail, sea and air links allows the goods to be distributed from producers to
consutnsrs very efficiency. q
G
ECONOMIC SYSTEMS %) 00
A systorm by which an economy allocates its scarce resources in production of variousq ;@}servic%
t salisty the needs and wants of a society i.e. deal with basic economic problem. \) ,\" .
| economies,

The probler of scarcity, which in turn requires choices to be made, is one that is co %'Pa
ermined by the

fih and puor. The choices that are made and which can realistically be m of
stonomic system of a particular country, Traditionally, economists have recog e distinct types
stonomic system - these are the market economy, the command or Wd edbhomy and the miX

BLONOIMY, .
L
O o
\l‘;\.\@
O &
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Prvale ownershig

Profd maximuzation

~oen oY

Lol e Y wstfars

asrzatior.
1 b, S S ———

‘ Price mechsarism " '*"ii*-s'i;m Prirate o
o mechatiSI | ( demand and (At g st Sardor Picn mmcrarmm
ve ! supply) rirg 4 Sutic tertor o . |
I e . secior. Pafiorirg :
.. of choice e ;
onsum yliqﬂ)}w_,___,H . Putiic sector Mo I
o petition ves o | Prrte Secior Vs g
_ M;"im“m_ ro—— H wlic secior. Mo, ;
vhe 10l€ of the intervention in Pl economic & non- 4 7 . .
vernment economic 2ffairs, economi; 2% : | e g - heits #s role to
gover . - c saemn | e pronsion of necessan
o allocation of Only limited to the , ¥ goods
ources) maintaining law & sookadog | & serices 4 to reguiate the
(esQuUrces): ves | o .
¢ - order in the 5 99 3m!afesed:rfawcdmke
'Jbri(;!‘ll of gOOds & Yes No [ Priyate Seciorr  Yes.
services: Pubfic secior,. Mo
quzlity of goods & , ) Private seclor. High quality.
services: High qualty Usually poor quality Pubiic sector: Usually poor
quality
— . Q 2 i
Respor:js(ecto changes in d:‘::;;iﬁ?‘o"se to o ouick
demand (Consumer , Slow of no response fvale Secior; Fesponse.
. consume; .
sovereignty): S fforin cr:s Public sector:  Slow response.
"I_( *Usually efficient
. . allocation of
SESC :edl(gf Eipl:‘zdgu: ::193 ;i?;:‘;f;? ct’)feca o«:_:e of Inefficient allocation of The i ) .
:_allocatjw: efficiency) with | — o pr resources because of ‘mizzfd mb?; private
¢ast-cos . . the absence of a profit secloy -
methods(productive ‘Som('atjmes motive govemment policies.
fici , inefficient, e.g., in the ’
efficiency)]: case of private @0
monopolies. (\

' Shortages & surpluses

The price mechanism

Central planning is
unable to guess exact

Private sector: No and

(shortage=demand>suppl | clears the market and stimioses

BE there are no quantities demanded; Purg" < se &o rtbq’@s and

 Surplus=supply>demand) | shortages o shortages & surpluses | o oy /o Nrpsent

& surpluses. are present. ',..;5

| Merit goods (e.g., :prl 8 nder-provides

' healthcare, ed Under-production & ' jkets of merit goods

| etr); © education, under-consumption. Soclally optimum il pt ied lhrpt;gh
ernment provision.

Euhifc goods (e.g., street
lighting and national
»defense):

Non-marketable and,
therefore, missing

) \459°°ds-

Lgublic sector provides public

Dlemﬁrit goods (e.g.,
alcohol, ¢
e rugs, cigarettes,

Over-production &
over-consumption,

Provides public goods 2
through governmé‘(\ '@"
expenditure. 3

Fewer or

Distribution
ofi
wealth: ncome &

Unequal distribution

oyl

| The government discourages

consumption by applying high
taxes and other imposing other

legislative actions.
Progressive taxation and welfare
payments to the poor will reduce
the disparity between the rich &

goods
g,gl.ct;m

poor. _J
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o — May occur in the private sectar =

[Useless duplication of [ N privats secloy,

‘ g;ods & services: YM_ I — MU R _,¥!:T'L'Q'__i,"__'ﬂ§_PUb“C seclor,

o jos o governmeant will 1

[ Negative externalit | yclall . ) agulate

' (e.g, noise, pollution, mg:ﬁ]:;::?o:(cl ary Soclally optimum negative externalities through

| Songeston.ete) [P T L laxos and lngislative im

— . u '

| Necessities & luxury Fewer nocessilies & | More necassilics & neceegsiﬁos’z?:r: rg“ provide

| goods: more luxury goods fawer luxury goods can't pay fo'r them those who
“No private monopolies | The government regulates

| — Develop and exploit
| Private monopolies: consumers by selling | are oxistin a command | private monopolies and protects
“high prices economy, consumers from exploftation,
All economies are mixed, but |

F’/ﬂ“
No pure command their proportion of private &

, d: No pure markel
Existence in real world: 1 gcon0my, aconomy. public sectors vary from country
to country.
Free economy, Communism, socialism,
Capitalism, free planned economy,
Other terms: market economy, centrally planned =
laissez faire. economy.

DIFFICULTIES FACED BY TRANSITION ECONOMIES:

Eastern European countries, such as Poland, Ukraine, or those forming the Soviet Union, etc., were
command economies throughout the 1940s and the 1950s, However, during the 1990s these economies
started transforming themselves into market-oriented economies. These countries, while they were in a
process of transition, were known as transition economies. This transition created a lot of problems for the

people living in these nations, and also for the government itself,

1. Sharp fall in GDP:
The first immediate problem that an economy may face will be a sharp fall in its GDP because of the
| in output of each East European country during the transition period was

reduction in its output. The fal

because of the fact that the state-owned businesses lost customers as the old network between
businesses fell apart. This was because it was all based on slate planning—the government told each
Id be pald accordingly. They would also

firm which other firm would receive their output and they wou

be told where it should buy their inputs. During the transition period firms had to actively geek
customers, whereas before they didn't need to do so. Céﬂo

2. Lack of entrepreneurial abilities: '\0 (g,\

Entrepreneurs, due to a lack of experience, may not run firms efficiently. They may not¢c ‘So right
production methods or output levels to maximize profits, Workers may be dogmatic | nimum

m firms that might be deemed as being slﬁln relation

ill deteriorate

wage levels, and may demand wages fro
o firm revenue. As a result, the relations between a firm and the labour that It QP
and resource wastage will occur in nearly all industries in the economy. Qo ot‘b

produce whatever they
ke too many risks, which
his, the suppliers will also cut
educed demand which will have

3. High rate of unemployment:
Due to the transition, now that there is no central planning, the fa

want. They will start cutting back on investment because they do
will lead to reduced demand in the economy, Furthermore, be
off workers, leading to large scale unemployment and this lo

an impact on the decrease in the output of the country, Qo

n

One of the strengths of a planned economy Is that ther, %u t. However. during
y no unemployment. . ;
gs be { the lack of funds and deman

the transition many enterprises will be for
to support them. od ouat?;fm .
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. . that some of the rms were forced to : netion

‘f.f.g':: ‘z‘;m other firms and foreign enterprises. t')rehc:xs?eﬁ;toﬁgyazfamm . eSicient -
oMbt was b laying-'off yvorkers an(_i making the remaining workforce work harder -
me oI the countries in the transition process found unemployment as one of mear:am

L st

- vely-
N f.i,-\:lhey had to bear.

al planning body determines the output level of each industry
be allocated; consumer preferences are given Iim; 'mpma:cem
emand for certain goods may fall, while for others it may rise As De

my the centr.

: "fLmt of resources to
' develops, d

oo \HO . B
w2 E stries may become inept and shut down, while market-oriented businesses will thrive but
rofid ‘e‘ 4 shortage of resources. Therefore, the economy will produce inside the PPC as an inefficient

“ T of resources prevails.

he informal sectors:
he GDP fall may have a rise in their informal sectors. For example, in

- 'n t

: j’.S:«IQunmes worst affected by t _
_:N; ~ountries like Uzbekistan and Georgia had informal sectors that were greater than their formail
_;j,c'rs This also affects GDP because the revenue earned in the informal sector is not included in a
;;Untr‘yls GDP.
High inflation: . ; . . . i .
The sransformation is also associated with high inflation. A rise In price is almost inevitable if an
» In a market system resources are allocated by price.

economy moves towa
~e is inevitably higher than the old state price, since consumers have been rationed

mand will be greater. So, when a market system is introduced, the price will rise until

upply. There is no shortage because some consumers have been priced out of the
—zrcet. Higher prices can spark a wage-price spiral. Workers will react to higher prices of goods by
demanding higher wages. If firms give higher wages, then they must make up for the cost by increasing

the price of their goods, which will, in turn, gives rise to further wage demands. The government must
t them from going bankrupt. If they don't, they

then give firms money to pay the workers and to preven
will have protests, strikes, and civil unrest to deal with: whereas if they print too much money it will

simply make it worthless.

1 the past, so de
demand equals s

Process of privatization:
in 2 command economy land and capital is owned by the state, whereas In a market economy itis
f economy to the other Invpyes

credominantly owned by the public sector. SO the move from one type 0
e sale of state assets to private individuals—privatization. This can be done through a nu
j individuals and companies currently

ways, such as by giving property and capital away to
them (e.g., tenants of council housing could be given their accommodation). The probl is
that it is a very arbitrary and unfair way of sharing out the state-owned businesses a . This
would divide society into the rich and poor. The state could also sell its assets t0 th s\ Didder and
use the proceeds to reduce tax of reduce government debt. é N/
lMent, demerit, and public goods: \) ’bq/
n addition, as consumers gain power in the allocation of resources, certal omzqmlch may be

m level whilst those

?:;med good for society (merit goods) will be produced below the & @ opt

o o«?ed as harmful (demerit goods) will be produced in greater nu sbBI0 to the problems of
c'w;?yd“dam“y and non-rivalry, public goods, although necesg &SB longer be produced in the
: x4

o

There ° eﬁ:ma.'mes' “) O
thed&sadl ay be a time gap before a new framework of vﬁlt controls can be developed 10 offset
vantages of a market economy. In this pe(? king to keep their costs low may create

5

polit; e
on by disputing their waste in an unsafe
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0 arkot Impeorfections:
R mnltmrml 'mmlm!llluu i alno likoly 10 dovolopliko “””'m“:'w (ingle - dominant b6llay), it
consequencen for prices output, quality, and consume noverolgnty, .

[ they Irnpact of these propjer
e ae yol by (ransitioning econoimiot, yo prob
e oot ity oo ro that Ils nusots oo distributed lairly smong the pe L

0 onnt

roduced The governmoent primarily noodn

In order 1o avold large Income gapt among the population, Ille '(invmurnnm can maintain its pey 8O0y
socurity sately net systom and introduce tax telorms (such an ).

Aithough the transition will be quite problomatic, the fong ot benofits should not be overlooked, By taking
cotain moanures governments may bo ablo lo-avorl cortnin difficultion, and by ensuring g "”ﬂhy
environment for free markot operations, the governmont ray help the aconomy to Immensely Improve g

ciizens' lovel of comlforl

TOPICAL PAST PAPER ESSAY QUESTIONS

Scarcity

(Nov 2014/P23/Q2/n)
Show how the economic problom can be explained with the use of a production possibllity curve, (8]

(Nov 2011/P22/Q2/b)
Discuss whelher the combination of Improved technology and globalisation will result in solving the basie

economic problem. [12)

(June 2010/P23/Q2/a)
With the holp of examples, explain why diflerent economic decision makers face the problem of scarcity,

[06]

(Nov 2002/P2/Q2/a)

Explain the link between the basic economic problem of scarcity and opportunity cost. [08)
(June 2000/a)
Whal is meant by the basic economic problem of scarcity? [08]

(June 1999/a)
The sludy of economics cenlers upon the problem of scarcity. Explain what is meant by this problem and

assess whether the use of eaconomics can solve the problem. (08]
Explain the link between opportunity cost and the production possibility curve. @8}

(June 1991/a) A0

Explain the concept of opportunity cost.

Shifts of PPC

(Nov 2015/P23/Q2/b)

Discuss whether an outward shift in an economy's production possibility curve
free market economy or a centrally planned economy. é
(Yune 2012/P22/Q2/b) ©

Discuss whather an economy's production possibllity curve is more like % inward or outward over
o (12]
00

time,
(June 201 0/P22/Q2/a)

Explain how a country's | N
production possibili , 08]

x,mm 2009/Q2/n) p ty curve depends uﬂ’itﬂs\ @}ors of production [

n .
st i s Sl ncusti qoagfine possoaects on s ol
;\Juno 2004/P2/Q2/n) dn‘increase In the productivit dSticultural workers. [

N economy is face )
Improvog tu{hnolocgf b the exhaustion of an import tural resource at a time when it is introducing
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vents will affect the econ%’%’%?&%%s%my curve
' [08]

H()W [}105'
[ 7(,00) omic growth solves the problem of scarcity. (1
2]

(M wheth®

(R
.‘l Online Classes : R/qualecture@qmm

ﬂ A o paper ; 2016/P2/Q2/a)
0o of 2 42 gram, explain how & production possibility curve can illustrate the concepts of
Wy cost al ind eC conomic growth. s
' 14/P 3/02/
o unete outward shif i@ country's production possibility curve will always raise the weifare of
P ens of that country .o
| jp23/Q2/a)
('“'” help 01 8 diagram, explal how a production possibility curve can illustrate the concepts of
. _.:,,”W cost and economic growth. [8]
1 p11/p22/Q208)
(N w how Wod“CUOn possibility curves may be used to explain any two economic ideas. (o8]
(N éw 1010/P21/P22/02/a)
prplain oW microeconomic and macroeconomic issues may be represented using production poss»b[.ggl
}N(, ,006/P2/Q2/a)
Eplain how WOd“C“O" curve might be used to show country's economic performance. (08]
(Nov 2015/P2/Q2/b) |
s hether an QLR shift In an economy's production possibility curve is more likely to occur ;‘1‘2‘]

s

froe ,wm | ecconomy or @ centrally planned economy.

gasic Economic Questions
(June 201 1/p23/Q2/a)
(o) Lxplain the role that a govern

(June 2008/P2/Q2/a)
Explan the  three economic ques
problen, [08]
(Nov 2007/P2/Q3/a)
Explain how resources a

ment must fulfilin a mixed economy. [08]
se of the basic economic

tions that all economies face becau

re allocated in @ market economy.

c Systcmq

TvpeslAdvantges/Disadvantagcs/TrnnsItion of Economi

(June 2017/P23/Q3/b)
Discuss whether resources are mare offectively allocated in a planned ec f‘ygv in a market
economy, [12] Q

tﬁpecimon Paper 201 6/P2/Q2/a)
" “l “T whether free matket economies or centrally planned economiowt%m ely to make choices
will maximise the benefits for consumers. ( o

conomy because of the
12

gliunu 2014/P21/Q3/b)
SCUSS Y Vi
cuss the view that a market economy is always preforabw @“ed °

:‘);l slence of the price mechanism.
D:::n 2013/P23/Q2/b) {dﬂ:
1S
s whother {ree market economies or centrally plan omies are more likely to make cholces
[12)

h
al will maximise the benefit for consumers.
(12

(Dl::: 52(:{121»22/02/1:) "t‘\
5 0
e ease with which a planned economy may b hanged into & market aconomy.

MWW . VO
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(June 2012/P21/Q2/b)
Discuss the difficaltios involved in changlng a planned sconotmy to i succossiul marve secninmy

Nov 2011/P23/Q2/b)
Cthe offectiveness of free markel economies In ralsing the lovel of welfare,

(
Discune

(Yune 201 1/P21/Q2)

(a) [ xplain the functions of an economic systom,
(b) Discust possible roasons why mixed economic systemns have replaced most of the former

cconomic systems

(June 2010/P23/Q2/a)
Discuss why the mixed economy is the most common economic system,

(June 2009/P21/Q2/b)
Discuss whether a market economy can solve the problem of scarcity more effectively than a comma

economy. m

(June 2008/P2/Q2/b)
Discuss whether the price mechanism is an effective way to solve the basic economic problem, 113

(June 2007/P2/Q2/b)
Discuss the desirability of the worldwide movement towards the market economy and away from e

planned economy. (12
(Nov 2006/Q2/b)
Discuss whether a mixed economy is the best way for a country to deal with the basic economic problem

(June 2005/Q2/a) ro
Explain the differences in the features of a market economy and a planned economy. o]
(Nov 2004/Q4/b)

Discuss whether economic actions by individual always result in a net benefit to society. [12
(June 2004/Q2/b) :
Discuss whether the operation of a market economy always produces a desirable outcome. [i'q
(June 2001/a)

Explain the principle characteristics of a free-market economy. [10}
(Nov 1996) ,
(a) Show how a government may make its economy more dependent on the market system. [
(b) Do you think such changes will increase economic welfare? aq
(Nov 1995/a) “C
Explain what is meant by a market economy and consider the extent to which it is inaccurate dﬁ
your country’s economy. \v\ QO |
(Nov 1995/b) '\0
Discuss the economic problems that are likely to occur as a country moves from cen ;hng towards
a market economy. \o q/!\ [12]

(Nov 1993/a) '
‘é&?r reliance on the
L

In a number of countries in recent years there has been a movement towar
12}

market system. z
* z
A é

Assess the advantage and disadvantages of this trend. -

(Nov 1992) ities

Describe the basis of resources allocation in planned economy a S why some planned ;

hone recently tried to place greater emphasis on market forces(‘> 4,\'\ (2
\

Uses of Factors of Production

(June 2017/P22/Q2/a) g lx\
Explain the role of the factor enterprise in allocatirgr. rces in a market economy when there & ;;
rt

in i
crease in the demand for a good. Use a diagram to su your answer.
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ECTURE

MEGA LE

cour )T



www.youtube.com/megalecture

a"”‘ deas and resource allocation
i Onlin ;
e Classess Megalecture @graitresi
www.youtub "
Lol e.com/megalecture
.megalecture.com

,015.,2‘03@)‘ f each factor of producti
Jun€ F e contnbution ofe or of production differs in an agricultural ecc )
tiu - ';::, economy- my from that '"Oag
018 p2/Q3/a) [08]
reneurs or governments are more likely to cause economic growth in a mixed
(12]

0
n€ ‘| ﬂj:n.e_r en"ep

i e 20171P221Q2lb) . .. .
" o methods of increasing the provision of merit goods in @ mixed economy. Consider which is
077 1o pe effective [12)
Juneé 017;?21/02’” .
(U7, amples, explain the difference between a merit good and a public good. Explain why a profit can
Us"= " #om the provision of one of these types of good, but not the other. {8l
ign to deal with the

e 047/P24/Q2/D)
or conduct an awareness campa

n . T
(Jf} < whether it is better to impose an indirect tax

U= ot demerit goods such as alcohol.

o e 2016/P22/02/2)
s to illustrate th

(2]

e difference between private goods and public goods and explain why only
(8l

Use example
orivEE goods will be supplied in a free market economy.
(June 201 6/P22/Q2/b)
Tne factor enterprise and the free working of the price mechanism always ensure a satisfactory outcome
| for cONSUMErS even when imperfect information exists.’ Discuss this view. [12]
(June 201 6/P21/Q3/b) '
me goods and services are provided by private enterprise and others are provided by the
2]

Discuss why SO
qovernment in @ mixed economy.

(March 2016/P22/02/2)
Explain, using examples, why the prices charge

not reflect the value to consumers.

goods in a free market do

d for merit goods and demerit
(8l

(Nov 201 5/p23/Q3/a)
Most governments provide both defence and education services.
Explain why defence and education services would not be provided in sufficient quantities if the gove t
did not provide them. (8]
(Nov 2015/P23/Q3/b) . OC/\O
| Discuss how taxation and subsidies could improve the provision of defence and education 5&@ an
. economy and consider the likely success of such policies. N\ [12]
(June 2015/P23/Q3/b) & N
Discuss any two policies that might be used to deal with the problems caused by the .@\ﬁ?ﬁon of demerit
goods and consider which might be the more effective policy- \) %) [12]
(June 2015/P2/Q3/a) )
%s‘”g examples, explain the difference between merit goods and public an@ow why itis possibié
r profit to be made in the supply of one of these types of good but not [08]
('?w 2015/P2/Q3/a) o)
E:;lta?:ﬁ nr;ents provide both defence and education services, X '
did y defence and education services would not be provi%n Qﬂﬁcient quantities if the government
not provide them. Qo [08l
,bb
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= applications of demand

Demand and Supply curves

- effective demand

= the meanin

paribus’

individual and market demand ang

supply '

- factors influencin,
Supply

g of the term, ‘ceteris

g demand ang

 Interaction of demand ang supply

Market équ_ilibrium and disequilibrium

meaning of equilibrium and
disequilibrium
effects of changes in supply and

demand on equilibrium price and
- qQuantity

and supply

- analysis _
movements.along and shifts of the
demand and supply curves
‘joint demand (complements) and

~ . alternative demand (substitutes)

- joint supply

- the workings of the price mechanism:;

~ rationing, signalling and the ,
transmission of preferences
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Demand, Supply & Eariibbrium

Unit 2
DEMAND

Definition
Demand refers to the qu
penod of ime, all other thing
- Quantity
- Product
- Purchasers/Consumers
- \Willingness
- Ability
- Atvarious prices .
~  Over a certain period of time

antity of a product that purchasers are willing and able to buy at varioyg Price
hings being equal Per

* Quantity: This refers to the numerical quantity of a product that is being demanded.

* Product: This is a general term that simply refers to the item that is being traded. It can be useq for
goods or services. We could also stretch this to include tradable items like money or other finangig,

assets such as shares.

* Purchasers: These are the buyers of the product and are often referred to as ‘consumers’, although
they may simply be intermediaries in the supply chain, e.g., Nestle purchasing large amounts of cocgg
to be used in the production of chocolate for sale to the final consumer. We can consider an individual's
demand for a product or, more usefully, we can aggregate this to look at the demand for the market a5

a whole.

e Willing to buy: Purchasers must want a product if they are going to enter into the mérket with the
intention of buying it.

* Able to buy: To an economist, the notional demand (speculative and not always backed up e
ability to pay) for a product, which emerges from wanting it, must be backed by purchasing po ﬁ
demand is to become an effective demand. Sellers are only willing to sell a product if @‘0&3

has the money to pay for the product. It is this effective demand that is of particular j for
economists. N

* Various prices: Prices are crucial to the functioning of a market. Although ings influence
demand for a product, it is at the time of purchase, when we have to hand? ney and pay the

price 'th'at we really judge whether the product is value for money - in OI&HG “@'3- whether we reall

are willing and able to buy it. As the price goes up, and provided no o} @ges have occurred, more

and more people will judge the product to be less worthwhile, (\ O‘ | |
\ &

-

* Per period of time: Demand must be time related, it is of n¢ 4se t SSK/ that the local McDonald's s0ld
20 Big Macs 1o consumers ynjess you specify the time JendB.@Ver which the sales occurred. If that
was per minute then demand is high, but if that was per this would show there s tie darie"
for Big Macs in this particular market, L

. uct
8;2? tth'ngs being equal; There are numeroys m&‘asn:al influences on the demand for a Tﬁese
rstanding the connections between the various influences is very difficult if many 0
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.. are changng simultaneously This 1s why it is nece 'y 10 apply the ceteria oa

ol

b~

Demand
*Wilingness
sWillingess *Willingness *Ability
*Ability *Act of buying if available

[
| individual Demand Market Demand Aggregate Demand

. demand for a product by e demand for a productin ¢ demand for all products
single consumer a market by all consumers by all households in a
country

Law of demand or demand function:

i i i i i ity wi t lower prices
s are held constant (i.e., ceteris paribus), a higher quantity will be demanded a 4 _
gn%m; :ot:/lgg guantity will be demand at higher prices. Demand has an inverse (i.e., negative) relationship

with price. _
Ceteris Paribus
Pl Qdt
P1 Qd]
Mathematical formula to derive demand curve is shown as below:
Qq=f(P)
Qq =a-bP

%
Demand Schedule: C/\nod
Q

A table that shows inverse relationship between price and quantity demanded is known {
schedule. O N\

Ifa=50and b=10 .
i i ded (Qd) of a
Then following table shows negative relationship between price (P) and quantity 9\9'3' (Qd)

roduc q/
product. Q\.)Q{b

Price Qd = 50-10P
$3 =50—1Q(3)=20 \'@ @
$2 -50—10(2)=30 ’.(\ 0:9
D’
‘\

Demand Curve |
i hical representation of a
A curve that shows a relationship between price and qugrr\\?ty megék?&ap i p
demand schedule is known as demand curve—as shown | b k&

%
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Unit 2

Preve
A

>

Quantity

Taking price on y-axis and quantity demanded on x-axis, a downward sloping (negative) curve is known as
a demand curve. This demand curve has been drawn as a straight line (a linear relationship). However, jt
is perfectly acceptable for price and quantity demanded to be related in a non-linear manner in the form of
a type of curve.

Law of demand is only applicable when all other factors are held constant. Assuming ceteris paribus, the

law of demand holds these factors constant:
— Income of consumers.
— Fashion/taste.
- Advertising.

- Population.
Prices of substitutes (alternatively demanded goods which satisfy some desire, e.g., Pepsi & Coke).

Prices of complements (jointly demanded goods, e.g., car & fuel, pen, & ink, etc.).
Future expectations of income and prices of the product.

— Seasons.

- Health linkages with the use of product.

- Income tax.

- Interest rates (cost of borrowing).
- Availability of credit.

— Hire purchase facilities.

Changes in demand: 0
Demand can change: o(‘/\o
- by movement along the same curve (change in quantity demanded). . ‘J
- by shift of the whole demand curve (change in demand). o\"\ 00
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Changes in Demand and Q,

. ’V;;"‘ge in quantty demanded (Q,) Chlngo n Demang
. y
" povement along the same Shift of the g
demand curve ;mnd Curve
— l due to exogenousfactor
" 4ue to endogenousfactor
|
b ‘
i Extension Contraction Rise Fall
E—
Price Price
+ A
a @#
P: s,
<,
°a:\\4 %,
P c, 2 —\—>
‘6,7\ Fall \Ri
D
S D, DO B
0 Q, Q Quantity —
1 uantity 0 5

Endogenous and Exogenous Factors:
U

an

Endogenous factor is an internal factor of givén theory and can be identified by looking at

€g. price is given on the y-axis whe i ' '
o lnce Is giver y n constructing the demand curve and will be cons('

shion, advertising, etc., are exogenous factors for demand. &

Any change in en

Exo i 0
) 9enous factors are those which are external factors and are not given on th(@; ég'\ income,
dogenous factors brings about a movement along the sam %i

e tor any change in

°genous factors creates a shift in the curve, as explained below: © !
im

°vement along the same curve: '§9g0.»
e Known ae ocs IN qUantity demanded of a product which arise fr Enange in the price of a product
Moven as change in quantity demanded or movement alon sa curvge © ore
~"entalong the same curve can be: N
chtens[on in demand, b b
. hiraction in demand. 0 00
. e"ISion in Demand- 0 $

Extern, INcrease | , g
®nsion in deméﬂdqua"t!ty demanded due to a decfase in price, keeping all other things constant
IS shown by a rightward movement along the same demand curve.
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Eplisf pidiif
o]

n l il »

A (Y Z
7

»
: e
() 16 A ity

Caontraction in Demand;

Wi a decrease i quantity demanded due 1o an increass in price, kesping &l oifer fhings COoNstans

cantiactiai in damand can be shown by a leflward movement along ’m& demand curve, A
Mice

A

Contraction

0 15 30 Quantity

2. Shift of the demand curve: 0

O

(22

When the demand for the product changes due to
changes in any of the
of consumers, advertising, Y ' oA

fashion, etc ), it causes shifts in the demand curve,

/
- Rightward, i.e., rise, \0 ;
- Leftwards, i.e., fall,

O
Rise In Demand: ‘ Q ®0

Increase in demand '\'00.’
2 8 1ise 1 don. :d‘due 1o some exogenous factors (such as cons@)@@me. fashion, etc.) Is known
N

Demand curve can shift

N
Price () Off-season Demanczw—* s"* Peak-season Demand(D1)
| 20 :0 &W 30
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ce when Ptios
e of consumers 1 ?

L on/taste 1
rwn’ﬂ
uu’)ﬂ 1
e ,>m 1eq. demand for winter clothing.
alth- mendly 1
ces of substitutes 1
prices of complements |
yp(—ctauons of future income 1
xXp t,ctauons of future prices 1

“‘wme tax g %
m{er.est‘f_ates- ! _ 0 10 29 D Cuontity
pvailability of credit 1

Hire purchase facilities 1

. demand can be identified by the rightward shift of the whole demand curve, as shown in the diagram

Rise in Demand Extension in Demand
« Quantity demanded increases . Quamnty demanded mreases
« Due to exogenous factors, . : DueD fo mlcu;vwzer :n:;f
« Wnole demand curve shifts rightward rightward movement mﬁ' theE same
curve,

Fall in Demand:

~ezse in demand due to any of the exogenous factors (like consumers’ income, fashion, etc.) is known
2s 2 rise in demand.

Price (3) Initial Demand (Do) Demand (D) #f income £ O
e 20 10 g
= 30 20 N
Demand will fall when: \\0,\/'\
- Income of consumers | v q’
- Advertising | O(b
- Population | @
- Season (out)
- Health-friendly |
- Prices of substitutes |
- Prices of complements 1
- Espectations of future income | D
- Expectations of future prices | D,
- :rmfne tax 1 '
" Interest rates 1 . —>
: A ailability of credit | Q'@ 5 1 30 Quantity

; Hire purchase facilities |
‘ &0 der
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market demand from individual demand curves:

Unit 2

Derivation of
rket demand for 3 product at 2 certain price is obtained By summing 3l of the uanities

Th? r:a'duals at that price. The market demand curve can te citained througn he Tamzomna

bz '?, t:e individual demand curves for the praduct. Market demand curie 's nammally Tater aastc Ty

;d?vrdual demand Curves. Far example, let us assume that thers ar= aniy hr=e COTsIMEr: win tin

the product according to the fallowing schedule:

Demand of A Demand of B | Demand of C | Market Demana = &=3=7
15 m | MoE-mem T
PE] 30 | WS +W=T% 1
Price
W\
5
¢ :
0 10 20 30 45 79

Quantity

Exceptions to the law of demand:
Law of demand (economic theory of consumer behavior) is not tme\for all m of gaaés and m
Some exceptions exist where people demand more goods and services at higher prcss SNg VICSWEISR

ceteris paribus. Examples are:

1. Speculative goods:
Speculators are those who buy assets not for investment purposes: rather, they make proit ’l
difference in sale and cost of an asset for the short period of time. Examples of specuiative W

shares and currencies. \"\
2. When quality is judged by prices: _ 0 0
Sometimes the quality of your product is judged by the price it costs to the consumeq s taken
as an indicator of good quality and vice-versa. In this situation demand woukd

and vice-versa

In these cases:
Pt — Qdt
Pl — Qd|

—
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h ’l_tl."!ll[lll'r::,:b of a product that suppliers are willing and able to sell at various prices per period
oS P v

antities: £ conomists often deal with numerical values and very often try to represent information
’ {tative way.

product: AS with demand we are using the term to refer to any item that is being traded. It can be
ed for goods Of services. We could also stretch this to include tradable items like money or
-al assets such as shares.

hese are the sellers of the product and are often referred to as ‘producers’, although
be manufacturers of the product, they may simply be an intermediary in the chain or
s. We could look at an individual company’s supply of a product or, more usefully,
te to look at the supply for an overall market.

to sell at various prices: In a market economy, companies must gain from
ts. They are also in the fortunate position that in many cases they can withhold
When price rises in the markets, it is assumed companies will be more

o]
.QU(JH

financl
suppliers: T
they may not
selling service
we can aggrega
willing and able
selling their produc

supply if the price is too low.

wiling and able to supply more to the market.
per period of time: Supply must also be time related. It is of no use to say that Acer supplied 200

computers unless you specify the relevant time period. Clearly this needs to be consistent with the

time period being used for demand.
Other things being equal: There are numerous potential influences on the supply of a product.

Analyzing the connections between the various elements is very difficult if lots of these elements
are changing simultaneously. So, we assume these other factors affecting

m sWillingness 0@0

’ «Volume of A
| goods in eWillingness eStock \o A
posession + Stock o Act of selling when 00
demanded sale N

= -
)

Market gupp'V

a T : b‘y
osupply for all products
esupply of a product ina & s i

L] | " b
:;Z?eyﬁor': product 2¥ market by all firms o
o
L i
aw of Suppl { _ :
o Q‘h@ S ntity would be supplied at higher Priees:
Wother things are held constant, .i.€-. ceteris paribus: égi\ef qua

and vice-versa, i.e.
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Mathematically: Qs ™
Q.= a+bP
Ceteris Panbus
Pt —» ProfitMargin 1 —» Qs 1

P - Profit Margin | -» Qs |

Supply has a positive relationship with price.

Supply schedule
It is a table that shows the positive relationship between the price and quantity supplied of a product, e.g,
P [ as
10 ] 100
| 11 200
Supply Curve
It is a curve that shows relationship between price and quantity supplied of a product. The graphical
representation of a supply schedule is known as a supply curve.
Price
;r s
Y /
4 A
5
B

— X
0 100 200 Quantity

Taking price on y-axis and quantity supplied on x-axis, an upward sloping (positively sloped) curve is known

as a supply curve—as shown in the figure above.
The law of supply is only applicable when all other factors are held constant. Assuming ceteris pari%
law of supply holds these constant: 0
"\ @
- Cost of production (i.e., cost of raw materials, cost of fuel, cost of rent, cost of inm&!@%ﬂt of
electricity, efc.). WORY
—  Climatelweather (especially for agricultural products). NG
_  Taxes (e.g., corporation tax, sales tax, VAT, efc.). N7/ 4%
—  Subsidies (these are grants given to privately owned firms by the govﬂh&brb
Technology (which in turn influence the productivity of factors of produc¥ @

Education and training by the government.
Number of producers in the market. oﬁq

g
- Number of | . <
Price of jointly supplied goods (e.g., beef and cattle hide). * o’
‘é(bamer gloves; brown and black
b(‘

Price of alternatively supplied goods (e.g., leather jac

shoes).
- Techniques of production. b
>
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Changes in supply & Q,

' Change in supply
™ ~nange in quantity supplied

y

Shift of the whole
supply curve

}

Due to exogenous factor

y
r

Movement along the
same supply curve

Due to endogenousfactor

b Rise Fall
Contraction
Price
4\
S, S S
Fall / Rise
? | —> - —> @0
0 Qo Q, Quantity 0 Quan'\ %
x> O
o\
I ‘:t'rvwa. '~s:f }\:\
Movement along the same supp y A N '\rket price are
1 arise from the chang ‘Q}gva
Allthose changes in the quantity supplied of @ product which arise f QD O
known as movements along the same supply curve.
A movement along the same supply curve can be: '\ @Q
~ An extension in supply. $(\'®.O
- Acontraction in supply. ‘t) Q\K\
O
2

ww.youtube.com/megalecture

MEEF‘..J-E_CTURE

ctur

m amScanner


www.youtube.com/megalecture

; Demand,
Online Classes : Megal€éture@gmail.com ‘WpMN {
e www.youtube.com/megalecture

www.megalecture.com
Pr:’ce

Extension in Supply:
% d

it is increase in quantity supplied due to an

increase in the market price of a product, assuming

all other things are held constant.

Contraction in Supply: ;F S

It is a decrease in quantity supplied due to a
decrease in the market price of a product,
assuming all other things are held constant.

0 Q,  Q; Quantity

Shift of the supply curve:

When the supply of a product changes due to some exo
it causes a shift in the supply curve.

genous factors (e.g., tax, cost of production, efc.),

The supply curve can shift:

- Rightward .i.e., rise ,
- Leftward .i.e., fall o(‘/\o
XY

Rise in Supply:
Anincrease in the supply of a good due to any of the exogenous factors (e.g., reduction¥

in technology, etc.) is known as a rise in suppl
y.
Supply will rise when: . Q\aoorbq/

, dimprovement

- Cgst of production falls,
- Climate is favorable.
- Taxes fall.
- Subsidies rise.
= Technology improves.
- Ihe number of producers rises.
he price of Jointly Supplied goods rises.

= The price : ;
falls, O 2MEMatively suppiieq googs

Quantity
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e in SUPPY wivw.megalecturg:ae8kion in Supply

- /,/, reases | o Quantity supplied inCreases

b et B /‘ TS { e Dueto increase in prce.

B 5 70T  ve shilts nghtward * Supply curve remains same- rightward
-“ g 5 --/ il

] — AIong th

L supPlY

. ,:‘Zﬁf_‘f/WM‘OEM&‘N]MM%@EMW(M&DMG&M
pe? ’ £ e ;meofmeprodudrenmsmesame.

3l Whes- Price

- /‘4""” < | ,la (o{ab'e’ ﬁ

5")3{3‘(2 s b }
oGy dechnes.
- - et of producers falis.

vz
g il
| Viez 1

e price Of jointly supplied goods falls.

" Treprce of zitematively supplied goods rses. (__F_all
0 QLEntity'
Fall in Supply Contraction in Supply
 Quantity supplied decreases - Quantity suppLsed_ dec-reases
" Due to exogenous factors. —  Due to decrease in price.
- Whole supply curve shifts leftward - ?nl;z%:v:lgsgm;xgssamesam—leﬂwardwwe.

' perivation of Market Supply from Individual Supply Curves

can be derived from the horizontal summation of all producers orf sellers supply curve. \'\

The market supply is the sum of all producers’ supply ata given price of a product. The market gué{?g
i the
For example, let us assume that there are only three producers in the market who supply o@n@

> N
following supply schedules: N
Price | Supply of A | Supply of B S:upply of C | Market Su sogc
10 100 200 300 | 100+A e :750
L 12 150 250 350 150&e50 +350 =
) o\ -
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EQUILIBRIUM

Equiibnum is 2 sttuation when there is no tendency to change. Price is the value of a product determingg
by the interaction of demand and supply. Eguilibrium price is a position when quantity demanded equalg
quantity supplied—it s established at the point where the demand and supply curves intersect. The

equilibrium pnce, Py s shown in the diagram below.
4

Price
Surplus

Disequilibrium positions: Quantity demanded (Qu) is either more or less than quantity supplied (Qs). '@se
are corrected by consumer and producer responses, which alter prices. (‘ ,\0

If the price is greater than Po: That is, when Qs is greater than Qu, this will cause a surplu{‘!g Xoess

supply pushes price downwards, forcing producers to reduce their production and to disposdx stocks
at low prices while simultaneously encouraging consumers to demand large quantitie‘ 5 i fall until
spep. 2 . . . r'd
the equilibrium is restored at Po, as shown in the diagram above. \o Q/'\
Similarly, if price is less than Po: Qs is less than Qq; there will be a shortage ox? cmﬁ?odity. In this case
producers will push prices upwards and increase production while some cgns are depnived of the
good. The prices continue to rise till equilibrium price is restored at Po, a%n the diagram above.
Changes in equilibrium: $,\0'
.g\
1. Demand 1 ‘() K\)
2. Demand | b 6(\
3. Supply 1
4. Supply | o ’\6@
5. Demand 1 & supply 1 Q.@ )
6. Demand 1 but supply |
7. Demand | & supply |
8. Demand | but supply 1
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:H‘Iﬂm
ot A AL
v wand «-qmllhnum
o
! sr"‘""d Rise®
* l nsume % income incrensas and

\, , nd chifts right to D,

‘ N
‘ 2 nee Po.
qnortage atold p

prce mcmase
New equilibrium at Es (Qq.PQ'

AN oxtension in supply-

price and quantity

when demand rises,
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0T
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2. Demand F
ers’ tastes change and de

Consum mand
shifts left to D1

_ surplus at old price Po.

Price decreases until So = D1.
New equilibrium at E1 (Q1,P1)

A contraction in supply-

Note: When demand falls, price and quantity

decreases.
0 ' Qo
— @
)

Supply shifts

'3, Supply Rises.

- Subsidies are

shifting supply rightward
- Surplus at old price Po.
—  Price decreases until Do = Si
- New equilibrium at E1 (Q1,P1).
- An extension in demand.

given by the government,
s to St.

Note: When supply rises, price falls and quantity

 increases.
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Simultaneous shift of demand and supply and their effect on equilibriup,
Price
A
Fsanding 16 figure

1 DY 7o point B
¢ D A6 point'f
281 S o point o
G116 point 'K
Dy, 61 ' 16 point ‘¢’
6D, G ' 1o point ‘g’
7 DY, Bl 'Y 1o point 'a’
B D), B =% o point '8’ D, D, D,

o

-
0 Quantity

A simullaneous shift in both demand and BUpply may lead to an increase or decrease in price an

an unceftain outcome of quantity traded—or vice-versa, depending on the relative strength of. ] in
demand and supply, as explained below. \'-\ Q

OO

e e N
L J \o\\o\'\
g1 |PeUncetan | e Q)\) ‘bq’
o Qi]h | Q=Uncertain @0
P=| ' P=Uncertai
) ncena |
WLAWM'QﬂS%ﬁ
8. When both demand and supply rise, “) \y\&

when
rige in \'or may tall (When the rise in supply 9
Q dagrams.

Wi * ' aquatly ‘
W ;:fr]‘ ;::W:nq and supply both l&e, quantity traded will &i@(\"“’me AR s i‘w"'ms
-+ 1he price may remain the sam & S " ‘
i ame ( \ N .
(When the rige i demand is dreater than the "

than the rise in demargl), as shown in followi
¢
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Q,— Q, Quantity 0

and and supply fall.
fall, quantity traded definitely decr

6. when both dem
me, fall, or rise, depending on the re

and supply both

jernand
; it may stay the s

,’AJ’}—‘ en G a

_ie., ] .
f‘('em;nam; cupply, as shown in the following diagrams. o
jemaﬂ( . Pn;oe ﬂ
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Y

i

YT Sugly dnr Eominom
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jative magnitudes of the shifls i

Q:——-‘b. Quantity

Q— Quantity 0

0 Q,—Q Quantity 0

n demand rises and supply falls.

22\5

T i v traded may vary acco
When demand rises but supply falls, price will alwag:s nes:;);):évt:; quantity o
i u , T . .
the magnitudes of the changes In demand and supply . \}00
1 O N

Price

—p

Q, (5!., Quant

Q, Quantity = 0
8. When demand falls and supply rises.

When demand falls and supply rises, price definitel
to the relative magnitudes of the changes in demand an

uantity traded may vary
tively.
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INTERDEPENDENT MARKETS & PRICES
1. Joint Demand or Complementary Goods

Some products are jointly demanded. This means that they are complementary, in the sense that the
use of one requires the use of the other,
For example: The demand for fuel is

assoclated with the demand for cars, and the demand for mobile
phone networks, is linked 1o the demand for mobile phone sets,

P juwtl 20001

Frics of fiud
.

Price of cars
A L

D

9} Q, 0 Quantiy of lubf 0 Q. q, 0&3 of Care
2, Substitute Products 0‘

WO
Bubstitutes are goods which salisfy the same desire, Other things Q\M ‘@@l. the demand for a product
vill tsnd to vary directly with the price of ite substitute, ¢

O
P sl —+ O wady O
The figure below explains this relationship between proc their substitutes, In the left diagram, a

decrease in the supply of rice has caused an inc e price of and a decrease in the quanlity

demanded for tea, In the right diagram, the changes inse market for rice has caused an increase In the
price of and demand for wheat, and an extension in its quantity supplied,

ww.youtube.com/megalecture

MEGA LECTURE



www.youtube.com/megalecture

v

Online Classes : Megalecture@gmail €81, Supply and gy,
|
www.youtube.com/megalecture n

WWW.mQ';;gﬁyﬁe.com
S 4 1

(o ol Rice
N

SO
L) '
|,‘ \ lllllll
N - Pol e
1‘ D'
R =
0 Q| Qn - 0 Q, Q —>
Quantity of Rice Quan:itylof Wheat

3 pemand For Several Uses

The domands for sueh products are the tolals of the demands of various users.
for oxample:

wool will be demanded by the textile industry, carpet manufacturers, blanket manufacturers the

hosiery industry, and many others. An increase in the demand for wool by one indus ill rai
the price and alfect the prices of all other products made from wool. ! ty will eise

Copper provides a good example of a basic commodity widely used in many different industries. A

large ncrease in the demand for central heating (copper pipes) might increase prices i
olectrical components industries (printed circuits and cables). ) mig prices in the
Nylon

Rubber
4. Joint Supply
Joint supply occurs where the production of one product automatically leads to the production of another.
_ Lead and zinc are found in the same ore, so the extraction of one automatically leads to the
extraction of the other,

The production of beef also results in the production of hides and the production of mutton leads to
a supply of wool,

An oil refinery produces many different fuels from crude oil, and an increased output of an
product, say petrol, will automatically increase the output of the others (benzene, diesel, oil b
Rent-a-car firm does not normally supply a weekday travel without supplying a weekend J@&v

Where products are in joint supply, an increase in the demand for one of them will cause a f&(ba l@(ﬂice
of the other. This is shown in the figure below. In the left diagram, the demand for beef incr@s $Bausing

an extension in supply and the price of beef to rise from Po to P1. This also increase\ upRly of hides
as shown in the right diagram below. N
Price of beef

. Price of hides Q:g%bq/

ne

S 1

Pl
3 Ses—— G U N X S 4
i
i D,
B 0
= R >
0 Q, Q 0 Q, Q,
Quantity of beef Quantity of hides
utube.com/megalec
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5. Relationship between Proﬂﬁma asier Arke
"22 n He demand for and/ or supply of a product will not only affect the market for that Product,
» but

- 2%ect all mvolved factor markets (ie., the markets for the resources that produce the prog
Smiarty changes n factor markets will have effects on product markets., uct).

) o

Trese reiatonsh ps can be examined by looking at two examples. If, in a country, there is a trend tow

: ™. the price of vegetables will increase and the price of meat will fall. The figure below s’hards
- <rease in the demand for vegetables will cause their price to rise and supply to extend whil et
“errease n cemand for meat will cause its price to fall and supply to contract. + Whiist the

Price of vegetables Price of beef
4 A
P,
p‘:
0 0, Q, 0 Q Q, i
Quantity of vegetables Quantity of beef

Iz rises in the price of vegetables leads to an increase in their profitability, the demand for green houses
b wearvers in the vegetable industry, for vegetable processing equipment, for vegetarian restaurants etc.
wilineresis as well. On the other hand, if the profitability of meat production falls, the demand for Iénd tb'
grazse cattle, for lomes to fransport animals, for hot dog stalls, etc., will decrease. The figure below shows
e lirely effects of this on the market for butchers,

Wages of Butchers @

4

Q
(e

0 Q,Q N
B

akers

Changes in factor markels slso affoct product markets, le, if the wages for brick ":ic e of
Intrenses, then the cost of producing bricks will Increase lb is, In turn, is likely to raise the p

bricks due 1o g roduction In thelr supply, ?f\

. %%&0.

0
tc
e
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wic AGENTS IN A MARKET ECONOMY

o
inree main types of actors or agents in the market system.

Consu
et a’f?S narkets of the economy. Producers and owners of the fa mers and producers interact in

ctors of producti
e O reractin the factor markets of the economy. Production (land, labour, ang

v

1 The Cconsumer

ket system, itis the consumer who is all-powerful
, oure free mar : S all-powerful. Consumers are free to offer thei
l'apuver they want and the market offers a wide choice of products in return. It is assumed that co'r:smoney
e their SCArce resources so as to maximize their welfare, satisfacti umers

33 on, or utility.

e free market, the ﬁrr_ns are the servants of the consumers. Their motive is to make hi
?hif:eans maximizing the difference between revenue and costs. ‘gh profis.
Revenues

i they fail to produce goods which consumers wish to buy, they will not be able to sell them. Consumers

vil buy from companies which produce the goods they want. Successful companies will have high
revenues, unsuccessful ones will have a low or no revenue.

Costs . I
i frms fail to minimize costs, they \_Nlll fail to make a profit. Other, more efficient firms will be able to steal
teir market by selling at a lower price. The price of failure will be the exit of the firm from its industry.

3. Owners of the factors of production

owners of land, labour, and capital are motivated by the desire to maximize their returns.
- Alandlord wishes to rent his or her land at the highest possible price.
— A worker wishes to hire him or herself at a maximum wage, all other things being equal.
- Anowner of capital wishes to receive the highest rate of return on the capital he or she owns.

- These owners will search the marketplace for the highest possible reward, and only when they have found

twill they offer their factor for employment. Firms, on the other hand, will seek to minimize costs. They will
only be prepared to pay the owner the value of the factor in the production process. <\ S

0

THE FUNCT E MARKET y
ION OF PRICES IN TH N 00_)

Market prices tend to direct individuals pursuing their own interests to engage in activities m ote the
eoonor“mc well-being of society. Adam Smith, the father of economics, refers to thiagathe ISIBLE
D". The working of this "invisible hand" may be explained by four important . a\that the price
performs in the market. \) A
 Retion QYS
+ Rationing ®

ch;sumgr wants are infinite, but we live in a world that is scarce of r@??é@ﬂgand. therefore, scarce of

oo s as well iti be rafi hg the members of society.

P ell. Somehow, these commadities have to be rajl gt i

pfrgfuacts as a rationing tool in a market economy, and is useg to te limited goods and services
Y scarce resources.

31 : . .
) fi“ans\'!oconsumers demand a good, but its supply is relati% lc&ﬂhen prices will be high.

Me consumers (from low income groups) may consumption;

~ Some (such as s iddle i their consumption;

= ome from middle income grou Weduce their :

Limitggme (usually from high income groups) m ighe consuming the same amount or more.
Supply will be rationed to those buyers prépates o pay a high enough price.
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Sures 5

) i high,
Ch ot ie relatively low and supply IS relatively sCarci e good.
: umbe -S'r}:\i\;; will be bought, reflecting the lack of reity of the g

-

i
sumber ©
UTTIOCT U &

2. Signal |
ion to both buyers and sellers in the market pr; -

/ pi ' at
a key piece of inform tween buyers and sellers. They reflect market CONGition,

b N
ns that take place be ns of buying and selling are based on those

The pnce of the good is
those in the market. Decisio

determined by the transactio
therefore, act as a signal to

At
SN

sgnals
_ +Pis a signal of shortage which may a_n'se from 1D o[ 1S or both
[P is a signal of surplus which may arise from |D or 1S or both

3. Incentive

Prices act as an incentive for buyers and sellers. .
— Low prices encourage buyers to purchase more goods and services. For consumers, this i
because the amount of satisfaction or utility gained per unit of currency spent increases relative to

other goods. Higher prices discourage buying because consumers get fewer goods per unit of

currency spent. ) )
On the supply side, higher prices encourage suppliers to sell more to the market. Firms may have

) to take on more workers and invest in new capital equipment to achieve this. Low prices discourage
production. A prolonged fall in prices may drive some firms out of the market because itis no longer

profitable for them to supply.

4. Allocation:of Resources

Allocation of Resources *

The term ‘resource allocation’ refers to the way in which the available factors of production are distributed
among the various uses to which they might be put. There are always insufficient resources to produce all
the goods and services that could be consumed. It is therefore necessary to allocate resources efficiently
between the various possible uses, and, in so doing, to choose what and what not to produce.

Maximizing behavior
In the market mechanism, everyone is assumed to be motivated by self interest. Consumers are motivated

by the desire to maximize their welfare or utility. Producers wish to maximize profits. Workers, renters and
owners of capital seek to maximize the returns from the factor that they own. This maximizing beh%wor

determines the way in which resources are allocated.
Y
nd
will

Consumers, for instance, will spend to maximize their satisfaction or utility. They cast spendin
different products and different firms. If consumers' tastes change so that they want more%

lesser coffee, then they will spend more on ice cream and less on coffee. Ice cream ma
collect more money from the sale of ice cream which they will produce to expand productiop.
of coffee will be forced to lay off staff, buy few raw-materials and in long-run shut facta(&

[
/7
Profit and not revenue is the motive for firms to change levels of production. Wh {J\Mers dgmand
more ice cream, firms will expand production only if it is profitable to do so. Co ?:’turers de et
Q & Tevels elsewhere.
e
O

afacturers

down manufacturing plants only if the resources could be used to produce higger pr
et, ch: production by firms
because of their desire to maximize profit. \_'

In a free market, changes in consumer demand are met by changes in p
|Price Mechanism \ d
N a market there are buyers who demand goods and seller . .1 of deman
i swhos s. The interaction 0
and supply fixes the price at which exchange takes place. A mgchaniSg qywhich price plays the key. role
%i wn as the 'price mechanism-

In the allocation of goods and services and resources in the ma

Example &

If there is an increase in the dem e
and i e
for corn due to a ch @ansumer tastes, the de changed, the

corn will shift to the right from DoDo to D i i ini
o WS 1D1 (see di . With supply remaining un .
g::;::u\évg: Smtcrease from OPo to OP. This increase if@p ?)v:)corn will a?:? :s a signal and incentiveé or
g 0 produce more corn. The quantity supplie then increase from OQo to OQ:-
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0 Q, Q, Quantity

price, the profits of existing firms will increase in the short run. So, in the long run, some firms

new o
 enter the industry, raising supply.
wil ent

Eactors market too will be affected. The demand by firms in the corn industry for workers and equipment
\t;ll nse. So, the wages for corn workers may rise. "_rhe rise in wages (.i.e., the price of labour), acts as a
\anal 10 workers. 1|)e incentive to work in the corn industry will have risen so more workers will want jobs
n com production. some worker from elsewhere in the economy will enter the corn industry, motivated by

high Wages. Similarly, capital-owners and land-owners will be attracted to the corn industry.
Wages

N
0 L, L, Labou’r
Therefore, with an increased demand of a product by consumers, there will be an increase in the re 6
used in the production of that good. '\o é\
x>0
TOPICAL PAST PAPER ESSAY QUESTIONS o0

Determinants of Demand

(Nov 2015/P22/Q2/b) - Q Q(b [
Explain the factors that might cause a fall in demand for chocollate and discuss t e@ to which chocolf;lge
producers have the power to stop this fall in demand happening. & S 2l

(Nov 2013/P21/Q3/b) N Q"‘ d
Explain the factors that would lead to an increase in the demand @W@ of yoghurt and discuss t1h26i
extent to which the firm can influence these factors. i [

o &

(Nov 2011/P22/Q3la)
Explain the influences which determine the level of demand fy?g]ﬁzare in an economy. [08]
(June 2011/P22/Q3/a) O 4

0

::‘ch as mp3 players in recent years.
YOV 1998/a)

'SCuss the factors that influence the market for a product such as mobile telephones.

_ ‘ ' , ; tronic goods
() Using economic analysis, explain the possible ¢ féé\ﬁ‘e increase in the sales of elec g o8]

[10]
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June1995/a)
{)escnbe the factors that influence the market demand for a product such as personal computers, [ 1o

Equilibrium Price & Changes in Equilibrium

(June 2017/P21/Q3/a) '
Explain how equilibrium price and equilibrium quantity change to allocate resources when there jg a
(8

successful advertising campaign for a normal good.

(June 2016/P21/Q3/a) . .
Outline the functions of the factor enterprise in a modern economy, and explain how enterprise respongs

(8]

to a rise in the demand for a good.

(June 2016/P21/Q2/a) o
Explain the meaning of the term ‘equilibrium price and guantity’ in the market for a good or service, ang

show how a new equilibrium position is established when there is a decrease in demand. (8]
(June 2014/P22/Q2/a)
Explain the meaning of the term ‘equilibrium price and quantity’ in the market for a good or service ang
show how a new equilibrium is established when there is an increase in demand. (8]
(June 2011/P22/Q3/a)
Using economic analysis, explain the possible causes of the increase in the sales of electronic goods such

as mp3 players in recent years. (8]

(Nov 2009/P22/Q2/b)
Discuss how reduced air fares on low-cost budget airlines might affect the air travel market and the markets

for related goods and services, (12]

(Nov 2009/P21/Q2/a)
Explain, with the help of a diagram, how the price of a product moves to a new equilibrium following a

decrease in its supply. [08]

(Nov 2007/P2/Q2/a)
Explain how an equilibrium price for a product is established in the market and how it may change.  [08]
(Nov 2005/P2/Q3/a)

(08]

Explain the meaning of the ‘equilibrium price’ of a good and how it is set in a free market.

(Nov 2015/P2/Q3/b)
Explain the factors that might cause a fall in demand for chocolate and discuss the extent to which chocolate

42

-

producers have the power to stop this fall in demand happening.

Functions of Price

O

(June 2017/P23/Q3/a) o '\0

WA
(Nov 2015/P2/Q2/a) N Q/'\
Explain the functions of price, enterprise and profit in a free market economy. \) O{b (08]
(June 2010/P21/Q3/a)
A free market price operates as a rationing and allocating mechanism. E)Ql'@ gv@ does this. [08]
(June 2003/P2/Q2/a) NI
Explain the functions of price in a market economy. $(\®9 [10]
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Definition

Elasticity is the degree of responsiveness (numerical measure) of one dependent variable to changog o
another independent variable, ceteris paribus.

Types

Elasticity is of two types:
Elasticity of demand
- Elasticity of supply

Elasticity
v
: i
@asticity of demam ljlasﬁdby of supm

4 Y

Responsiveness of Qd to the change in Responsiveness of Qs to the ChangeTI
\4 4 v I
own price Income of consumers || price of another good own price of product

' | } |
XED PES

INTERPRETING THE ELASTICITY FIGURES:

To understand the elasticity figures, there are three aspects that should be kept in mind while interpreting
them:

1. The use of percentages
2. The use of signs (positive or negative) <\@ Q
3. The significance of the value o) (o’\

The use of pPercentage \'\00
a. The use of percentages allows us to compare the changes in two different vag l'he'}sured in
different types of units—e.g.; in PED, we measure the responsiveness of quantg aqfied (which is
measured in pounds, kg, etc.) to changes in the price of the product (which i ed in $, PKR,
etc.), so the use of percentages helps remove these differences. g 9
f s used—e.g., if the

b. The use of percentages removes the problems associated with the size @ﬂ !
price of a product rises from $2 to $4, there is a change of $2, but if éa e Change is measured in
‘cents’, it would be 200 cents. Apparently, $2 and 200 cents might é! while solving problems,

&

but the use of percentages will remove this problem as describ ample below.
Po Py AP 4 %AP
$2 $4 2 = _4__2&) 00%

7
200 400 #_0} 0o
| cents| cents 200 Q's:‘g%‘o—xwo =100%

C. Percentage change is the only suitable way to decig® how big a change in price or quantity 'S'Iel?wg
the price of a product rises by $1, s this a large increase or small increase? We can answer only
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P

)

Elasticity

inal price was. For a bottle of Pepsi whose original price is 20 cents, a $1 increase

wha Ort')% cause price has increased by 500%; but in the case of a house whose original price
.nog q ,ncneasere ase $1is a small increase in price, because the price has just increased by 0.2%.
gdVs an inC!

roportionate increase in ptice that we look at when deciding how
<85 e, s the percentage o the prop p 9
m;e once nse it 1S: '

¢ sign (positive of negative)
use ©

|lasticity number shows the relationship between two variables. For instance, price
e s with agng 3vi|l have a negative number because quantity demanded has a negative relationship
gy of dem According to the law of demand (ceteris paribus):
e;asﬂcml eofa produd.
e prc

w ¥ Pt —Qd|
Pl — Qd1

f price elasticity of demand will always be negative, whereas price elasticity of supply will always
fi
™e value©

tive value since price and quantity supplied have a positive relationship.
have 3 pos

Pt — Qst
Pl— Qs| )

i igni ideri l lues of income elasticity of demand and
- important significance when consndenng the va ! ‘
B theljs',%gistyh:: gemgnd since the signs explain the relationship between the variables involved.
61055 € '

‘ {ive sign of price elasticity of demand is usually ignqred because itis assumed to be universally
Thg r:g)aOd that quantity demanded always has negative relationship with price.
unge

significance of value

twe ignore the sign and just concentrate on the value of the figure, then we can determine the elasticity of
L:magd or supply. The five types of elasticities are:

_ Elastic demand or supply (Elasticity >1)

_ Inelastic demand or supply (Elasticity <1)

_  Unit elastic demand or supply(Elasticity f1. )

—  Perfectly elastic demand or supply(EIastlcnt_y = o)
_  Perfectly inelastic demand or supply (Elasticity = 0)

Formula @
N

As we kKnow C/\O
_ Effect -0
Formula = Cause %AQ= AQd =100 \'\ 063
AQ, (o S
%AQd APd N
PED = :o/oAP %AP= —A—P— =100 \\ \I
pEs%e0Qd | 50 ooV
= o/ 0
Yo AP
_%AQd @
YED= R4
%AY N\ ‘g
ED= %AQd of good 'X &‘ @p
%AP of good 'y' \Y\{\\'
Substituting values of % AP and % AQd into the formula % o
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AQ P,
PED =5 " ap

AQ P,

ELASTICITY OF DEMAND

Elasticity of demand can be defined as the degree of responsiveness of quantity demanded (Qgor ),
changes in the price of a product, changes in the price of its substitutes or gomplements, or changes i the
incomes of consumers. The different elasticities of demand can be categorized as follows:

1. Price clasticity of demand (PED)
2. Income clasticity of demand (YED)
3. Cross elasticity of demand (XED)

Price Elasticity of Demand
Price Elasticity of Demand (PED) is defined as the degree of responsiveness of quantity demandeq 1,

changes in the price of a product,
PED is always negative because price and quantity demanded have a negative relationship. In the exampe
below, the value of PED is —2.5, but by ignoring the sign we can determine the type of elasticity. In this

example, the demand is elastic,
o
pED = 2AQ _AQ P
“%AP AP Q
Example
P1=$10 Q% = 1000 units PED =22 P
Pz=312 Q9% = 500 units AP Q,

pEp=500-1000 10 _ -500 10 _ .,
12-10 71000 2 1000

Types of PED:
o

There are five types PED that determine the elasticity of demand. These are:
1. Price elastic demand (PED > 1) \"\0 2,
2. Price inelastic demand (PED < 1) o 00
3. Unitary price elastic demand (PED = 1) N7, ,\'\
4. Perfectly price elastic demand (PED = w) N
5. Perfectly price inelastic demand (PED = 0) Q/’\
1. Price elastic demand (PED > 1); 00(5
ngg}w quantity demanded.

it is known as price elastic demand. In the example below, PED is “—

When a small proportionate change in price generates a large proportion @a
) g’%&fa the negative sign. Ihe
value is greater than 1, so demand is considered to be price elastic.

%AP b(\
>
Pi1=$10 Q9 =100 ynj OSQPED=A_Q P,
P2 = $8 Q% = 20&;;'?‘A AP Q
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200-100 10 100 10
§_10 100 -2 100

D

PED =

A

T ;

-
.
-

—

0 100 200 Quantity

Relationship of price elastic demand with total revenue or total expenditure:

Revenue is the money received from th
using the following formula:

e sales of goods and services. Total revenue can be calculated

TR =PxQ
Toizl revenue (TR) received by the seller is very important because it determines the level of profits earned
by the seller, the following formula shows the calculation of profit earned:
Profit = total revenue — total cost

Maximum total revenue (TR) or minimum total cost (TC) means more profit for the business. Knowledge of
PED would be very useful for the seller as goods whose demand is elastic, any reduction in price of pr@:ct
will generate proportionately greater increase in quantity demanded, and therefore total revenue qfl ){@

and vice-versa. - 0
PL—Q1t—TR1 0\'\00(0
NS A

Price

AP =10$ 5067’

TR =A+Barea Qo
=10x100 = $1000

At‘Py =8% 10 e
TR =B+ C area 8 ...f ....... ,
= 8x200 = $1600
Hence D
Loss ="A"area
ﬁaln =“C” area [ i : R
et gain= C—A area Q' Y
1 200 uantit
= 800—200 = $600 00 Quantity
k .youtube.com/megalecture
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The following diagrams show the relationship belween lotal revenue and q

relationship between total revenue and price.

Unit

antity demanded, and i,

Total Revenue

Price

A

=8 -

30 TR S

0 TR, TR, TotalRevenue 0 Q, Q, Quantity

Price inelastic demand (PED < 1):
When a large proportionate change in price generates a small proportionate response in quantity

demanded, demand is said to be price inelastic.

%AQ

%AP
In the example below, PED is “—0.2". Ignoring the negative sign, the value is less than 1, so demand is
price inelastic.

PED = <1

Example
Py =$10 Q91 = 100 units pED_ﬂxﬂ
P, =$5 Q4 =110 units AP Q
110-100 10 10 10 _
PED=——F—x— -0.
5-10 100 -5 100 0.2 <‘@

10 v
O

Q\(‘ S50

0 100411 tity
The demand curve for inelastic demand would be steeper, in above.

Relationship of price inelastic demand with totawnflr\}r total expenditure:

;or gootds whose demand is inelastic: any reduction in p ll generate a proportionately smaller increase
quantity demanded; therefore, total revenue will fall, and vice-versa. Refer to the diagram below.
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Llasticiy

Pt Q| — TR}
Pll »Qt TR
s A
= B
R ix110=5550
e _-p" area 7
8 = ~v —-rea >
can 'L:_CGZ":?E 0 100 110 Quantity
N 505-50 = $450 o d, and the
_-iow show the relationship between total revenue and quantity demanded, an
Al —':'T".S =
e 07 perween total revenue and price.
?ZO"S.J it
. Total revenue
Price A
A
TR
P.|-
TRO ............... :
Pejrrmee—2 & | R
TR1 ...........
: : —>
: A 0 ’ Q, Q, Quantity @0
ue L
0 TR, TR, Totalreven A

0<o

o tit
generates an equal proportionate respo@ ;@ Uantity

Unitary price elastic demand (PED

n price
When an equal proportionate change i o \
demanded Zemand ‘s said to be unitary price elasti ‘O\
| %AQ \) (bq/
PED =oeap ~ go
khown in the diagram
ol i tangular hy, la, @
Ademand curve with unitary price elasticity is shaped like a rectand .gc_fei
below, ( ®)
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() [r—— ey

o %20
v
v 3
For SraicrtLne L For Hyperboia 7
v i !
Voo ot s o gt | i e e s e
cranges ! changes 7age
7 ’ B!
£

KEQ==% 7100 - %

1 g *N =g T 10

L

;‘ BLEP =— %100 __ &

L o T2t 10

Example: -
P1=310 Q7% = 100 units 100
Pr =35 o7, = ; %AQ=—— - 9
5 200 units () 100+200x100 66.67% @0
2 . %’\
5 >0
%AP = = 0,
oAP = 25— x100 = 66.67% 00\0

_ 66.67% N
PE0 = Se 6% ! Q\)Q'bm
©

IR1 =10x100 = $1000 ,\Qﬁg
Rz= 5x200 =
Refationship of unitary price elastic demand with tor. 0=$10000¢™N O

d with total revenu atgl expenditure:
Any price increase or

decrease will cause the quantity de (&) %%\ th
'y i . m 1 i . ,
there will be no change in total revenue—as shown in the di$ ISR SEREPRRCH SIS

o 0%' low.

%
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& {9
A

o (G0

;J ;"' ”/ /‘
,' .
.(u' T G BB
Iy (A5
./v;;r(-.'l > K
,(‘,5, ,'_!(’ ".é
b 4 C ] ’ : D
('
Cuantity
TR
1 b‘ [f:V’:nU(
rrssnreserrsees il
3 — ,
P, -;4'-44panolo—rn'or"-—»-n—o”-"
r_’___..__—-——*—’-"rr’.
7, ,, i
E % P,‘ ........................... e
H
. N
E ; = 0 TR, Tctalrevenue

0 Q, 0, Quantity

i e the
nchip between total revenue and guantity demanded, and

above shot the relatio

30rams
Lo and price.

relationship hetween total revenue

perfectly price elastic demand (PED = infinity): I s
Winen a small proportionate change in price generates an infinite response in g

is said fo be perfectly price elastic, OC/\Q
%8O _nfinit 0
PED = TP nfinity ,o!}'&a
i O tity” axis, as showrn{y?t iagram
The demand curve for a perfectly price elastic good is parallel to the “quantity” \\0 K
below, \0 q/
Pﬂce \) (b
CU
Z
PED =« E<\
Py : : N
>
0 '@

out Illll—' COIm
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e, of 1y price elastic demand with total revenue or totall oxpondl:uro:
eiationship of perfectly prce ¢1as : i oevenue
R smand there 18 no or little change in the pnce, so totalr 8 positivoly f0lat,

oy ey ) e 23S0 OF o '
oe-iact oS elasic ~tore. when quantity demanded will increase, total ravenue will algg ‘"Cfea%

—vn - Tha
Soh oemandtd. 1K

-

e mm s meroemtage—and VICE-VETS3,

“ - :‘-‘ T -
Perfectly price inelastic demand (PED = 0):
e change in price leads to no change in quantity demanded, demand is sajq be

perfectly price inelastic. The demand curve of a perfectly price inelastic good will be parallel to the “Price*

2xs as shown in the diagram below.

- mrma -— -,
-'-"»3' ER pe \%—.:a\:

%AQ

ED = = Zero
P %AP
Price
A D
P, |-
P, {
P, ¢
0 Q, Quantity

Relationship of perfectly elastic demand with total revenue or total expenditure:

In perfectly price inelastic demand quantity demanded remains constant where as any change in price
cause equal proportionate change in total revenue, refer to diagram above.

Varying PED Along The Downward Sloping Straight Line Demand Curve: @
Q
A downward-sloping straight-line demand curve has different elasticities along the same cugy a
hlgh price elasticity before the mid-point, a unitary elasticity in the middle, and a price inelagﬂy the
mid-point—as shown in the diagram below: N
. O N
Price
N
PED = =
6
5
4
3
2
1
0
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i
ru“ﬂ
M l A= Py=6 (2 = ()
W A I LI lfinity ~ (Perfectly | laetic)
prie e 0 10
ppolnt

| A=Y ry=0 (=1
((the ' .

A0 T 19 H(1 lastic)

Py Ao ! !
M]‘ﬂll\l'ﬁ'
\Qe 1 AP =1 Py =4 Q=2

-0 LA o (Eiaetio)
| ‘\I) (‘)‘ 1 l’

At Polnt'dC
AQ =1 AP =1 Pym=3 Q=3
a b 16 1 (Unltary Elat
) L = - y Elaslic)
PEC™ AP O, 1 0
AQ =1 AP =1 Py=2 Q=4
pED - A9 P12 0.5 (Inelastic)
APTQ 14 %
. CAO
At Point 'f* '\o 03\
AQ # 1 AP = 1 Py =1 Q=5 o\.;\oo
PED - AQ x-Pl e 1 = 0.2 (Inelastic) \\0 ,I\
AP Q‘ 1 5 v (L,\
" ) e
o Qo
AQ= 1 AP = 1 Py=0 Q=6 %9
AQ P10 K\ 0'9
PED « L 1 < 0 (Perfectly Inelastic) e( &
AP Q 1 6 N

|
Aclually, PED s a relationship between proportional not “3’

demanded. As price falls, people become less sensitive (o 5

Q

both constant. S
diagram above. The change in quantity and the change price are

ges.

utube.com/megalecture

MEGA LECTURE


www.youtube.com/megalecture

Online Classes : Megalecture@agmail.com
"y www.voutube.coM/megalecture ' ""'*1
www.megalecture.com

")
y tis -1 that
, the demand curve. However i Q, vill change ar.g ""“I

whether we measure PED at any point of
o demand curve, initial price (Ps) falls zr,
Il.g"

ue of PED As we move down along th

P,
quantity (Qy) rises. Hence, the ratio of a“wull yleld lower value
1
he curve from left to right. Refer to the diagram atuye

deterlll" e the val
¢ with the fall in pfib@. COH% st
q‘ v /' ")q‘

will be a reduction in the value of PED along t

Pl — Qdt — PED |
Pt — Qd| — PED 1

Relationship between Downward Sloping Demand Curve and Total Revenue:
lationship between the demand curve and the total revenue curve T,
- Ihe

The diagram below shows the re
PED is unit elastic, and total revenue is at its maximum. When the pri.,

diagram shows that, at price “Po”,
is above “Po", total revenue is rising. When the price is below “Po", total revenue is falling.

P,N—_(P}=>TRI)  PED=1

(TR = Maximum)
Y I PED <1
° (PI—>TRI)
! RN
0 — Q, —> @ Quantity

" i TR = Maximun C §)

A
o
00 N
WA
TR \0 q/’\
ity O Me.
Q, Quantity QO
\ ©

Constant PED along the Demand Curves:
N

Perfectly elastic, perfectly inelastic, and unit elastic demand cu

remains constant along the same demand curve. ‘() Q\
a) Perf bo
ectly elastic demand curve: >

The a : e e
mount of quantity demanded is infinite at pr':i?‘éésfgown in the diagram below.
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) Price
N
PED = =
Py ¢ + D
0 Q, Q, Quan?ity

perfectly inclastic demand curve:

antity demanded does not change as price changes at any point. This is shown in the diagram below.
Price

1 D

b)
Qu

>

0 Q, Quantity

¢) Unitary elastic demand curve:

o
The percentage change in quantity demanded is the same as the percentage change in Wr to

the diagram below, OO r\Q
Fice A\ :\’,\
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Summary of PED types:

=mcE

~ = —

Determinants of PED:
T s3s2 Wiy which CONSUME's tan Shange Mer Semang

ning. T, have inelasic demand. Thase whch

-  Brozadly defined — Inelastic demand
- Closely defined — Elastic demand Q 3

Brozdly defined goods are inelastic in nature because they have relatively fewer close subs:xb.':@
other hand, if 2 good or service is more closely defined, its potential substitutes will |

demand to become elastic—e.g., on the whole, a car would have an inelastic demand, 1
would have an elastic demand. This is because it is hard to find a substitute for a carWy to find
N

el

substitutes for 2 Honda civic. v

3. Number of substitutes: QOQQ;L
e ©

- Less substitutes — Inelastic demand
— More substitutes — Elastic demand

The more substitutes for a product, the more easily consumers ca
more elastic will be the demand—e.g., a bathing soap, 'LUX' oo ifficult
Palmolive, Dove, etc. On the other hand, fewer substitutes foga ; means thfat it wnflrlobe1 C:f:\fg S}\ and
for consumers to shift to another product—e.g., in Pakistan Oty Is only.ava"a!"‘? ngistan
there are virtually no substitutes for it; hence, demand for iejty would be inelastic in -

4. Habit forming or consumer loyalty: Q.e .

- Addictive - Inelastic demand
- Non-addictive — Elastic demand

Oone product to another, the
"hg su

bstitutes, such as Rexona,

S
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ervices are addictive in nature—e |

e et
soﬁ‘e goods :Scts would not inhibit the use of these goods by addicted cong s, glc. An

. um
of tese tpcroSimilarW. the more a consumer is loyal to a brand, the more inemsﬁ?{g %;h
ast™

y_rise in the prices
eir demand woulq
mand will be.

ime:
5' emergency = Inelastic demand

© \ore time available — Elastic demand

ded during an emergenc lif i -
ods are deman , \ Y—e.g., life saving medicines, T ;
somen%"ca anot be postpon_ed are inelastic. prever, the demand for goods like ‘h 0u::§?g%‘|’:¢{[§ for which
den:; mers can take their time to make decisions before they buy these good stic, because
con ‘

proportion of income spent on the good:

6.

_ gmall proportion of income — Inelastic demand
Large proportion of income — Elastic demand

i tch boxes are those which the consu i i
Goods like ma = BiLS mer will spend a very small proportion of in
Therefore, ‘gfnsume;rser?t:?):g\ \;VnhQ|frf‘erent to any change in their prices, causing their dgmand to be(;?\g}gs?ig.
t goods like cars _ ich consumers spend a maior proporti iri '
Egmgand s qoods s olastic, JOr proportion of their income on. Therefore, the
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FICE . necs of quantity supphed (Qs or Q') to changes in the B =
F £ O SYTIIES g \ ue phce of tha DMU‘USK
22 0fTEE - price elasticity of supply (PES). 55 Known
2 2y of suppy
gste .
7:'f — '/':‘AOS AOS P-
z PES =— = X —
JLAP AP Q,
cuoply Is 2'Ways positive because quantity supplied and price have a positive relationship
sy O SV - 3
Poa vl
g~
orCE
’
f"‘ve
s d
e ) Q= 1000
o, = 10 = 250K
y-”'_‘J 0‘2—2563
. : "u P
47" 4500 100 _ 4

e five types of PES: )
GISr}:,e e‘.fasﬁ: supply (PE§_ > 1)
price inelastic supply (PES < 1)
Unitary price elastic supply (PES =1)
perfectly price elasﬁc_supply (PES = =)
perfectly price inelastic supply (PES =0)

4, Price Elastic Supply (PES > 1):

men 2 small change in price generates a proportionately larger response in quantity supplied, supply is
Vinen

<zid to be price elastic.

= Sp and St
, tis steep or not. Both
The elastic supply curve originates from the y-axis regardlesy ‘;’D@‘er i
are elastic supply curves. o KQ

2. Price Inelastic Supply (PES <1): q;@ onse in quantity supplied, supPly is
When a large change in price generates a proportiona smaller resp

said to be price inelastic.
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%AQs
EG = ——— < 1

PE %AP

Price
A
S,
S,
o) QuantTty’

An inelastic supply curve originates from the x-axis, regardless of whether it is stee
are inelastic supply curves.

3. Unitary Price Elastic Supply (PES = 1):

Pornot. Both S, ang S

When a change in price generates an equally proportionate change in quantity su
be characterized by unitary price elasticity. Any curve that originates from the ori
elastic supply, irrespective of the gradient that it has. Therefore, in the diagram bel
unitary price elastic.

p_plieq, supply is sajg to
gin will be unitary Price-
OW, S4, Ss and S 3| are

PES = %AQs 1
%AP
Price
A
S,
S,
S 9
P
XV P
s 00 N
0 Quanti& ‘\ :\’r\
4. Perfectly Price Elastic Supply (PES = infinity): \50 ‘bq,
When a very smaj| 0

proportionate change in the price of the product leads to

suppli ‘o emi infirfi{e response in quantity
pplied, supply is said to pe perfectly price elastic or infinite price el'a‘l'@

%AQs
%AP

(\ oﬁg
. o
= o = Infinify R\
&

O
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i s

Pﬂr'\w
h
G = o
P, ©
0 Guanit ;

y Price inelastic Supply (PES = 0):

ect! | ‘ o
> pert n price generates no change in quantity supplied, supply is 520 4 b2 perfecty price
noe | = N
.fgy,ave 2 price elasticity of supply of zero,

YIS
PES = -’ =0
YoNP

ra
5 e

i 2
peizstic

Price
i 5

PES =0

0 Q, Quantity

Varying Price Elasticity of Supply along the Supply Curve: @

Wormal upward sloping supply curves (both elastic and inelastic) have different elast.icities at.differe
o te curve, However, PES will be constant along unitary, horizontal, and vertical strang%i@ é{p ly

Aves 0 o No
'“mm.'y v \ \

NN
Pr\ou \) (b
1 N Q ®o
PES <1 \'@
PES ;é(\ o«@
PE &v\\Q
N

PES = 0
b" &
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nds upon the flexibility and mobility of factors of

ducts can be easily brought out of

production. If production can be exp ice), supply will be elastic; if not

storage in response to an increasé ri will be elastic if production can be

: - ic. Simi when :

sufgly :nllatﬁl ;n:ri‘ads;gf-p%fm?gy&an be taken off the market anl;i stored. The factors that can influence the
ack e . WS,
gggree of responsiveness of supply to pricé changes are as foll0

Level of sparé capacity

_  Time period.
Level of employment.

Storability of a product.
Agricultural vs. manufactured products.

_ Time required to increase capacity.
Ability to import inputs.
1. Level of Spare or Excess Capacity

DETERMINANTS OF

The extent to which the supply

When the industry is operating below full capacity
Industry can expand easily by S :
upply will be
) PPly

[ using previously unused elastic

Excess capacity |
variable and fixed assets.

When the industry is operating at full capacity:

At full capacity ~ Wb Industry cannot expand easily = Suﬁ%{a;iil(l; be
2. Time Period.
inked with PES The more time the producer has to make adjustments, the more

Time period is directly |
ply will be. With respect to time, supply can be of three types:

elastic the product’s sup

- Momentary supply
- Short-run supply
- Long-run supply

i. Momentary Supply . o(\?\o

A momentary time period is that during which supply is restricted to the quantities actually #@ the
RIS7E,

market. The momentary time period is too short to ch
: is to ange any factors of productio
the supply in response to changes in price and/or demand of the productp in the m%ubply is t?)iteec;

(perfectly inelastic) duri : -
) during the momentary time period. An example can be of the sgv sh, fruit, and

vegetables in the local market. \)
S
Prgce Q @0
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o is a time period long enough to chan of prog

Il factors of producti foducthon—
me S ugh to change a ‘ On and, therefore, alter th usually labouyr—
' ot §2g/ordema"d of the product in the market In the short run at | ea:t SUpPPly in response 10 changes

e iy in the short run varies with respect to price and demand but one fact

: tor of producton 'S kept
i‘e?:}liwing supply curve drawn below. B !
. Price

‘ A

IS pric

o Quantit;
i Longrun SLPBY
me long run is the time perio  long enough to change the quantity of all factors of production em
nd, therefore, alter thg supply in response to changes in price and/or demand of the :roduct in the nsgoﬁﬁs
upply in the long run is more elastic than in the short run. .
Price

1\

| > 9
o Quantity Q
. Level of Employment. \',\o%\

At full employment: o 00

No significant increase in output is possible in the short run (because idle resourcw aailable and

efficiency and technology can only be improved in the long run). Supply will, theref

ingfastic.

At below full employment: \> e
Output can be increased easily by using the idle resources in the economy. Supg ﬂb erefore, be elastic.
2. Storability of a Product. .\,@ O
If . '
peH:iz cgiroduct can be stored easily and cheaply, supply can be stoppﬂﬁg cﬁ‘\g to inventory stocks during

ydras of low price. When the price rises, the quantity offered for s e increased quickly and easily

the ":'ng from inventory stocks. Supply will, therefore, be ela K\

Product cannot be stored easily and cheaply, supply wige tic.
3,
Length of the Production Process. 0 4

Agricultura| Products

e <
These products take a considerable amoun% change the supply; so, their supply is inelastic
" the short ryn.

Manufactured Products
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3 relatively elastic supply. facy, g
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Unit 3
i f agricultural pr

mpared to the production 0O
r?rgdfcts is shorter, sO, manufactured products have
elastic; e.g., in the garments industry.

4. Time required to increase Capacity.
elastic; e.g., in the mining Industry.

ply will be

ansion takes a short time, sup ‘
If expansior il be I

If expansion takes a long time, supp

5. Ability to Import Inputs.
materials, machines, etc., from abroad easily and cheaply, SUDDHy ey

If a country can import raw-
be elastic, even at full-employment.
lastic at full-employment.

In a closed economy, supply will be ine

INCOME ELASTICITY OF DEMAND
The degree of responsiveness of quantity demanded to changes in the income of the consumer aiona is

—_— —

YED= =

%AY AY Q1
In PED, the sign has no important significance, but in YED the sign is of great concern to economists
because it defines the relationship between the variables involved. YED can be characterized into m@

known as income clasticity of demand (YED).
%AQ  AQ Y1

types, on the basis of signs:

a) Positive YED (normal goods)
b) Negative YED (inferior goods)

Positive YED (Normal Goods):
When an increase in income leads to an increase in quantity demanded or a decrease in income leads fo

a decrease in quarllt‘r'ty demanded, income elasticity of demand will be positive, because income and
demand have a positive relationship. This is shown in the example below.

Example:
I

Y1=$100 Y;=$110
Q% =10 Q%=115
, %AQ 11.5-10 100
\,E' = —3 =
%aY 110-100" 10 1 \',\006\
The positive value of YED in the diagram below signifies that, for this good, income and q

have a positive relationship; hence, it is classified as a normal good. \ N
S
©O

Income
Ar Q
<

Positive YED’\\, KQ

e F

o-<__. :<
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positive income elastic demand (Y[ [) - 1)

f\\‘ulll\vv income inelastic demand (YED « 1)

0 ' '

hositive income unitary elastic demand (YED = 1)
VW |

|}

positive income elastic demand (YED » +);

when @ small_ percentage increase in income leags to :

. v arge percantaes
gemanded. Of when a small percentage decrease N income leads te, 4 | MAGE tersans e,
' ‘ sC y RV Y an l y
quantity demanded, demand is said to be positive income olastic ? 3 NAYE et e

- [his is of G erraans ¢
Normal goods with a positive income elasticity of der, 15 1S SHOWT i1, e o
35 superior goods. Luxuries on which consumers s5p

a5 positive income elastic good

’ \a0rare el

and greater thar, ONE are et an was -
’ A > Snetrnes raferiae

end a major proportion e

»

f;f ‘,‘r,‘:if r‘(‘r‘r—‘: 2 i

$—e.g., cars, jets, foreign holidays, et -
Income

A

YED > 41
| ()
I

Ya .............................

0 Qo — Q, >

Quantity

i. ~Positive income inelastic demand (YED < +1):
When a large percentage increase in income leads to a small percentage increase in quanity
demapded, or when a large percentage increase in income leads to a small percentage :ec;as;‘.;
quantity demanded, demand is said to be positive income inelastic. This is shown in tre :,ac:;_r.{
below. As long as consumers do not spend a major proportion of their incomes on normal goocs &

i ither
necessities or comforts), their demand is considered to be positively income inelastic—e g | =ffzr
clothing, chocolates, fruits, etc. O ,\6

Income ;
A NP
OO
& N
\\ \/
Y1 y{b@
1 Q
| A (——
o G gl
" 0
i Cf:itive income unitary elastic demand (YED & '@(;b $ _ . ded. demand is
s 'eN a change in income leads to an equal p ieﬁe change in quantity demanded,
Ad'o be positive income unitary elastic. This isghown in the diagram below.
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Income
4
YED = +1
o I—— /
Yo ....................
0 Q,— Q, Quantity

2. Negative YED (Inferior Goods):

When an increase in income leads to a fall in quantity demanded, or when a decreasfa in income leads 0
arise in quantity demanded, income elasticity of demand will be negative, because Income and demang
have an inverse relationship. This is shown in the diagram below, The negative value of YED in the example

below shows that income and demand have a negative relationship; hence, it is an inferior good,

Y1 =$100 Y2 =$115
QY =150 Q% =120

9 —_—
YED- %AQ _120-150 100

e x— =13
%AY ~115-100 150

Income

R Vv
0 Q <« Qq Quantity Q\)O(b

Those goods Which have a negative YED are known as Inferlor goods 'ng b YED s of three types
. Negative income elastic demand (YED > ~1) é( Q&

il Negative income inelastic demand (YED < —1 N
. Negative income unitary elastic demand (YED)= =1) Q) Q\‘\

l.  Negatlve Income olastic demand (YE b b
D>-1); >
When a small percentag ( ) entage increase in quantity demanded

. @ increase
(or vice-versa), demand | In income leads to 321%&

' i is shown in the
diagram below. ® 8ald o be characterize \t?g Ve Income olasticity. This
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YED > -1

0 Q-+ Q, Quantily

- q00dS which have a negative income elastic demand include flour, rice, shoes, etc. With a small
|pfencl or decrease in income people can shift to branded products or back to cheap products,
n creast

. Negative income inelastic demand (YED < -1):

2 large percentage increase in income leads to a small percentage decrease in quantity demanded

vice-versa) demand is said to be characterized by negative income inelasticity. This is shown in the
o ,

tjiagram below.

Income
A

ol ——e

YED < -1

—

0 Q, Q, Quantity

i i include match boxes, grains, etc, oof\o
Inferior goods which have negative income inelastic demand include ; X &

iii. Negative income unitary elastic demand (YED = —1):

' i ' @r vice-
When a certain increase in income leads to an equal proportionate decrease :: g?jlrxt% o Ve
versa), demand is said to be characterized by negative income unitary e .

diagram below. \)

Inat\)me Q @0

0 Quantity
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Summary of types of YED

Income YED > + 1
1 YED = + 1
YED < + 1
YED = -1
YED > -1
YED < -1
0 Quantity

CROSS ELASTICITY OF DEMAND (XED)

The degree of responsiveness of the quantity demanded of one good to changes in the price of another
good is known as cross elasticity of demand.

XED - %AQd of good 'x' _Q - XE"_
%AP of good'y'  PY —P! Q
The importance of the sign in XED is also very important for economists because it de

fines the relationship
between the two products (as we will see further in thi ic). i i i
basis of signs:

— Positive XED (substitutes)
- Negative XED (complements)

Positive XED (Substitutes):

If an increase in the price of a product causes an increase in the demand for its substitutes and a decrease
in the price of a product causes a decrease in the demand for its substitutes, demand for the good (é&
to be characterized by positive cross elasticity. This is shown in the diagram below. 0 /\
Price of “Y”" \"\ 06
A o 0
N

Positive XED@ ©

(Substilytz <O
(®)
@

0 Q= Oy O
Quantit &%(‘

. the
Substitutes are goods which are alternatively demanded Qee'@ a positive relationship betv:;e: ?:yota
price of one and the demand for the other (substitu psi and Coke, a Honda Car 2
Car, etc. This is shown in the example below.
Example

Suppose Pepsi and Coke have the following prices and demands, respectively:
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MEGA LECTURE

2 CTu )Tl


www.youtube.com/megalecture

; o Online &asses : Megalecture@gmail.com Elawticey
_ www.youtube.com/megalecture
oo WwWw.megalecture.com
N = 4 ity of Coke) = 100
_ of pepsi) = $10 Q (quantity o
¢ (price ©
” (price of Pepsi) = $8 Q; (quantity of Coke) = 50

50-100 10
%aQd of Coke _ x =+2.5
XED=gap of Pepsi 810 100
jue of XED shows that there is a positive relationship between the price of Pepsi and the
sV VZ oke. Hence, goods and services with positive XED will be substitutes to each other. Positive
fo{ .

g asticty Of demand is of three types:
088
positive CToSS elastic demand (XED > 1)
~ positive Cross inelastic demand (XED < 1)
] positive Cross unitary elastic demand (XED = 1)

positive Cross elastic demand (XED > 1):

;:men 2 small percentage increase in the price of product “Y" leads to a large percentage increase in the

tity demanded of product *X" (or vice-versa), demand is said to be characterized by positive cross
war This is shown in the diagram below:

ticity.
- Price of *Y"

XED > +1

v

0 Q\,— Q"
Quantity of “X"
i. Positive cross inelastic demand (XED < 1):
When_a large percentage increase in the price of product “Y" leads to a small percentage in
guantltg Qemanded of product “X" (or vice-versa), demand is said to be characterized by posiv
inelasticity. This is shown in the diagram below. X Q
O

& N\
W/

v Q\S%’bq’

i ®

|:i"° '\'%\Q

PR
i, 0 QKOELQF ;ﬁantity of *X*

P
o Ositive cross unitary elastic demand (XE

an H N . ' ;
demandedlngffease in t"he_ price of product “Y* Iead&' qually proportionate increase in the quantity
lasticity Th.pTOdUCt X" (or vice-versa), demand is to be characterized by positive cross unitary
- 'NIS is shown in the diagram below.

Price of “Y"
A XED < +1
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Price of "Y
A

v

Quantity of “X"

Negative XED (Complements):

When an increase in the price of a product leads to a proportionate decrease in demand for its com
products, or any decrease in price of a product leads to a proportionate increase in the demm

complement products, the demand for the good is said to be characterized by negative crosg ehsﬁtity

This is shown in the diagram below.
Price of "Y"

T

P,
l

P,

0 Q' — QY Quantiy of X"

Complempnts are those goods and services which are jointly demanded (e.g., car and tyre, bata m
compact discs and CD players, etc.) and are characterized by a negative relationship between tlagh;\g

one product and demand for the other (its complement). This is shown in the example below, - 63
Example \o\ Q
Suppose a car and tyres have the following prices and demands, respectively: 00 '\0
P’ (price of a car) = $10 Q7 (quantity of tyres) = 100 \\ ;\/'\
Py (price of a car) = $8 Q; (quantity of tyres) = 150 :)o rbq’
Q

XED = %AQd of tyre - 150—100)( 10 25

©

%APofcar  8-10 100 )
;\ negative value indicates that there is a negative relationship betwe of a car and the quantty
emanded of tyres. Hence, goods and services having negati elasticity of demand ar

complements. Negative cross elasticity of demand is of three tyges: L o\
Negative cross elastic demand (XED > -1) \
Negative cross inelastic demand (XED < -1) b b(\

o

= Negative cross unitary elastic demand (XED = -—10 Q

I Negative cross elastic de
mand (XED > —1): @ .
Wi ‘ ) i
dm::n; 331:1" ;:p:dr‘;gts? xip(:)hrev price of product *Y* !e%sropomonately large decrease in the qugm
This is shown in the diagram b:?c;\v,Je_ma)' demand is saido be characterized by negative cross el4s
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Price of “Y™

A

XED > -1

0 Quantity of “X”
ative CToSs inelastic de_mand (XED < —1):
i 1 2 large increase in thg price of product ‘.'Y" Igads to a proportionately small decrease in quantity
wne Jed of product “X” or vice-versa, demand is said to be characterized by negative cross inelasticity.
geman hown in the diagram below.

This 1$ S .
Price of “Y”
A

XED < -1

Cdl

0 Quantity of “X"

iii. Negative cross unitary elastic demand (XED = —1):
When an increase in the price of product “Y” leads to an equally proportionate decrease in the quantity
demanded of product “X” (or vice-versa), demand is said to be characterized by negative cross ungry '

elasticity. This is shown in the diagram below.
N : o‘oj\Q
Price of “Y \} Q
A O \O
wO N
WA
N
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Summary of types of XED

XED>+1
Price of (Close Substitutes)
good X’
1 XED=+1
XED<+1
XED=-1
XED> -1
XED<-1
0 Qd of good 'y’

PRACTICAL APPLICATIONS OF ELASTICITY

- of PED
- of YED
- of XED

Practical Applications of PED and PES

Price elasticity of demand helps in many practical ways, such as:
The determination of total revenue (TR) of the firm.
2, Determining the price stability of a product

3. Calculating the tax incidence on the consumers and producers
4. Designing fiscal policy

1. Determination of total revenue (TR) of the firm.

Refer to types of PED: elastic, inelastic, unitary elastic, and varying PED along the straight line demand
curve.

2, Determining the price stability of a product:

PED contributes to price fluctuation
that is more inelastic when compare

of manufactured goods. Let us conside
rise in the supply of primary products and manufactured goods under two different dema
is shown in the diagrams below.

e Pfoe
S: S, §
P enressven
Pri P \E/ Price : Y
e (P o E fluctuations) Po [ &
fluctuations Po"'/ e 0 E, ,‘{\u
1
D
/ b (\4‘/ y
e o ‘Qo Q.Q Quanli?y
0 QZ Qo Q1 QUH&@ . 2 Ml Ny
Output Output
fluctuations fluctuations
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_ram, € right diagram, the demamwf f Ier
d'aqPi'. In the rgnt. reased supply awmm n

[ongumn(;/ﬁom- " ic demand, it will lead to a small ch

%#Sﬂ to price fluctuations in a market. Agricult
ntributes to rKet. Agricultural products and raw- i
gnial fifnf)o inelastic whgrf;%?_rgdpuaggdatﬁdﬂrl:asnuL;pI){ of rganu?ctured goods, Letrl?:’ c?r?s‘?J?}'?hZaJ;Z
ytha' >, demand for prim utaclured goods under two different supp| it
;;)ZP "Sihnowﬁ in the diagrams below. A ttions,
19 .
A A
S, (Inelastic)
S, (Elastic)
Pri X 5
. P Frgzeeeeaggeesenad rice 2 [N E *
ce ; :
ﬂucT:ations{ ';: Sl TR fluctuations{ Py :
‘ E7 N D, P, o
P D
BEN oo
Pl R i
o 2 ] 1 tity 0 tit
Q, Q, Q Quantity 204, Quantity
Output Output
fluctuations fluctuations

Therefore, the more elastic the supply, the more stable the price.

3, Elasticity and tax incidence

- Tax s a compulsory transfer of money from the private sector to the government.

- Taxes are, broadly speaking, of two types, .i.e., direct taxes and indirect taxes.

- Direct taxes are those which are levied directly on individuals and firm—e.g., income tax, wealth
tax, etc.

- Indirect taxes are those which are levied on goods and services rather than on individuals or §gs.
- Income taxes influence the demand for all the products that consumers buy, because th%eﬁ‘@
disposable income (the income which consumers can spend). \'> N

- Indirect taxes form part of the costs of production; hence, they cause shifts in suppb '\00

Effect of direct tax (income tax)

WA
Income Tax 1 — Yd| — D| \o q/'\
O D

ol 0

/

@

%‘s&br Income Tax)
o Q, Q, Quantlty'
«—
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Ettoct of Indlrect tax ol e e e e
When lax increnses, costs of production incraase s well, wherezs pronzZollty 92520 2y

Types of Indirect Taxes

There are two types of indirect Gaxes:
- Specific tax
Ad valorem tax
Spoclfic tax

; Forms 2 fuel prezrizoz OF e origz s e
{0 Brd (4 Nl -S4 Te
A fixed amount per unit o
Causes a parallel shift in the supply curve Czuzeszpwizisitin e SIDY S
Pricn =z
A A
Per untt S, (ffter
Tax Spedfr. Tzx)
S, (Before Tzx)

0 > >

Quartity g Zrimrr

Example
— Suppose an indirect tax of $2 per unit is impesed on 2 good

W
and equilibrium quantity of 600 units. This is shown i1 T2 =5 =iiowr

Price that | Frice that |
consumers e ot Qs | Qs (bsfore 2x) Qs (after =x)
pay '2
_ after tax - i
510 10-2=58 | 100 1100 00 4
$9 9—2=57 [200 | 1000 0 X A0
$8 8—2-56 |300 ER T w0
$7 7-2=85 |400 { 800
$6 6-2=$4 [s008 == 00
35 5-2=83 N 600
34 4-2=52 | 500
- After the imposition of a tax there will be z difference berween e o Qe pgy T
amount sellers receive. R )
Price that sellers receive = Pri SUMSTS pay G‘ “\/L k
nce consumesss bay £ W &X
- The new supply schedule will be according to the price that S {5{%\& This s showa &
table “Qs (after tax)". o
= The new equilibrium will be established at a price of $Sath & .i\-".:*:\' traded of 500 units, W
indicates that the incidence of tax is split between th URQNs and DroducsTs, Wi 3 DURETS
$1 of tax on each of them. & ‘ :
The effect of tax on equilibrium price and output, and th 2 of the ingidence of X Gan 3¢

explained by the diagram below;

2%
S

outube.com/megalecture

MEGA LEC

me ecture.com

TURE amScanner f



www.youtube.com/megalecture

. . Flastsa
#’ Online Classes : Megalecture@gmail.com /
www.youtube.com/megalecture

Frva www.megalecture.com
friem that A

CHNBIBIS la7 paiet by

[yt IS
after (ar b

L (Mar tay)
Ol ftone 1as)

870
Frar uoit }
tar = A\ 30 } '

Price that '
lar paid by
sollar racsive aallar

after tay — »
' 0 40 60 Quantity
por unit tax s the vertical rliat;mm taken from the new sOuilibriurm 1o the ofd
gy 4 In the diagrarm above, It s thc: armount of tax levied on each unit of the product,
Perunit tas = Price that consurmers pay — Price that sellers r6a1/G
foral tax revenue 16 the per unit taz multiplied by the new equilibrium quarntity,
nether the tar Go6s directly from the buyer's pocket to the government (income tay ), Of indirectly

o the buyer's pocket into the seller's hand, and then to the government (sales tay) does not
matter Onee the market reaches its new equilibrium, buyers and sellers share the burden
real 01655 of how the tax 18 levied. '

SUPPLY Curve, dendtsd

The person who physically pays the tax is not necessarily the person who bears the burden of the
tar

pecause atar creates a difference between the price that consumers pay and the price that seller
receves, the burden of a tax typically falls on both buyers and zellers,

{’ Taz nGdents on CoNsumers = Price

consumers pay after tax —~ Market price before tax

Tar incidence on seller = Market price before tax — Price seller receives after tax

The more inelastic one’s relative supply and demand, the larger the tax burden one will bear.
The amount each side pays depends on the relative price elasticity of demand and supply.
Buyers pay the entire tax only in the case of a perfectly elastic supply or perfectly inelastic
demand,

Gellers, pay the entire tax only in the case of a perfectly elastic demand or perfectly inelast @

supply o'(\’\0

XP
1. When Tax Burden is Equally 8hared Between Consumers and Sellers: o Q
IfPED = PES, the tax burden is ehared equally, This ig shown in the dlagramw& '\'\

. NS
Price that Pﬂrr o \)Qrbq,

consumers Tax paid by S, (After tax) Q ©
pays consumers

after tax

Per unit 37| 4\«\
tax = 34\ $6 i

$3 1
Price that
seller receive Tax'zmﬂb < ‘sg\
after tax o3 —>
0 40 66 Quantity

This rarely ever happens since elasticitios are rarely ever equal.
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2. When More Tax Burden is on Consumers

Price
Price that 0N Taxbl;a'd s (after tax
consumers pay consUMers S, (before tax)
after tax
$11=P1 DS Ay
Per unit _p ¥ b; \
tax = $3 $9=P, [
$8=P, ’i/ /‘
Price that sellers | Tax paid
ive after tax | _ b i D
receive aftertax [ _ .o | _,
0 5070 Quantity
3. When More Tax Burden is on Sellers
Price that l?r\nce S, (after tax)
rice tha
consumers pay | Tax paid by S.(before tax)
after tax consumers
E,

9=pP,
Per unit §B=P°“ b / E
tax = $6 / D
$3=P, £) a i
Price that sellers ) i 5
receive after tax 0 ¥ 50 70 Quantity
Tax paid by
sellers
4. When Entire Tax Burden is on Consumers @
— If demand is perfectly inelastic 0(‘,\0
Price ;

Price that ne & 0(0

consumers D, 0 ’\0
pay Tax paid by | S,(after tax) '\0 ,'\
k consumers S,(befor q/t\
R = R 0 (b
Per unit ’ Q C
tax = $4| o _
$5=P, ... g

Price that )

sellers

receive

- If supply is perfectly elastic
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Price
Price that T
consumers ,
pay Entire tax paid by consumers
¥7 S9=P £
Per unit [ $9=F j— Si(after tax)
- $7=P; f—s E, Sybefore tax)
Price that
sellers i
receive D,

—
© Q Q  Quantity

Entire Tax Burden is on Sellers

5
Price
A
gf:utﬁrs pay | Taxpaid by S’(aﬂersta()l())efore t
after tax\ sellers 0 ax)
E,
Per unit {$8=P0 171/ > o
tex = 5‘6(_ $4=p / A
Prioe_ that sellers :
receive after tax o Q Qq Qu an7\t|ty
| Demand Supply Tax In;:idence
Elastic Inefastic More tax burde; on sellers )
| Inelastic Elastic More tax burden on consumers :
. P_f,-decﬁ/ elastic - Whole tax burden :on sellers (\@0
L,f"f,’,"’,"’f{‘“"‘asm - Who]e tax burden on consumqf' 06\
- Perfectly elastic Whole tax burden on cozqs "N
- Perfectly inelastic Whole tax burden on )
4 Elesticity and subsidy benefits 609

Sbsidie - @
oo hfﬂ?;?yg{;%t:»eglv:& bly (tjhe gove:‘nment to firms to increase N ction and to reduce the
- I8 Is done so that consumers are able toév sities at cheaper pri
ces.
T¥985 of Bubsidies \il e

vg\
Specific sybs; % \Y\
P Me subsidy b b(\
valorem subsidy o ‘Q'b
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Unit )

Ad valorem Subsidy

Spocific Subsidy Forms a fixed percentage of the price of the

A fixed amount per unit |pr:$tu-0tthe cupply cury
ivotal shift in u e
Causos a parallel shift in the supply curve Causesap
Price Price
A A
; S, (before subsid
Per unit Pet;;cr;lt o ( y)
subsidy S, (before subsidy) su
S, (after specific S, (after S%et}lﬁc
subsidy) subsidy)
> —>
0 Quantity 0 Quantity
Price
Price that 4
sellers receive | Subsidy benefit S, (before subsidy)

S, (after specific
subsidy)

) 39

Per unit $7
subsidy = $4 N

(— $5 l/ NE
Price that Subsidy
consumers | penefit to i i
pay after Consumersi__

0 40 60 Quantity

— When subsidies increase, the costs of production decrease, and supply increases.
—  Per unit subsidy is the vertical distance from the new equilibrium to the old supply curv Q

e.
— Total subsidy expenditure by the government is calculated by multiplying per unit subsid&i\%\’g
new equilibrium quantity.

after subsidy o seller
a
N i

D

Q0
The benefit of a subsidy is also shared between sellers and buyers acc&ang PED
& PES—similar to tax incidence. N\ '\,'\
= y ] -
Demand Supply Subsidy befg
Elastic Inelastic More subsidy b&pAfT
Inelastic Elastic More subsidy penbfitia
consumersX ¢
Perfectly elastic - Whole &¢sidyQnefit to sellers
Perfectly inelastic - ZVhoum Q@V benefit to
- Perfectly elastic | Ubsidy benefit to

_ ners
- __Perfectly inelasti WOIe subsidy benefit to sellers

Similar to how tax incidence depends on the relativ e;?‘lgi:y of demand and supply, the distribution of
Subsidy benefits also depend on the relative elasticity ofdemand and supply. If the government is willing to

grant a subsidy for the welfare of consumers, it must consider the relative elasticity of demand and supply.
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( w pponovg 2 SIERGY K Bl g ”'vwrf\mﬁfeﬁamﬂedcmeafuer/
""‘4‘ v ¥V

s - - > 1 rrre ‘-ia‘;};, 'T‘a(' s
e ) WIS s awe OF irsinner welface Yoy er 6 Wi re gaif_./ SUCLESSE when
v T ~ A 4 K = ful hen

ree )t W witpsii, Qo SRR =t

” |M,pm,aﬂons of YED:
:ﬂcﬂ
P T R Y7 businesses ard for governments in
oV e 1Y ¢ RI7 ATV i 'j///:; a0l serfees In €:rr.e~rgf-q rmarxets fike China and India, for
'.'m,nd (3 s A W) (RN dettand trone Cats, Production changes need to OCLur to satisty
,: .,‘l 5 (

il g v v Mt A8 ress) Y NG Iess teads G scormenedate he increased demand.
',’e_,t: ‘
nis

. by satars derids et (fics and promaotional acth Jities they should undetake in
’ J ” ) ‘ ' v .
e ey et s3es a0 gt Ats et the econamy is moving towards a ooom, the general Jevel
i ,/ faig (e WL gretar i hasing rermal instead of cheag inferior goods. If the YED for a
S ; s yreatet s 1 e agstr s bl te rpected grow maore rapidly than consumer incomes.
s : / e saders SIS (A mttte ) preancting lusuries through attractive displays, advertising,
:'ﬂar.;:rf"/”"f“"" al atrtes Sinilan g, sellers should promote lugury items at the end of the year as
» 'ﬁﬂ‘nw bpasss are Al B g onented society of when crops are sold in an agrarian society. On
e"/;m b, et s sty aves towatds a slump (ie., a recession), sellers should promote goods
Um. "A e e sls a1 15l

) st IS 35 pepAe’s Incns levels are falling,

forecasting the future

A

practical Application of XED:

(s elastity ot detnsnd can bs helpful for sellers in making decisions regarding which goods should be
g isl) sl st (e s should b charged under different rmarket cond!tlons. For example, if the price
SAifles ses 1sa sellors should raalize that consumers will buy more tea; in order to encourage that, they
st It d imers protnetional activtios and advertiserments to increase their sales. Increases in the price
o ftes als, W stine s/tant, enable toa sellers to justify increasing the price of tea. The opposite would

e e vate of & decrsase in the prica of coffes: Now the tea seller must lower tea prices in order to stop
gmsutners i suitching their demand to coffes,

Lioss elasticity of detnand also helps sellers decide how and when to react to changes in the prices of
unglstnetitaty goods If cars are cheaper now, tyre sellers can take advantage of low car prices by
nsasing their salos of tyres through promotional packages, discounts, etc. On the other hand, an increase
e ptie of Lats will forse tyre manufacturers to reduce their price in order to match falling demand. Price
wis and special offers like 'huy one, got one free' can prevent sales from falling.

Companies are netsasingly conterned with trying to get consumers to buy not just one of th% @

il & wholes fiaryges o cornpletmentary ones, e.9., computer printers and cartridges. XED will§ se
DOMIAS il ates 111000t complementary and help a company introduce a pricing structure rates
016 eyeyie | o instance, markel resoarch may indicate that families spend most mp taurants
e st al el

b ate ulfered, aven though the PED for meals is low. In this case, fONSX e, the high
l'?!’lq"‘\fu Hoss elastivity bolweon meal prices and the demand for soft drinks (s psi Cola and
Mg Ma) 1neans thal although the revenue from food sales may fall, the soft drinks may
Mease 1 his i ates thal

I
B 188laant niay need (o Introduce & more sophisticated pricing structl‘r\e'@ Ioo@g at the relationships

16l Wiy

W“"':'“‘:;l‘jhn Uotnand for all products and sorvices offered. . {Q’ .

0f 4,,,“””'"" ‘W'T'lun ol Gross elasticity of demand, a firm can react effe b whEn the price of its substitutes
0016

i1y, thange. This way It can maximizo its profits by r x@venue and keeping costs to a

UMiTay &
'ONS OF THE CONCEPT OF EL%@'Y

e ygef, ¢
"‘:L"":ht Ql elastioity concepls Is restricted bw cﬁrng limitations:
1 N alwayn Basy-—or even possible—Ito RIc elasticities.

18 (al; . )
ang lt'l‘:h: headed for working out elasticlties MM come from past sales. This data might be old
narkel conditions m ght have changed since then.
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o oy e sing statistical samples
roducts, elpauliesegal g h l: forgns of market res.ean;:',n s cag
In the case of new p he same klnd of inaccuracie e - R

ey e STl eris paribus (i.e., only one variable chan a
Caliulahons of elasticities are based upon ceternis p \ bmel

it ici i ' e course of time.
- i?tset:q;?e“ﬁmial price change, the elasticity can easily vary with th

PAST PAPERS QUESTIONS

Types of Elasticity

2/a .
EJJs:T:ezcg:Zégtz o::/i(:com)e elasticity of demand to explain how a rise in incomes would affect the demang
for an inferior good and for a necessary good. 8
7/P22/Q3/a ) '

g(:l:; 2&1/ Iecono‘rlnists) use the concept of elasticity to distinguish between substitute goods and
complementary goods. 8]
(June 2016/P23/Q2/a) _ o

Explain how economists use the concept of elasticity to distinguish between normal and inferior goods and
between substitutes and complements, (8]
(Nov 2015/P21/Q2/a)

Explain, using the concept of income elasticity of demand, how a fall in incomes affects the demand for
inferior goods and necessary goods. [8]
(June 2015/P23/Q2/a)

With the help of diagrams, explain how economists use the concept of income elasticity of demand to
distinguish between inferior goods and necessity goods. . (8]
(June 2015/P22/Q2/a)

Explain how economists measure the way in which demand for a good changes when income changes
and, with the help of a diagram, show why some goods are classified as ‘inferior goods', 8]
(Nov 2014/P21/Q3/a)

Explain the factors that determine whether the price elasticity of demand for a product has a high value or
a low value. [08]

(Jun 2014/P21/Q2/a)

Explain whether you would expect the price elasticity of supply of an agricultural product, such as rice, in a
market to be elastic or inelastic, 8]
(Nov 2014/P22/Q3/a) (N
Explain why the value of income elasticity of demand for a good can be positive, negative or zgr ‘glk’e
value of its price elasticity of demand is most likely to be negative. Zﬁ\' 6 [08]
(June 2013/P23/Q3/a) 0 '\0

Expcljain, using economic analysis, how economists decide whether goods are substituté'g\?om lementary
Sl

(June 201 2/P23/Q3/a)
Explain how income elasticity of demand and cross elasticity of demand cangx.@&o classify different
[08]

types of goods.

(Nov 2010/P21/Q3/a) X ©

With reference to the relevant type of elasticity of demand explain w\ o

(|) inferior good, and ' ‘r\.@

(ii) complementary good. Q) Q\K\ [08]
(Nov 2001/a) [

Explain price elasticity of demand and income elasticity of @? ‘ 1ol
(Nov 2000/a) o\

:E;zl‘a’n: ggc;el :)lastncuty of demand, income elasttcltyQﬁFﬁ‘d and cross elasticity of demand. (10

Use the concept of elasticity to distinguish between a normal good and an inferior good.
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19998) o concepts of price elasticiyaydBasiCiHre com )
e’ een Come elasticit

g:ﬁngu.shgb:;‘: ity of d fand ty of demang. [10]

1 of price elasticily ot demand and income elasticity ¢
e e c°f;°"p‘5 Y ol demand. 110]
P 1996/a xplain and illustrate price elastici
er n1e aid of exargpﬁsa'n?i. P P ‘olty of demand, Cross-elasticity of demand ang
W'mn:e elasticlty of de [12)
Wov 1994/3) tefms
Wmfn%nglasticity of demand. (2)  cross-elasticity of demand o]
(! 94/a) . -
(Ju:!?n'::lc o elasticity of demand, income elasticity of demand and cross-elasticity of demang [12)
pla |

93/a) : -

(Ju::n':; ce elasticity of demand and income elasticity of demand. (10]
Exiv 1991/a)

Explain carefully the concepts of price elasticity of demand and cross-elasticity of demand, [10]

uses of Elasticity

(June 2017/P23/Q2/b)

(June 201 7/P22/Q3/b)

piscuss which measure of the different types of elasticity of demand is most useful for a business when

setting the price for its product. e
' (June 2016/P23/Q2/b)

" Discuss how knowledge of the differences between these types of goods (normal / inferior goods and

substitutes / complements) would help government policy makers and entrepreneurs to make
. decisions.

, [12]
.~ (Nov 2015/P2/Q2/a)

* Astudy estimates that dark chocolate has a price elasticity of demand of (-) 0.8 and that white chocolate

* hasaprice elasticity of demand of (-) 1.4, Explain how chocolate producers could change price to increases
. total revenue for each type of chocolate.,

8]
. (Nov 2015/P2/Q2/b) g
. Discuss the policies that businesses might adopt to maintain sales when incomes are falling

of Ao
cus N g1
which is most likely to be successful, @hz]

0
. (June 2015/P23/Q2/b) 0 '\0
| Discuss how, during a world-wide recession when incomes in most countries are falli nﬂnists might
. Use the concept of income elasticity of demand to assess the impact of this recessilo q/'\ (12]
-~ (June 201 5/P22/Q2/b)

Disc_uss how useful governments might find the concepts of price and incomga@S& of demand when
| Setting economic policy.

@ [12]
4 glinn 2014/P23/Q2/b) X0
co?\cl'jss why businesses might attempt to change the price elasﬁw‘?’gﬁand for their products and
Sider whether it is likely that they will be successful in their atte -‘\\\,
Q\

| [12]
g (?il:cv 2014/?21!Q3/b)

| o a2 | the price elasticity of demand
. e It is both possible and beneficial for a buslrbs‘b&hange P ty [12]
1 g§0v 2014IP221Q31b) o *0
~ Uiscygg whether

4 2buging " price elasticity of demand is a mo gf éncept than income elasticity of demand[ 11'3;
%8 that is trying to increase its sales revenue,
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Unit 3

P21/Q3/a of the flavours if it wants tg ;
Expran te priong poliy thal ine fim shoud adopt fr each i T
revenue. ()

/Q3/a . ight introduce a policy of raisi
(E‘:c:;; 2&?:(]/2'1:3?“ o)f demand, why a train compasny might Ng fareg at bus,
L . imes.
travel times and lowering fares at less busy travel tim [%’;

2/p21/Q3/a , in some countries the
lg‘i:l;;.zggng elasticity )of demand, the poss‘b,letrer?:ggrst why in & has bee, an
increased use of private transport instead of public tra . (0g)
June 2011/P23/Q2/b) - i neficial policy.
I(Discuss whether the payment of government subsidies to farmers is a be policy

(1)
(June 2011/P23/Q3/a) , i oods differs from that of ufact
Explain how and why the price elasticity of supply of agricultural g man reg

goods. (0g)

Nov 2007/Q/b) . : ; .
[()iscuss whether a firm's revenue would increase in response to price and income changes, if the Price

elasticity and income elasticity of demand for its product became highly elastic. [12)

(June 2006/Q2/a) , .- . )
Explain, with examples, the significance of the value of a good’s cross-elasticity of demand in relation to jtg

substitute and complements. (08)

(June 2004/b) ) . )

Discuss the usefulness to businesses of a knowledge of price elasticity of demand and income elasticity of
demand. (12
(June 2003/b) _

Discuss whether farmers will benefits from producing goods which have low price elasticities of demang
and supply. (12
(June 2001)

Discuss the extent to which price elasticities of demand and supply can be used to explain why

manufactured goods typically exhibit greater price stability than primary products. [25)
(Nov 2001/b)

A government is proposing to increase the tax on petrol. Examine the relevance of price elasticity of demand
and income elasticity of demand for this proposal. 18]

(Nov 1999/b)
Discuss how a knowledge of price elasticity and income elasticity might be of practical use to a %\4@

(June 1999/b) X %)
Discuss the usefulness of these concepts in predicting the likely future demand for 0 Q

(1) rice o P\’\

(2) restaurant meals, \" ., [15]
(Nov 1998/b) N\

of demand might be useful to g company sellin i

mobile t
(June 1996/b) ] plephones.
Assess the usefulness of

Explain how an understanding of price elasticity of demand, cross-elasticity of érzégikcome elasticitsyl
" “
these i i~ . '\
(i) new cars woneeptsin predicting the sales in Aué%“’ d Q

(ii) second-hand cars, (.} 15]
(Nov 1996/b) 4&“ |
A city bus company Proposes to redyc |ain
the likely effects of this? " Passengerfares, Wh%" Ohic concepts might be used 0 exP[13]
(June 1995/p) (o)

. ‘6
Discuss how an understandin )

i . g of price ici Q.u@ incomé
elasticity of demang might be of yse ‘t)o a Cgﬁis)ﬂ(t:étl}’m nd, cross-elasticity of demand and I [15]
amWacturer,
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9951!’) ce elasticity of demandmw%%%pmwe‘alectlure
(ﬂov(:ference 0 prIOOdS and services. www. megalocIiBEoml incron
h 0

1994700 recession in Europe to search for promising we
pom"“onh'bition in Dubai attracted top German designer names su
f xhi

Ng the genery| leve

alth new Markets, the

b PPIYING performarre - oTman L
00 er. The response to t‘he exhibition was extremely positive. (Gulf News r:;n’:::l;,:,l Siverwae e::u,;]
e ose terms be applied to the market for German Luxury goods and'( mber 147
oW wgast orn state) how might they be used to explain the s '

ge

given tha Dubai g

, uccess of the exhibition? arich
:{uune 1%2:;?,)1creased for both bread and air travel. Incomes also increased, Us; "
In 1c§pt5 analyze the likely effects of these increases on the consumption of tﬁeszr;\)?ot(?t?ci? ove clasticty
concer ' (15)

v 1992/d) . _

[(Eux:!:in why, with no government regulation, the prices of agricultural products might be

| ver,
nstable: ]

Jane 1992/b) 110

fyou had the task of promoting a holiday resort with its various attractions how far could these concepts
help you?

(13]
| (Nov 1991/b) .
| Using these concepts explain and comment on the strategies you would recommend for increasing the
sales revenue of a small business in your country. (15]
. (June 1991/b)

| Explain and comment on measures which might be taken to increase the revenue earned in your country
from foreign tourists.

(15]
peterminants of P.E.D & P.E.S
(June 2016/P22/Q3/a)

. Explain the meaning of price elasticity of demand and, using examples, outline the factors that would cause
. the demand for a good to be relatively price elastic.

: (8]
| (June 2016/P22/Q3/b)

= Discuss why entrepreneurs might want to change the price elasticity demand for their product and consider
the extent to which this is achievable.

2]
(March 2016/P22/Q3/a) (‘@ Q
Explain two factors that are likely to make the supply of a product relatively price inelastic. .\0 93\{81
(March 2016/P22/Q3/b) N

Discuss the policies that governments might use to increase the price elasticity of supply of m@goods.
and assess the likely effectiveness of such policies. N (12]
(Nov 2015/P22/Q2/a) A

Qstudy estimates that dark chocolate has a price elasticity of demand of (-) (@ ‘S? hite chocolate
c
(

asa price elasticity of demand of (-) 1.4. Explain how chocolate producers co price to increase
otal revenue for each type of chocolate.

) (8]
(EJu“9 201 5/P2/Q2/a) '\J KQ _ o8]
*Plain two factors that are likely to make the supply of a product r@&bé)ﬁbe Inlastc. [
Wune 2015/p2/Q2/1) :

chan eini 12]
9€In its price and assess the likely effectiveness of suc

A\

W ive to a
governments might attempt to make the supply m\‘enh‘cﬂ good more responsive [
(une 2006/Q2/b) 'B >

i e ) 12)
SCUSS Whether the demand for mobile (cell phones) is @q’m price-elastic or price-inelastic [
oy, 2004 108
Xplain the difference between elastic, inelastic an d supply.
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(b) Discuss whether the elasticity of supply of manufactured goods is likely to be greater thap, the olagt
oty

of supply of agricultural goods.

(June 2003/a) [12]

Explain what influences the price elasticity of supply of a product. "
J

(Nov 1992/a) .
With reference to the market for housing in your country, discuss whether.

-the demand for housing is price elastic or inelastic.

-housing is a normal or inferior good. 1
(June 1991) . (15)
(a) Is the foreign demand for holidays in your country income elastic? -
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a. Consumer ang producer Surplus

meanmg and significance

- how these.are affected b
ch
equilibrium price and quayntntyanges )

b. Government microeconomic
mterventlon

— taxes (direct and |nd|rect)
— subsidies
— maximum and mlnlmum prices
- = transfer payments ,
— direct provision of goods and services

c. Classification of goods and services

. — free goods, private goods (economic
:goods) and public goods | ‘

= — -~ merit goods and demerit goods as the
= outcome of lmperfect mformatlon by
consumers Byt

d natlonallsatlon and prlvatlzatlon
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UNIT 4 Government Microeconomic

CONSUMER SURPLUS

SnesTTET TMCTeT e
'\.\

Jne £

_ o == wilimz To T2y 3C T rCE Tat tey )
The difference between the maximum price COTSITEE = willrg A2y

P2y
EXAMPLE:

) - e & Wiling 1D D3y O Jven Quartites
The foliowing table shows the mzyimum ZToUTE 2 SIS

Wz wiling © 22y
100

Quanity

-

-

oo

-

-~

NN

ot

—_

£J

()]

. M ~ b 1 T e qpn e i~ 14 -
Suppose the consumers buys ‘4" uniis 21 Ihe po 330 each. VWhat will be ther consumer surius:

(i) for 4’ units
(ii) of the "4 unit?

- Consumer | Total
. willingness to Price in h | 1o consumer
| Quantity | pay §s surp '“:n?tf S| surplus
{ | |
L1 100 20 100-30=+70 | 70 ‘g
2 | 80 30 | 80-30=+50 70+50=120 }
3| 50 | 20 | 50-30=+20 70+50+20=140
4 20 |30 30-30=0 70+50+20+0=140
G 20 30 - - i
| o’
(i) CONSUMER SURPLUS FOR FOUR UNITS: \,\00
Willingness to pay = 100 + 80 + 50 + 30 = 260 oo'\?\
Actual expenditure = 4 % 30 = 120 \o\\ N
Consumer surplus = 260 - 120 = 140 \) O(bq/
(i) CONSUMER SURPLUS FOR THE FOURTH UNIT: Q ®

Willingness to pay = 30
Actual expenditure = 30

N
Consumer surplus =30-30=0 ‘() \‘\K
O
= Consumer surplus can never be negative ob 006
Graphically 4

The height of the demand curve measures hot ch buyers in the market value each unit

Total area below the demand curve up to a certain quantity shows the willingness to pay-
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A

Willingness to pay

Actual consumer expendityre

D,

Q, Quantity 0 Q,
The price indicates the amount they actually pay for each unit.

The area quantified as price multiplied by.quantity represents actual consumer expenditure.
The difference between these two—the triangular area below the demand curve but above the
price paid—is a measure of the total consumer surplus up to a given quantity.

Price Price
A A

|

Quantitr

Consumer surplus Consumer surplus

P, ...‘ :

Do

) Q, Quantity' @) Quantity
| DETERMINANTS OF CONSUMER SURPLUS <\@0
3) PRICE: _ ) 0 @/\
As the price of the product decreases, consumer surplus increases. ,\'\ 0

P| — CS?t \
Pt — CS| '\/
Price \Son_-,q/
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Unit 4

TY OF DEMAND: is ig i
b) PRICE ELASTIC greater the consumer surplus. This is illustrated in the

The more inelastic the demand CcUrve, the

following diagrams. __——
~ pep [ Consumer SUPRE. |
Elastic aFEoPo Pri
Inelastic nEoPo
Perfectly Elastic Zero
perfectly Inelastic Infinity D (Elastic)

D,(Inelastic)

(0] Qu Quantity g

?"w Price D, (Perfectly Inelstic)

i Irfinte
(8| Corsumer surplus
Po E D, (Pefectly P, o E,
Elasic)

0] Q, Quantity‘> 0 Q, Quantity >
PRODUCER SURPLUS: (‘?\0
It is the difference between the minimum amount that the sellers are willing to accept for thegﬁgé@ of

O

the product and what they actually receive through the market. N\
Producer surplus is not the same as profit. \\0 ,'\
Producer surplus represents the gains received by all parties connected to the pro 0 ’7‘a good (sueh
as raw-material suppliers, workers, landlords, etc.). Profit, however, is only regey % owners o e
firm producing the good. Q @

¢ Cé&fm— the given quant|tle$.
xQ

The following table shows the minimum amounts that sellers are willi (&a
Suppose the market price is $70; producer surplus will be: & .

Quantity Willingness to Price in | Producer each Total producﬂf
accept $'s ﬁ\m surplus

; = 70 _Q@-©=40 40

3 50 70 4%20:30 40+30=70

2 20 70 05020 _ 20+30+20=%0

5 20 70 S*70-60=10_ 20+30+20* 102150
70 70—70-0 20+30+20+10*
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[Of the
ach un t

a beloaccep‘ for that given quantity.

‘ (‘Willmg to accept

LY

L

B Q. Quantity

Price

Producer surplus S,

—

Quantity "

Q,

0

DETERMINANTS OF PRODUCER SURPLUS
¢) PRICE:

As the price of the product increases, producer surplus increases.
P1 — PS]
P| — PS|

Price

Price
A

o)

ice indicates the amount the seller actually receives for each unit.
r ntified by price multiplied by quantity represents the actual revenue received by the

supply curve measures the minimum amount the seller is willing to accept in the

w| t'he supply curve up to a certain quantity shows the minimum amount that the

Q, Quantity

Price

1 !

Producer surplus g
0

5
>

between these two—the triangular area above the supply curve but below the
ed—is a measure of the total producer surplus up to a given quantity.

Q,

utub
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~Price 7 ’@E—E’T.S_ urplus
. =
— .op(‘) — - bE|P1 .
LY :
d) PRICE ELASTICITY OF SUPP oducer surplus. This is shown
Tr)we more inelastic the supply curve, the greater the pr N the .
diagrams. brice
7 s,(Inelastic)
S,(Elastic)
PES Producer Surplus
Elastic bEoPo
Inelastic 0bPoEor
[ Perfectly Elastic zero o . ) Quamity"

In case perfectly elastic duply producer surplus will be zero and in case of perfectly inelastic it will be equal
to total consumer expendture.

Price Price
3
t 1 S, (Perfectly inelastic)
Producer surplus = Zero
E S, (Perfectl
P n v y
’ H Elastic) P | E
) I
ii| Producer sumplus
0 Q, Quantity ” —> @

Quantity <\ Q
. RA
TOTAL SURPLUS: MO

Pwrhice \\C/ /’\

Consumer surplus \30 q/
QO

Producer P,
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stuabon where net social welfare ig maximize
o .
T g supply curve reflects Pmducers opportunity cost. Each Point along the g, | .
., ~rum pnce for which the units of a gooqg could be prodyceq Without PPy curve Indicateg
-~ o other third parties are affected by the al
hssJT

; ; 0SS to the sell

. Production of thig 00d, t . = Seller,
presents the opportunity cost to society of producing ar?d se'lli: eThthe height of the
son pont 300G the demand curve indicates how con 9 the good,

= 2

: Sumers value an extra
. ws maomum amount the consumer is willing to p

unit of the gogg—
: ay for the extra unit, Again, ass : i
arties zre affected | the height of the demand

uming that no
frer U ) Curve represents the benef
ers o 2nd s2lling the good.

itto society of
1y trre e consumer's valuation of a unit (the benefit)

Arg e unit 15 consistent with economic efficiency. T

exceeds the producer's opportunity cost
GBS

he trade will result in mutual gain to both
proy trree e consumer's valuation of a unit (the benefit) is less than the
st wEing the unit is not consistent with eco

producer's Opportunity
nomic efficiency. The trade wi
ez $or boAn parties,

Il not result in a mutual
174 .

i oty e ugers and sellers are affected by production and exc
pherda Aty guade a marvet toward an equilibrium level of output where all units that create more benefit
‘o v s vsluztion shonn by the height of the demand cury

e) than cost (opportunity cost of production
yow uf e hevgnt of the supply curve) are produced, This maximizes the total gains from trade—the
gow !
gritess e 1epresented by consumer and producer surplus,

hange, competitive market forces wil

Government Microeconomic intervention

}
Financia Intervention

Price Controls
| Taxes Subsidies ‘ |
y _
Maximum Minimgm
' Price Limit Price Lim
fm:,: '”'Jll‘)f,‘ .
Tarss lazes (\L@. |
oF teed
hase By Guaran
By Law %St ﬁ::lgz Price Scheme
o
Pl o
NANCIAL INTERVENTION: o
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t subsidies, involving a direct payment by y,
L'Jmers less than it should be: Tygncally, SUbSiding
and that might not be provided in a free Markey
the case of staple food products ang Public
from low-income families,

subject to high rates of indirect taxat'ion. By ;Or::l(;if;
government to a producer, make the pncg paid by e
are paid for goods and services that benefit th'e con;Sid L
These payments can be in the form of a partial su ) f)é.r fidred
transport, or total, as in the case of free school meals

Taxes — direct and indirect

ivi izations by the
A tax can be defined as a compulsory levy on private individuals and organizations by the government 1,
e revenuedto i i ervices.
raise revenue to finance expenditure on public goods and s

Canons of Taxation

. : - anons
Adam Smith, the leading classical economist, set out his S0 called ¢
‘good' tax is one that is: 4 to should pay more
¢ Equitable—those who can afford to shou )
Egonomic—the revenue should be greater than the costs of collection

¢ .
» Transparent—tax payers should know exactly what they are paying
» Convenient—it should be easy to pay.

of taxation. These state that 5

Tax Systems

, . ; ts should be aware of the impact
In collecting taxes and in the development of taxation system§. governments st 4 ! pac
a tax has cSqn the various income groups in the economy. This is entirely consistent with the equity aspect
of the canons of taxation.

The relationship between taxation and income varies for different types of tax. Three relationships can be
identified: progressive, regressive, and proportional. The significance of lhIS. classification is important from
the standpoint of equity. As incomes increase, people clearly pay more tax in absolute terms; what is more
relevant is the percentage of income paid in tax.

Progressive Tax Proportional Tax Regressive Tax

Progressive taxes are those A proportional lax:fs anein which Regressive t th
thatgwhen income rises, the increases in income are mached thaEt, as in:o:'t);ersiszr: thse)se
proportion of total income paid Py proportlonally‘eq_ual nereases proportion of total inclong\qg
in taxes increases in the amount paid in tax. The tax id in tax fall A

' rate is, therefore, constant. PEIc i tax Taks. '\o &)
Ina p_rogressive tax system the | In a proportional tax system the In a regressive t@;
marginal rate will be greater marginal rate will be equal to the the margin @wﬂkb
th'an thg average rate and ART | average rate and both ART and lesser th ’rage rate
will be rising, resulting in a MRT will be constant; therefore, and alling
more equal distribution of there will be no effect on overall res i Qmore unequal
income. distribution of income, d'yyibum of income.
E.g. Income tax E.g: VAT and GST H .E?\@rofessionals tax in

Istan
O
b(\
o s
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o pehIve Tx
Progre® \
.
e PLOPONION A N\
Tax \\\
Regressiva Tax
’ - PR ’ S—
Income O |fW””'_' 0 W,mn:
' Examplo Example -
W,":oo Y= 1099 Y1 =1000
Yi Tan s 10% Bpto of Tax = 10% Rate of Tax = 10%
Ra“ju-vv'\l‘" $100 l'ax Ravenue = $100 Tax Revenue = $100
axne ‘ 7= y Y
3(1 ¢ 2000 Y/~$2900 Y2 =3 2000
| R; ol Tax® 16% Rate of Tax = 10% Rate of Tax = 8%
l‘w revenue = $ 300 Tax Revenue = $ 200 Tax Revenue = $ 160

L
The avorage r
All forms

ato of taxation (ART) is defined as the average percentage of total income that is paid in
of taxation are included in the calculation, It is dearly more equitable for the poorest income

[axeo ,
groups (o have a low average tax rate, by contrast, higher earners should have a higher average tax rate.
' - Tax
ART 22l 1100
Income

The marginal rate of taxation (MRT) is different, It signifies the proportion of an increase in income which
i paid in taxes to the government. In a progressive tax system the marginal rate will be greater than the
average rate resulling in a more aqual distribution of Income.

Change InTax

MRT - %100
Chango in Income

Typos of Taxes

indiroct Taxes

Direct Taxos
Those taxes which are levied on individuals' and

Those taxes which are levied on expen

fims' incomes and wealth and for which the | goods and services and for which th n
| burden can't be passed on to othors, be passed on to consumers. € S
Eg., Eg., '\0 N

Income tax general salos tax ((a

woalth tax

corporation tax
Inheritance tax
copital gain tax

Advantagos

Rovonue:

1
1 llr: fgovernment collects revenue from direct
08 for ity spending on Infrastructure such as

the building ¢
g of 1t
8 bule g of roads, hospitals, airports, etc.

au
2| ™horitios can plan thelr exponditures for th

“oming y;
i on the ro om
MO ey venue they expect fr

MEG

A

motor vehiclgata

'\l
value added ta rbq/
tariff/custom d bOQ

(

* 0

Disadvantagos

N
“)b(\“x& -

[ ——————

the coming year, therelore,
oty v t be far below

R ) wﬁmqﬁﬁ°”“ﬁﬁﬁa s linked to
) . n
Vonua from direct taxes s certaln and utul#ﬂ ‘l{&\nu colloction from indirect taxes 18 y

iMks cortainty. Actualrevenue migh

or far above expoctations.
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Direct taxes are usually progressive In nature—

the rate of taxation nses with increases In
ncome. Therefore, more t3x IS collected from
‘he nch. and the poor are exempted fromincome
tax payments. Even if the poor earn below 2
certain level, they might be subsidized by the
government. Direct taxes, therefore, reduce
inequality (the gap between the rich and poor).

"Deflationary in Nature

increased direct taxes (e.g., income tax) reduce
discosable income and, therefore, reduce
spending in the economy. Lower aggregate

demand will bring the price level down, thus

reducing inflationary pressure.

No Tax Burden
The burden of direct taxes cannot be passed

over to others —

According to ability to pay

Not Avoidable
Anycne who eams an income beyond the tax-

axempted level (e.g., Rs.150,000 per annum in
Sakistan in 2006) has to pay income tax. It
cannot be avoided.

Disadvantages

Expensive to collect:

High cost of collection, keeping records, pursuit

ome from Poor to Rich
Indirect taxes are usually reqressive in naty,

as Income rises, the rate of tazation 1' |ﬁ'
Therefore, the poor bears a greater burdeyr, (,f"rrl's
tax than the rich. The poor become pouoe, 0
the rich become iCher in a EGIEBsIVe tay gy,
so, inequalities /disparities between the rep, mr(»l,
poor increase in a system of indirect tazation )

rRedmtribute Inc

aref

Inflationary in Nature
Indirect taxes (€.g., GST) usually form part of s,

price of a product. Therefore, any increase |
indirect taxes will increase the prices of goods
causing inflation in the economy. '

— ]

Tax Burden
The burden of indirect taxes can be passed i

consumers in the form of higher prices,
Not according to ability to pay ]
J

| ot
Avoidable
Anyone who does not buy a product will not pay |

the tax on that product. Therefore, indirect taxes F
are avoidable. |

Advantages

Cheaper to collect from a company that might
charge it to consumers by raising their product's ‘

price.

of cefaulters, etc.

Discourage Savings

Do not discourage savings

s o neome = Ydl=Cl. S

" Disincentive to Enterprise

-

gl

| 3.

taxable limit will not pay income tax.

Narrow Tax base
Direct taxes nave a very namow tax base. Very

tew people fall in the tax net of direct taxes; for
exarmple, income taxes areé only levied on those
who are eitner employed or running 2 business,
and earning 2an income beyond the tax-
exerrpted level. Those of old 2ge, children, |
nousewives, and the unemployed, along with
pecple who are earning pelow the minimum

Wider Tax base.
Since these taxes are levied on goods
services, all people will pay them, irres

i

|

5/

their age, sex, and income. -
asq Eg@ y

Indirect taxes have a far wider b
taxes.
N

5

-

Disincentive to work
Direct taxes (e.g., income tax) discourage work.
Tris is Lecause they reduce the willingness and |
rrertiies of workers to work overtime because
5 mapr part of their extra income would be
denucted as tas

NN |
'efb' y |
No Disincentive to f\o
okt and services, D/ |

As indirect taxes ar g
do not discourag%
{* O

__-—’/

Seritar o “deincentive to work”, direct taxes
dncnage businessmen from putting in their
rest efforts into ther worr.

N\

6 | Can’t be Used to Discourage Demerit Good

umption.

LE

meg

MEG
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not piscourage Imports Directly W o UES I e lszL
o sub l:t O switch their y TR
; Slitutes ., balance of .. demand 4, oea |
be correctag PO payments gop, A |
- decisions to take regardi L A ey ey |
" ents have deci axe regarding their tax regimes, e i |
:oe’ﬂ ce between direct and indirect taxes. A trend in many e MOost importang being ap e
b3l (om indirect taxes on expenditure since thege daniy Sfueflblonbomnes has bee %?har th'mm the
Nenues ‘ i i a . 2t incregs
o€ " nd corruption, and do not interfere with the work in Y/ D€ collecteq quickly, are, fes "l‘;?!jn:
0 255 ity 1

- » . . vet nies that -
272§ mddle-income eamers. This is particularly the cage o ™ ONe that tat are

. Wil not pe
oW : - : Case in developin LDE well-ikad
:}efe 115 easier 1o levy indirect rather than direct taxes as a means of estgblghziigg :merglng ECONGMies
e ) SeCure tay reqgime
rposes of taxation 'ax regime.
pu

To collect revenue

 collect revenue for_ the government developed countri

1 atries depend mainly on indirect taxes.

wu'ro redistribute income

2 The government ca? redu;}:e income inequality in four ways:

Progressive tax system whereby the higher the inco : . _

_ Higher indirect taxes on luxuries (e.g., cars and quu(;rr'f earned, the higher the taxes paid.

_ Higher indirect taxes on luxuries (e.g., cars and liquor

- Negative income tax (only in the United States and

less than the minimum level of income, the gove
subsistence-level income. Itis an income maintena
level of income.

3. To combat inflation .

This is done by imposing higher direct taxes, especially income tax, which will cause disposable income to

fall. When this happens, demand pull inflation will fall, thereby controlling inflation.

Note: Indirect taxes will only worsen inflation because prices will be increased by such a tax.

4. Tocorrect an adverse balance of payments

By imposing tariffs, the price of the imported good will rise and (assuming demand is elastic) this will cause
afallin demand for the imported good.

es depend mainly on direct taxes while developing

the United Kingdom). If the household earmns
rnment gives a subsidy so that they have a
nce scheme. The amount paid is related to the

5. To check consumption of goods which are considered undesirable
An example is high indirect taxes on cigarettes and liquor.

6. To protect local/infant industries ‘ , , c’\lo
By imposing higher custom duties on imported goods. This causes the prices of imported gooiszggy d
OO

(assuming that demand is elastic), therefore, demand for imported goods will fall.

N
EFFECTS OF AN INDIRECT TAX ON CONSUMERS, ss@kﬁs, THE
GOVERNMENT, AND EFFICIENCY: Q‘)Orbq/

) ©

X
S,(before tax)&(\ O‘g
&
© D

Price S, (after tax)

P 3 e Dead t l
ol i 0@'
P' gy £} .(
D,
Quanlllv'
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o ax | fter Tax
Before Tax After
-+
Supply curve _’___—0,_,_,/—_,_6;1_————
Price that consumer pays | OPo | . /____OPZ
Price that sellers receive | OPo — e
Quantity traded 0Qo oo E
Consumer surplus a Po Eo
Producer surplus b Po Eo bP2c
—_ | Eic
Per unit tax -
- P1E1cP2
Total tax revenue s
Reduction in consumer surplus - P1 Es :OP 0
Reduction in production surplus - PoEoC Zf
Tax from consumer surplus - Po P1 Es
Tax from production surplus - Pofc Pz
Dead weight loss - EscEo=(E1 fEo+fcEo)

The above diagram illustrates the effects of the imposition of an indirect tax. The initial dem.a.nd'curve is Do,
supply curve is So, and old equilibrium point is Eo (with old equilibrium price Po and old equilibrium quantity
Qo). The triangular area that is below the demand curve but above old equilibrium price Po represents the
old consumer surplus (aPoEo). The area above the old supply curve So but below old equilibrium price
quantifies the producer surplus (bPoEg). The amount per unit that the consumers pay and the sellers receive
for the good is Po. As the indirect tax is imposed, the costs of production for suppliers increase, causing the
supply curve to shift leftwards to S;. decreasing the quantities that suppliers are willing to sell for every
given price. The new equilibrium point is E1 (with new equilibrium price P1 and new equilibrium quantity Q).
As can be observed, the equilibrium price increased, but the equilibrium quantity decreased. The
consumers now pay a higher price of P1 per unit. However, at a quantity of Q, the producers receive an
amount of P2 per unit (as determined by the price per unit charged for quantity Qo according to the oid
supply curve So). The new consumer surplus is aP1E1; so, the reduction in consumer surplus is represented
by the area P1E1EoPo. The new producer surplus is bPzc; so, the reduction in producer surpl@ is
represented by the area PoEocP2. The tax per unit is the vertical difference between the supply c@;‘?
this case, that would be the difference between OP1 and OP2, which is Esc. The total tax r ve@ fQ‘r)

government is calculated as (tax per unit x new equilibrium quantity). Thus, total tax reven e\a tified

by the rectangular area P+E1cP2. Part of this rectangular area which lies above new equA(MT] price P1
represents the burden of the tax on the consumer (PoP1Eif), whereas the part of it whi low the new
equilibrium price P1 represents the burden of the tax on the producer (PofcP2). Th lar area E1CEo
represents the dead weight loss due to the imposition of the indirect tax. It i to note that the
deadweight loss comprises of a loss in consumer surplus of E+fEo and a lo r@cer surplus of fcEo.

The burden of the tax incidence is being shared between consum roducers. However, the
distribution of that burden depends on the price elasticities of dema >s ﬁ
@o

.

Subsidies (o 4’\&\

. o
A_nother form of government intervention in the market is a}he provision of subsidies. Thesé are
direct payments made by governments to the produce and services. When paid to a producef.
a subsidy has the opposite effect of an indirect tax équivalent ofa f;;1| in costs for the

and results in a rightward shift in the market s
u ion i i ' 2
shift to the left in the supply curve. Pelv e e e _——
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0economie Inlervenhon

of <Ub5'dy
Mﬁ' o the market prices of essential goods
o k2EF Lreater consumption of merit goods s lo contribute to a more equitab|
ltable distriyt;
on

~rage ¥

o 06T anvices that would not be provided by the free market
o O ucefs income, especially in the case of farmers

‘ is€ m
w0 n,, i opportunity for exporters to sell more goods
, K dence on imports by paying subsidi m
Lce depen g subsidies to domestic pr
e producers of close

TS THE PROVISION OF A SUBSIDY ON CONSUMERS, SELLERS,
i gmmﬁ'” AND EFFICIENCY: THE
entnormally intervenes in a market if it senses that the equilibrium price and i ;
chanlsm has resulted in a misallocation of resources. A subsfc)Jy is a pa?;r‘:;t]'tty r::;:rgwlr:sd
a firm or household. In most cases, these payments are made to a firm to reduce theycose;

ital it employs.

A
2‘ e b0V Or capi
‘ Price
A Addition in
producer surplus S
0
a 4 51
Dead

Weight
Loss

Addition
consumer

surplus
D,
O- Q Q Quantity'
Before Subsidy | After Subsidy @
Supply curve So :S1 0(‘,\0
Price that consumer pays : OPo OP1 )000@
Price that sellers receive OPo. OP2 00 N
. ) B \'\ N
Quantity traded ) 0Qo _ Oat NN
Consumer surplus aPoEo aP1E: )c,brl/
Producer surplus’ pPoEo bgi@—
Per unit Subsidy @1
Subsidy expenditure

Addition in consumer surplus
Addition in production surplus

Dead weight | loss

T

Nhﬁb?mrevg'agsf’am illustrates the effects of the pro
Q). is So, and old equilibrium pomt is o d old P
hemangmar e L e ares demancne ﬁup?n?; \c/;% o eq “Lllttmbue op old equi ibrium price

onsumer surpl ove the ol
Ufies th oduce (aPOEO) gg:Ei)re?haet;mount per unit that the consumers pay and the

is Do,
‘a subsudy The mntlal demand curveuﬂnm
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. : roduction for suppliers decrease, cayg;
for the good 15 Po. s the subisidy. s provices [hetﬁoesgsugaﬁties that suppliers are willing to se|| fornegvtehe
1

supply curve to shift rightwards to S, increasing equilibrium price P and new equilibrium quantity iy ¢

. ! librium pointis E1 (with new ant 1oriL Qi)
%ls:’ega%”%ee 101t)csg?vv;§,qw1le “;(;uiﬁbrium price decreased, but the equilibrium quantity increaseq Th

consumers now pay a lower price of Py per unit. HOW?‘(’J?:& ?h:rggg"fgt,y qﬁa%;ii;héop;zggfsiﬁgr?oc ?’i]v;z aln
amount of P2 per unit (as determined by the p”[CD?Eﬁ(;aso, the addition to consumer surplus is fepfesent%d

I .Th onsumer surplus is a ot ;
E;?ﬁeyacr:ravg‘s on) EoP: ?ﬁ\g lfew producer gurplus is bP2C; SO, the adgltsfr;:enn%oedgsg{) l?(u(rzﬂlrl:rse lss lrr?’t)r?sented
by the area PoEocP. The subsidy per unitis the veglcadvﬂzggrgﬂgceme total subsidy eXpenHRUrelsf ocratsh ’
that would be the difference between OP1 and OP2, ibrium quantity). Thus, subsidy expendityre ig

overnment is calculated as (subsidy per unit x new equil X
guantified by the rectangular a(rea P%fr):Pz. The triangular area EicEorepresents the dead weight losg due

to the provision of the subsidy. o

Itis clear that both consumer and producer surpluses will be lmpalcted by §qb3|d|z;?g ctihe good. However,
the extent to which each will be affected depends on the respective eIas_thlty of the emand and Supply
curve. The more inelastic the demand curve, the greater the consumer's gain from a subsidy. V\_fhen derpand
is perfectly inelastic the consumer gains most of the benefit from the subsidy, Slﬂcetrt‘he entire subsidy jg
passed onto the consumer through a lower price. When demand is relatively elastic, . ti main effect of the
subsidy is to increase the equilibrium quantity traded rather than to lower the marke price. The _above
diagrams show the impacts on prices and the respective surpluses of both agents when price elasticity of
demand differs.

Advantages:

The benefits of subsidizing goods are vast. . .

* The obvious benefit is that subsidizing the good reduces the price of the good, all_owmg ‘more
consumers to be able to afford the good or service. Moreover, if the good is a necessity, as in the
case of most agricultural goods, then it is mandatory for the gevernment to ensure that the good is
available to most citizens. Subsidizing those particular agricultural goods will raise the standard of
living for lower-tier consumers. o _

*  Producers of agricultural commodities are likely to benefit from subsidies as well. They are likely to
earn higher revenue, as government payments to firms are likely to increase. Farmers or other
people employed in the agricultural sector are likely to earn little income without the government
incentivizing them through subsidies.

» Subsidies also support lower-income groups, allowing them to afford basic necessities which
they would otherwise not be able to. _

* Also, if a country imports agricultural goods, subsidizing local producers would help them compete
with foreign competitors and, thus, would also benefit the balance of payments of the co Q

Disadvantages: \"\0 Q)

While farm subsidies may have benefits, such as stabilizing the agricultural deveiopment & p\@on the
potential negatives of farm subsidies should be taken into consideration as well. X7, N
e Critics of farm subsidies argue that they drive down international pglg\ﬁ \fo(’agricultural

products, causing or exacerbating poverty in countries struggling to es strong export
economy.

» They (export subsidies) may also encourage inefficiency b causirg IMhs to rely more on
subsidies than on efficient cost-reducing techniques that will gel&t?n a bigger %roﬁt .The

farmers would still receive the subsidy offered by the go ; ;
produce reaps no profits. y y he governme C;(QB though their agricultural

» Fam subsidies also control the normal market cycle. Raia@. @mes while prices are rising
Ca 1

will eventually raise commercial and industrial co :
= A ’ [
competitiveness in the international market. % the final products to lose their

* Itis not only interfering wit i ; .
impliwtionz. g with the workings of the mbe}(} ﬁchamsm but has opportunity cost
* Another problem is that subsidies are so-calledﬁfﬁaebr lum

on consumers, cannot easily be linked to Q:‘@hnd the agi?iltlymtg ?)yar;ents St
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er P ts from tax revenue that are received by certain member :

s men s of the com

ﬂ’ﬂ ents ?re pctivitY They are .notlmade th(ough the markgt, as no production takes placg1 UL?LZ
rpaY roductlon a tem their function is to provide a more equitable distribution of income. The. Lk
P sys rOl'Jps such as the elderly, the disabled, the unemployed and the very poor

<fer income from those able to work and pay taxes to those unable to work or in neeqd
n

nsions

o4 age| Pement penefits M housing allowances a food coupons
P

- . nsfer payments can be paid is heavily dependent on how much tax is collected and
went 0 which {r aid tax. In developing economies this is affected by all sorts of problems. Pakistan
, ople haveg ulation, yetithas a low tax base. Pension and social security coverage is limited

many P :
"oa: arn g0 in e:;ctisrf‘!a/n% gwerefore only covers a small percentage of the population
M | se

p forma

, necessany

overty . _
st table distribution of income.

to protect the most vulnerable groups in the community.

,  more equi

Disadvantages - -
sincentive to accepting work, so Increasing the unemployment rate

adi JOTR,
e e economy is less than it might be

. outputinth
. inefficiency

PRICE CONTROLS:

The government can control market pric?es by_:.
- Setting maximum price limit (price ceiling)

- Setting minimum price limit (price floor) @
—— RS
1. Maximum price limit (price ceiling). \.' 003
Objective: 0 ,\0

' N ities that
To protect consumers from exploitation by sellers. _Usuglly. in Lhe c:;(e oM%nredme
are necessities, the government sets a maximum price limit in the m o

)
| The effects of a maximum price limit: Q

: {
' ' it, it will be
= Aslong as the market price is below or equal to the maxm};q'&{@e imit, itw

neffective and the government will not interfere in the .
- ; Lk ent takes
Ifthe market price tends to cross the maximum price B governm

administrative actions to make it effective. Co Q

youtube.com/megalecture

MEGA LECTURE


www.youtube.com/megalecture

o D 4 |

Online Classes : Megalecture@gmail.com o .
Unit 4 www.youtube.com/m&dalecture OVEInMENT MICroeconomic intenveng,,

www.megalecture.com

Price Price
4 A
S
P \ /
po .............................. Eo
D i :
0 Q, Quantit; 0 Q, Quantity 0 Q Q Quantity
(Not Effective) (Not Effective) (Effective)
The effects of an effective maximum price limit:
Price
A
a
/ )
Consumer S
Total Consumer]  surplus Welfare loss
Surplus after { Producer surplus
pnce mlllng tranSferrEd tO P ...........
consumers | " NE
\ Prac : Effective maximum
Producer surplus price limit(Price ceiling) ‘
after price ceiling : b ;
0 Q QG & Quantity
|
Shortage !

Before effective After effectiv (‘A o
maximum price limit | maximum pr'@@ggk

Price that consumer pays and sellers receive OPg OP
Quantity demanded (Qq) 0Qo R N

Quantity supplied (Qs) OQo \Q\?}g\

Shortage . ) @%gh

Quantity traded 0Qo 0 0Q
Consumer expenditure=Sellers revenue (TR) O PoEoQo ,\.& A 0 Prmax gQ1
Consumer Surplus aPoEo \¢™ O°~  aPmagk
Producer Surplus b Po‘Eﬁ xY b Pmaxg
Producer surplus converted to consumer Q) R\ .

surplus a0 PojgPmax )
Dead weight loss :: B i - ®“0 kg:Eoi

¢\
The above diagram illustrates the effects of the imSEam; i ' i demand
) s ects of an effective maximum price. The ,
curve is D, supply curve is S, and equilibrium point is EoRWith equilibrium price Po and equilibrium quanhtz
Qo). The triangular area that is below the demand curve but above old equilibrium price Po represents "
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PoEo). The area above the oid 8Upply curve gy t tb
20 Du

vl )llJS (a
lus (bPoEo). Originally, the amount per unit that tp

f‘sumc ‘)mducor sUly olow ol ¢

quilibriym price

42 gthe ood 1s Po. As the maximum price i @ co

o s " for the . price limitis imposeq { Nsumers ra,

2" acelve creases to Pmax. (Note tha  the new price Pay anqg |

{ ¢ decreas max. tthe equilibrium price remaing “"Elhlan l:;at Consumerg, 2?

s eceive .
@ ors 1€ rced o be Pmax Or lower.) At the maximum price Prmar, the qua ity dore . It just g1 o
and

58' e
M o price IZ tity that sellers are willing to supply decreases to Q;. edincreaseg 1,

W gme Qe i « The dif

hed e of stock to satisfy effective d dilterence betw
9 s the SNONS | emand. The quantity tra €6n Qs ang Q, of
fu revf‘;;e,':ew consumer surplus is al Pmaxgk. The new producer surplus is g pmsgd%t::refore, is only o qu;
o0 Tconverted to consumer surp ltJ: acs; a result of the price ceiling is represented b atr;]lount of producer
0 pgular ared K9 Eorepresents the dead weight loss due to the imposition of the zric: ceilng " ™
e lling.
Mvaﬂ"ges:

seofhe people will get the product at a lower price.
Y
pisadvantages’

ghortages and plack markets will develop.
1 e e quantty demanded will exceed quantity supplied, some people will not be able to buy the

it Frustrated by the shortage, consumers will make under-the-table (black market) payments to
gecure their purchases.

7 The future supply will decline.
e below-equilibrium price will discourage entrepreneurs from producing the product, and private

nvestment will flow elsewhere.

3. The quality will deteriorate. |
' When producers are not allowed to raise their prices, they will use quality reductions to incur lower costs.

Eentually, the quality of the product will reflect the controlled price. A cheaper product will be of inferior
quality to an expensive one.

| 4 Non-price methods of rationing will become more important.
Because price no longer rations (distributes) the goods, other forms of competition will develop. Sellers will

Ti*fayor.friends, people of influence, and relatives, etc.
 Discrimination will become more prevalent in the rationing process.

2 Minimum price limit (price floor). C?\Q
-0

Objective:
Sometimes the prices are adjusted too low to benefit the suppliers of the product, so the ﬁ mﬂgnt fles\::
age la

be need to interfere i ing mini i hrough u
: ere in the market by setting minimum prices—or example, through KM :
"o agricuttural products. The government imposes price floors in an effort to artlﬂcm@l Buse the prices

batfarmers receive. Q \) O(b
©

' Th

¢ effects of a minimum price limit:

' As - . @ ill be ineffective and the
long as the market price is above or equal to the minimum prlce{ﬁm o@l" be ineffective a

Jovernm : : :
T ent will not interfere in the market. " o(@h‘ment will take administrative
\

"¢ Market price tends to cross the minimum price limit

a
Clions tg make it effective. <
O P

O ©

%
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Po e

: E"
B / BN X
D 5 / \
| D
S VG .
N L
; > N ] Q, Q, Quantity
0 Q, Quantity O Q, Quantity

(Not Effective) (Not Effective) (Effective)

Types of minimum price limits
- Bylaw
- By stock purchase or buffer stocks
- By guaranteed price scheme

a. Minimum price limit by law

Consumer
Surplus after s
price flooring

P = =g b Effective minimum
Consumer Surplus ;();nce Iitr‘nit )
Total Producer | transferred to ce flooring
gu?plus a?tzr Producers Po &
price flooring Producer Surplus
after price flooring 4 \ D @
0 b Q;‘ - Q“l Q, Quantity oc /\0
urplus .
P
Before effective Atter eff9s o~
) minimum price limit | miniquyiprisgtimit
Price that consumer pays and sellers receive OPo 4
Quantity demanded (Qq) OQo \) Qi
Quantity supplied (Qs) 0Qo ® o
Surplus - . '\o’_‘Q 9132_—"_21’1___/
Quantity traded OQO§$\@}’ _99_1___/
Consumer expenditure=Sellers revenue (TR) OP@o \\SK\ P_P_":"_QPL,—’
&
Consumer Surplus A@O “? ~ aPmeg
Producer Surplus O?R?Eo ﬂ'ﬁb/
Consumer surplus converted to producer Q.'@é ) iqPmn
surplus Jﬁﬁ‘ - ﬂ:/
Dead weight loss - /EEO/)
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diagram ilustrates the effects of thiamgy S
ve

bo ® 0 supply curve is S, and equilibrium i - M price
111:1:” CUNeTI‘lsweo ‘lﬁar?gu};ar area that is below the demang cu(xghbetﬂuggmum price Po a":zxmb; s
| gﬁantitY 20)&1@ old consumer surplus (aPoEo). The area above the old sug:ffy ?;IS equilibrium 'y ium
represe."m rice quantifies the producer s_urplus (bPoEo). Originally, the amount per urr:{t‘ihso but
* eq”i“bréume sellers receive for t_he good is Po. As the minimum price limit is imposed t riitthe Consumers
. ! ers P2 and sellers receive increases to Pr, (the that the equilibrium price rém:' New price that
consy nat the market price is forced .to be Pmin or higher.) At the minimum price p NS Unchangeq
s JUSded decreases to Qi and the quantity that sellers are willing to supply increases to annT, the quantity
deﬂ‘i”en qr and Qz of gh represents the surplus of stock left unsold after satisfying effecti:ré c? § iference
betwmy waded, therefore, is only equal to Qi. The new consumer surplus is aPming. The n‘fmand. The
: auaf‘lus is OPmingkD. The amount of consumer surplus converted to producer Surplus as a res |tW Producer
surp represemed by the area PojgPmin. The triangular are ultof

the price
o ak :

Oe'Img-zposition of the price floor. 9Forepresents the dead weight loss due
- pothe!

Bctive minimy

advantages: _
Benefits some of the sellers who will sell the product at a higher price.

Disadvantages:

- Aprice floor reduces the quantity of the good exchanged and reduces the gains from trade.

- Non-price factors will play a larger role in the rationing process, but this time buyers will be in a
position to be more selective. Buyers will purchase from sellers willing to offer them non-price
favors—better service, discounts on other products, or easier credit terms, for example.

- Sellers will only benefit from the price increase if demand is inelastic.

b. Minimum price limit by stock purchase schemes:

- The government sets a lower limit on the price of the product and allows free market forces to
operate unless and until the price of the product remains above or equal to the minimum price limit.
- However, if the market price falls below the limit, the government will buy surplus stocks and store
them to resell them in the market during periods of shortage when the market price starts rising.

Price
Iy 4

Government purchases

Surplus

Effective minimum\o(bq/
price limit by g\’ QO

purchase sch e©
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S Before minimum price limit | After minimum price limt
by stw by stock pun:hL

Price that consumer pays OPq P |
Pnge that seller receives OPgq 3 QP ma
Q}{anl‘ity demanded (Qq) 0Qo i QQ:

| Quantity supplied (Qs) OQo | 0Q:
Surplus - 1 Q:Qz=gh
Quantity traded OQe | Q-
Consumer expenditure OPaEeQo | O P 3Q-
Government expenditure of stock _ | ghQ=Q-
purchase |
Sellers revenue OPoEcQo | QP mnnQz

The above diagram illustrates the effects of the imposition of an effective minimum price through stock
purchase schemes. The demand curve is D, supply curve is S. and equilibdum pointis Eq (with squiiitrum
price Po and equilibrium quantity Qo). Originally, the amount per unit that the consumers oay and e seilers
receive for the good is Po, and the revenue that sellers receive (calculated as price per Lmit X quantty soig!
is quantified by the region OPoEoQu. As the minimum price limitis impased, the new prics hat corsumers
pay and sellers receive increases to Pmin. (Note that the equiliorium price remains unchanged. IU's just i
the market price is forced to be Pmnor higher.) At the minimum price Pmin, the quantty demandec Jecrease
to Qs and the quantity that sellers are willing to supply increases to Q. The difference between Q- are Qo
of gh represents the surplus of stock left unsold after satisfying effective demand. The Quanoly Tscec
therefore, is only equal to Q. The revenue that sellers receive now is equal to QPmrh Q2. Part of this revenue
(ghQzQ1) is paid for by the government as it purchases the surplus stock so that it can maintain the minimum

price.

6

"

The stock purchase system is usually unsuccessful when the minimum price limit is 00 ~gn The
government ends up buying more often and in larger quantities than they are able to sell, increasing sorags
s than for

and purchase costs. However, stock purchase is @ more commaon practice for agricultural procuc
any other types of goods.

c. Minimum Price Limit by guaranteed price scheme

_  Another way to support producers and consumers is through a guaranteed price schems (\,\0
— Inaguaranteed price scheme the government ensures a certain price or revenue o ) 3
given output, and allows them to sell their product in the market at whatever price tv POS L

_  The difference between market price (price that consumers pay in this case) ;;@am

price will be paid by the government as'a subsidy. This is shown in the dia

Price \) (bq/ |
N

A

) S -\.@,\Q
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,/‘/ minimum pri o Aftor Quarantee
| e pricolimit_|_minimum price limit
patconsumer P2 O Py
‘//»e/ﬂ:a/t seller receives OPo - OPp

mn — — 0]
L.g/;hﬁmanded (Qq) OQo 070,'
| quaniita ——
“uantty supplied (@) OQo 0,
s - j::b‘
quantty taded 0 oa:
qosumer expenditure OPoEoQo OPmckQ:
Govemmem 5UbS|dY expendlture ~ Pmkt Pmin hk
seersrevene OPoExQs OPnehQ

Thed
dema

o, and the revenue

pove diagram illustrates the. effects of the imposition of an effective guaranteed minimum price. The
nd curve is D, supply curve is S, and equilibrium point is Eo (with equilibrium price Po and equilibrium
uantty Qo). Originally the amount per unit that the consumers pay and the sellers receive for the good is

that sellers receive (calculated as price per unit x quantity sold) is quantified by the

on OPgEoQo. As the minimum price limit is imposed, the new price that consumers pay increases to
Pnn, and the NewW price that sellers receive is the market price Pmk. (Note that the equilibrium price remains
unchanged. It's just that the minimum price guaranteed to sellers is Pmin, and the price actually prevailing
in the market is Pmit.) At the market price Pmk, the quantity demanded by consumers increases to Q2 and
the quantity that sellers are willing to supply decreases to Q1. However, the price that suppliers are willing
o accept for quantity Qz is price Pmin. The government pays that price to the suppliers (since they are
quaranteed it), SO the quantity supplied and traded at the guaranteed minimum price limit is Q2. The
consumer expenditure on the good is equal to (market price per unitxquantity traded), which is quantified
by the area OPmkkQ2. The government pays the producers the guaranteed amount of PmiPminhk in the form
of a subsidy. The revenue that sellers receive now is the addition of consumer expenditure and the

govenment subsidy, equaling OPminhQ2.

CLASSIFICATION OF GOODS AND SERVICES:

Product or commodity is anything that is used to satisfy needs and w
Goods (tangible and visible) or Services (intangible and invisible). G

into two basic categories, i.e., free goods and Economic goods.
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Classification Of Goods & Services

- 3

=

- limited in supply
- opportunilI cost exists

- unlimited in supply
- zero opportunity

- zero price

- e.g. Air, Sunlight

v

Non-Private / Private Goods "“"“‘G

_ excludible - non-excludible
 rival / exhaustible - non-rival/non-exhaustible
¥ v v
Merit Demerit Other
Goods Goods Goods
e.g. e.g. e.g. high degree of Low degree of either
- Education - Cigarettes - Cars non-excludibility non-excludibility
- Healthcare - Alcohol - Food & non- rivalry or non-rivalary
eg. National e.g. Public @
defence & beach or Pub{e\ Q
Light-house park e A
A
FREE GOODS:

o0

Free goods are those which are unlimited in supply. These have zero opportunity COS§L e §Qnsumpti0n

is not Ii_mited by sqarcity. They have no prices - as their name indicates - and ingt \no factors of
production are required to produce them. The air we breathe could also be see aks}z ood along with
water in a local river. & 025

ECONOMIC GOODS: @

SN

O
Economic or scarce goods are those whi

i ch are limited in supply N{L}Ellﬁ%goods we consume aré
economic goods including food, clothing, cars mobiles et ' ‘whi e category
of free goods. Economic goods are either €. except thggk, fé ‘which fall under th

private goods or publi¢ goodsdd
Public goods: % (\ii

Public goods are non-excluda , s _ on-
rejectable as well, ble and non-exhaustible &d’i\m@ry in consumption) and, most times.

Non-excludable means no & ilable °
anyone in the society. o1 can be stopped frof the consuming the good if they are aval@
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stible or non-rival means WQ—@Q&@%&W aleﬁt#re
chat! s that the consum cture. €Y are consumeq

N aple means that | 4 Choice
1e)€ or not. An availability of public goods to one person does not in(f)rfinggit‘f)ler !t: consume
On the right of oy,

ers

Conomje '"'“Nention

mmﬂﬁubuc9°°d5

s are purely public (e.g. lighthouse or national defence) an i
Somé %Zoguasi-publif: goods (e.g. public beach or public park). %he:e(;:?: :ﬁ: gi;%ﬁr?:t";w:mm o
rto' . of the characteristics of public goods. Ve some but
example might be a sandy seaside beach. Such a beach is available to all tho i
¢ |t appears non-equudable. However, it is possiple to think of ways of excluding cor?seuxlc;sv.wsgrit\?a?;e
ouned beaches do this. Eq ua|l¥, the beach IS non-rival up to a point. If you are the first personona pleasanyt
ch on @ warm sunny day, it does very little to diminish your enjoyment of that beach as a few more
ple arrive to enjoy the benefits themselves. However, there may well come a point at which that is no
onger the case. As the beach bepomes crowded, space limited and other people’s conversations and music
necome ever more audible, enjoyment may perceptibly reduce. Thus the each has something of the
craracteristic of non-rivalry, but not the full characteristic. It is a quasi-public good.

Whether a good is purely public depends upon the extent to which it is non-excludable and non-
exhaustible.

PUBLIC GOODS PRIVATE GOODS
Non-excludable Excludible
Non-exhaustible Exhaustible
Free rider problem No free rider problem
Non-marketable Marketable A
Benefits of public goods can be extended to Benefits of private goods can't be extended to @0
others at zero additional cost. others at zero additional cost. /\
Non-rejectable Rejectable e O
Examples: National defence, light houses, Examples: merit goods, demerit goods.@ K
|_____national T.V., and radio broadcasts. othergoods. . o N |

Private goods: frgq/r\’

Private goods are those bought and consumed by individual consumers or ﬁrn? h@ydwn benefit. Most
e ion, cigarettes etc all

ofthe goods we consume on a dail i ivate goods. Food, cars
y basis are private g . Food, , _
¢ examples of private goods regardless of whoever is producing i.e. PG RhPu lic sector. They have

0important characteristics: O o
1 Excludability:
'S possible to exclude some people from using a private goo

E[jfe‘ I the price is not acceptable, then that good will not bbc
®hased by one person it cannot be consumed by others. @,b

b, Rival

un s i i ious that
ety oreprn s 1 SO e
Purch e purchase food, clothes or a textbook then t ns tha

d. Once a private good has been

d‘%;c'\gn%rmally done through charging a

356 by others.
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1. Merit goods:

The state is concerned to increase in consumption of certain 9°°,ds which.t con.SIdersbto be highly desirable
for the welfare of the citizens however consumers do not realize the true _;I)_gvaée tineﬁt of them. Sycp,
goods are described as merit goods. They are special form of private goods. The bes l ”t?w" examples are
state health and education systems. Other examples include training, insurance, inoculation and seat bejtg

In a pure market system, consumer spending on merit goods would be determined b}{tthe private benefits
(benefit to consumers and producers) derived from them. Merl_t goods have positive externalltues_ or
external benefit (benefit to the third party who are not directly involved in productlon anq COnSumpt!On
decision) so that the social benefits (Private benefit + external benefit) derived from their consumption

exceed the private benefits.

To understand these types of good, it is necessary to appreciate that there is mformatuqn failure to the
consumer. This arises because consumers do not perceive quite how good or bad a particular product is
for them; either they do not have the right information or they simply lack some relevant Infornjatnoq, This
's why merit goods are provided by the government for those who are deemed to need them. With this ideg
of a failure of information, a merit good is defined as a good that is better for a person than the person who

may consume the good realizes.

Itis interesting to note that the example of a merit good given here, namely education, is the same as the
same as the example of the product that can be seen as having positive externalities associated with it.
People undertaking education receives consumption and investment benefits. Most will enjoy the education
and it may stimulate lifetime interests (consumption benefit) and will increase the_zlr future earning power
(investment benefit). In addition to these private benefits, third parties will gain from having a more
educated, inventive labour force and a more informed population (positive externalities). However, the
reason for identifying the product is different here in case of merit goods. Here, it is not due to the external
benefits that it creates, but rather due to the unperceived private benefits to the person through consuming
the product.

2. Demerit goods:

Demerit goods, on the other hand, are those products that are worse for the individual consumer than the
individual realizes. Cigarettes are taken to be a typical example here. It is suggested that when a person
makes a decision to smoke a cigarette, he or she is not fully in possession of such information, then there
would be a greater reluctance to smoke.

%
In a pure market system, consumer spending on demerit goods would be determined by the pri &%
(cost to consumers and producers) derived from them. Demerit goods have negative exigr_)a i or
external cost (cost to the third party who are not directly involved in production and consun@o QTision)
so that the social costs (Private cost + external cost) derived from their consumptiokeée dlhe private

e
costs. \) N

Itis interesting to note that the example of a demerit good given here, namely (W9the same as the
same as the example of the product that can be seen as having negative ext ey’ associated with it

tIzowc:]velr. the reason for identifying the product is different. Here, itis not @ the’da@mage done to others
a:j t et lls_sije arlsig, but rather due to the unperceived damage done to £9n through consuming the
product. Like smoking if a good is demerit as well as causes negativ e{{y, there will be two causes

of market failure associated with one product: i&‘a

N\
Merit goods, demerit goods and value judgement % Q\ﬂ

. N\ :
gnrgagfel;?;stb%eor; go\t/lsre:d in the above definitions that a sig eL?es:tion poses itself with regard to merit
presumably r%tioneﬂ de © I8 lo say what is ‘good’ or 'bad RErson? If an individual consumer makes @
is making & ‘wione' docrr ?‘° consume a produt, o has the rest of society to say that he of She
value judgementsglf socie?n' |tsleems clear that if s deWhat is going on, we have entered the aréa 0
for them, hen we'are y Is able t(? Say to consumers'that they do not fully realise what is good Of be

! accepting that ‘society knows best and hog some right to make such a judgement
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, SlewnG paternalism (2 Situatlo%gso_cimmst and ha
' y to judge wh 25 Some right to mae
ge whatis, orjg not, good for a

- 57

o V27 v grd we are 52yinG 3t tis acceptable for societ
A ert) 2

A ¢ ot 1nat person may believe,

’/,! f rt’l‘pf’:' ’ ’
‘ ’y " andt
oy 7

- ﬂzATION
iV

o 305 warsfernng the ownership of assets from the public to the private sector
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of W:ﬁzn

porm*
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nﬂ{,ﬁ)'(lﬁul) | .
o 0 s o ounership—s3aies of assets or shares. In this case, the government ma
‘/"),4:.-/ A/

= y retain some
epryrion a0 ¥ 33 3 requiator to ensure that public interest is protected. shares
g & 7
granehising , . ) . )
Iy gt SROIOT B right to operate a particular service/activity for a given length of time. May be
’/‘“’ v

s
e f (AR /e

P

prratization of production.
-~ ymornenant s qgoods and services instead of producing them,

[ privatization of financing: | |
1 st relies o consurmer charges rather than tax revenue to subsidize operations; e.g.

”;qg,q{,ljtmf sehonl fees

t,  Deregulation ‘ _
the Iberalization of requlation to promote competition through the removal of barriers to entry (e.g.,

wiernmunications, the financial industry, airines, etc,),
Arguments for privatization

Thess Include

1. Ralsing ravenue for the government '
orrow and
he revenue gained from the sale makes it possible for the government to reduce its need to b

‘ the

ol 1z 1alos without reducing its own spending, Extra government revenue gayrgflistgbtl): received In@
fotm of higher corporation tax receipts If the privatized concerns become more p . (‘ o
ke

2. The removal of political Interforence 4 - 86&}
In the private soctor, decisions are made on the grounds of a{ﬂglont(r:y iﬁndug;ﬁgtr'\ Polnticng&o
decisions to further thelr own political ends and not those of the Industry in g ‘ N

3 Increased competition

& N
/ |
ciow@ s binished with
s argued that the privite sector has the spur of competition since  Ineffici "pur

z with consumer
bankiuply A failod firm will go out of business and the resources will bte:1 :’ezg?@n ‘0@9 orantoes their
domand, whoreas stalo onlerprises cannot go bankrupt becauso

lmlmwmuh
' to persuade banks and
A piivato sactor firm may have to compete In financlal markets for fu (Qﬂ&(@s

Olher financial institutionss or its shareholders that lts plans are viabgw™® o,

O, y
which was run as a monopo
Grealar competition may also be croated In the product market | lnﬁ%’rate W anication poly
chlm Slale ownership Is split Into compeling parts; for egarmflqy
Petaling in competition with each other. : @0

4 Incroanad ) ill be able to chargeé

f ce. They w

?ﬂi"“"?"‘ oTapivalzed i il o o o "°"“m323$§’£§'?h"ey think will produce the righ!
8 hey regard s commerclally appropriate an
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Unit 4

ivate sector firms to be more efficient. If they are noy
return. The stock market may also pul pressuie on B0 the risk of being taken over by another firm,

performing well, their share price will fall and they will run

5. Wider share ownership. it ; * ;
The broadening of share oxsnership may be another aim of privatization. The idea is to shift ownership
away from the state and institutions towards individuals.

6. Cost-push inflation may be reduced . ‘
Private sector managers may be more reluctant to concede to wages raises not matched by higher
productivity, and may be less willing to accept inefficient labour.

Arguments against privatization

1. Long term loss of revenue . .
Whilst selling off profitable assets raises revenue for the government |n.the‘ short terrq. it leads to a loss of
future profits for these industries. If the loss of profit is greater than any rise in corporation tax resulting from
the privatization, the government borrowing requirements may be larger in the future.

2. Competition in product markets may not be increased . .

If a public-sector monopoly is replaced by a private sector monopoly then, other things being equal,

competition will not increase.

3. Market forces may not ensure greater efficiency

Privatized firms, if they have a high degree of monopoly power, are likely to be able to earn supernormal
profits, even if they are inefficient. The stock market may also fail to put pressure on the firms to become
efficient. The stock market may also fall heavily on retained profits for their investment finance, and their

large size is likely to prevent other firms from being able to take them over.
4. The loss of potential revenue from the sale of a privatized concern that has been sold too
cheaply

It is thought that, in the past, some state concerns were sold off too cheaply. Evidence for this was provided
by the sharp rise in the price of shares, which occurred the day after the shares were sold in many former
state concerns. Whilst this provided a speculative gain for the purchasers, there was a corresponding
sacrifice in revenue for the state and taxpayers. In practice, it is difficult to set the price of shares in
privatized industries at the appropriate level.

5. Private sector firms may not act in the interests of the public
Private sector firms do not take into account externalities. They are also unlikely to base their output and

pricing decisions on considerations of equity. 0

6. Loss of government control over the economy . (O
The government's ability to influence pay prices and output decisions will directly be reduced® \OQ
2N

7. Natural monopolies . N
In the case of industries where there is only room for one firm to operate efficient Vl? al monopoly),
there is a risk that a private sector monopoly will abuse its market power, wherea% onopoly can
be run in the interests of the nation, and not with a view to making private profj 5 }b

©

dustries (such as steel,

One of the main arguments for public ownership when basic capital-i
ould provide the very large

coal, and the railways) were nationalized was that only the state ¢

8. Adjustment to changing market conditions @
1
, . . %dQ
injections of capital which were needed to restructure and moderni y
\

9. Helping to manage the economy. ‘() {\\\&

Afurthey argument for having a large sector of the econom nder government control is that it can

used ag g powerful lever to control the economy. E Ple, during a recession, the investment

Programmes of the nationalized industries can be in *help stimulate an increase in income an
eMployment,
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Means of

weitd sts and benefits

0 Soccedi’ - firms usually only undertake production if private benefitg

! M e . e

o5 ‘:\’ est, Wil bebundt;s"r s(tjrct)ng political and socja| pressures to giy
pic 1N ay be obliged to operate s -maki e

P enaltes thE)‘(allﬂcgsts-for e%(ample Fr)ural poc;rt‘;? |on making activities were sociaj be

& er than soctel id bsi : and transport services. The nefits are Clearly

ge? il obligations may provide su sidies for such non-commercial operationQSOVernment recognizing

“AﬂoNALIZATlON AND DIRECT PROVISION OF GOODS AND SERVICE
S

ization refers to the public (government) ownership of certain firms

'onal . .
Nat! oods or services sold in the market (commercial activities)

p’OV'de g . . .
quments for Nationalization

Ar .

. come industries can benefit from being organized on a national -

" ;Oonopolies. Itis much more efficient to provide services such asr;?;;ltgzrr‘vﬁ:ézcae}lelzi\t/ﬁéihke Patural
silways on a national scale. If, for instance, railways were provided by local cominaii ty, gas, and

.+ have to change trains frequentl panies, passengers
might ha ge requently as they passed between areas controlled by diffe
companies, and there might be different gauges between track and different timetable ! rent

2. Some industries, such as steel, railways and electricity, are best provided on a large séale so that the
can take advantage of the economies of large-scale production. If the industry were nationalized%
would be provided on a large scale rather than by several smaller private enterprise firms.

3, Some industries require vast amounts of finance to operate efficiently. For instance, the steel
industry needs to invest millions of pounds every year on new plant and equipment. If the industry is
nationalized then finance can be found by allocating some of the revenues of the government, which it
receives mainly from taxation. It is unlikely that private enterprise firms would be able to afford such
large expenditures.

4, Some industries are monopolies, which would then have the power to charge high prices and limit the
quality and quantity of output. The government might nationalize such industries to prevent such a state
of affairs,

, Some industries are so important to the well-being of the economy that they should always be

owned and controlled by the state which can then organize them to the advantage of the economy as

awhole, Such industries include railways, coal, electricity, and steel. These industries are kn 6

'the commanding heights of the economy.’ A
, Some Industries are best provided by the government for reasons of national safety aw St
would clearly be better for the government to provide industries such as nuclear power 0 A med

forces, rather than allow private entrepreneurs to do so. . & _
Some industries are very Important for omployment in a particular regionNg thg’} might be

nationalized in times of financlal difficulty. For instance, it a major indust irr‘r?er?to ::ins;;il
dissolution, this would cause a great doal of unemployment in the reglcQ Govern :

therclore, soek to nationalize n company rathor than allow this to happen. ‘
. ! ! ¢ . to poor,
Nationalization in the aconomy may holp the redistribution of wealth apd n@ne from rich to p

8nd 1o ensure that industry is run for the benefit of all the people '“‘u‘\t wée ices, such as health
+ There are also soclal arguments (o1 hationalization on the groundR! Y \

(public corporations), to

: ; ized prices.
services, should be avallable (0 all members of soclety, oither {{@subsid g
rgrhlmonts against natlonnllzatlon - %? Azm diseconomies of Iargo-§qale
alionalized industries suffer from being 100 big. TheDgu eﬁ taff and consumers, slow decision-

Production. suc J a1 sona

, such as too much 'red tape', litle pet

0. :
Making and little profit motive among managers an X "uk:;rr(;fom equally as bad as private
© Nalonalizeq industries are public monopol (gute, !

: ic, and
Nolomaron Thay chargo high price® it L 06 lhllwyé‘ Thelr affairs have to be made public, @

\ i ntar
Blonalized industries are constantly in the ‘Pt 18 may be interviewed by parliame y
018 18 an annual debate in the parliament, and thelr manage

.youtube.com/megalecture

MEGA LECTURE

Clu )T



www.youtube.com/megalecture

Online Classes : Megalecture@agmail.com
akilgighy and imaginative decisions i, Case

commitees  Therefore. ma www.megalecture.com d dl
oy maght fail . : i . They demand large a
4 :\ "::“j‘»&?mdu‘:met are frequently inefficient and l'mpm::aag:payer.y ge amounty of
fnance to keep them in business. Thus, they are a drain 0

PAST PAPERS QUESTIONS

(:':fv ‘20“12:12;3;0%: ; diagram, what changes will alter the amount of consumer surplus available from
the consumption of a good. (0g]
(June 2010P22'Q4'a

Using a normal demand curve, explain how consumer surplus occurs. [08}
June 2009'a ) . o
(C\:e n, with ‘.’se) aid of 2 dizaram. how consumer surplus will be affected by the introduction of an Indirect
tax ) (08]
(Yune 2000)

to close its 142 town centre shopes because customs now make
greater use of the telephone for buying goods and services which have been advertised by the AA. The a4
said ‘We have 10 adapt to the changing demands of our customers... and the closures will enable us t,
rice of some of our goods and services.'(Adapted from AA Magazine, Autumn 1998)

The Automobile Associztion (AA) is 2

Q
a

e0uce the p

(3) Expian what is meant by consumer surplus and analyze what might happen to the consumer surpjys
of AA telephone customers. (12]
(June 1997/a)

Explam what s meant by 2 consumer's surplus and discuss what might cause in that surplus. (12

(June 2017/P21/Q3/b)
Discuss e difficuttes of introducing 2 widespread system of maximum prices for essential food to protect

bw-inzome families i 2 period of high inflation. Consider whether this system is likely to be

-

suzcessiul [12]
(June 2016'P21/Q2/b)

Discuss wnether attiempts 1o help poorer consumers through the introduction of a maximum pricgfor
Nec2ssties can ever be successiul @
(March 2016/P22/Q2/b) oc
Jiscuss he efiectiveness of subsidies and indirect taxes in ensuring that the correct pn‘ce?qué%ﬂd
9=meTT 20008 IS charped in the market. [12]
(Nov 2015/P2/Q3 ) O N

LISCISS why mert 9o0as are undersupplied in 2 free market economy and consi N veness of
one policy 12 deal with this probiem, (12]

(Nov 2015/P2/Q3/b) Qo Orb
©

Wiost govemmients provide both defence and educztion services
' Thisriice + r 4o ~ o ilal : ) !
=/ DISCuss now tzxztion and subsidies could iMprove the provision of %ﬂd education services In

2n economy and consider the likal Yy success of suc iCi
f =Y Success of such policies. 2

(Nov 2014/P21/Q2/a) ” \é( @'O |
Usmg 2 supply and demand diz izin A

ng = Z=Tanc diagram, explain how the i posii gﬁs good o
Surplus enjoyed by the producers of that good neim ' Gona . aﬁea[oal
(Jun 2014/P21/Q2/) ' &
Discuse the exient 10 which 2 Qovern 4

- b "nen ] ’ .
i the Shor-run ang in the long-run tcan increase @Qc@ of an agricultural product 10 an econot"'g

(Jun 201 4!P22/'Q2Jb) 2
Discuss the view that attem

‘ t o mum prce 1%
005 flems will ziways fail PIs 10 heip poorer consumels through the imposition of @ max pﬂw[m
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3/a) B | .mes -
¢ lan o s mtde““""’ and cross elastiGity of dernsivd vl 6/ iy s
: ! 28 duct. ind
(:':,nqmsh :::f) Jifferent types of pro .

W \ld‘." /b |
Nd “2 9221:3;8 ZWO types of elasticity would be more useful when predicting Wt i tees, i s, ps
0" which of ¢ smand factors change in a market economy. "

D,_ci‘u‘ haﬂg(" as
i 1Q3/b) o
W 2013P23 d services the government should impose indirect ta/65 ) eryxe 1y vy

ané ish goods an ‘
J hich 9 lIls mainly on consumers, and discuss the extent to which consumer sugs v i

E\Ea:::co of the tax fa ”7
1KY ‘V‘
ted.
:eaff""z 43/p22/G2/b) | | ’ l
une * nether preventing the price mechanism from working freely by using government prs coros
Dbce:re effective i
@ o12ip21/Q2/3) | . ‘
Nov 2% the use of diagrams, the different effects on the price and quantity of a product of the rermovz
Exp‘agt':sidy and the removal of an indirect tax on that product. .
fas
oy 2012/P21/02/0) '. ‘
< the possible benefits and drawbacks of government subsidies to agriculture. 1z
June 201 2/Pp23/Q3/b)
Discuss the offectiveness of government use of i prices to help consumers 2
producers. :
(June 201 1/P22/Q3/b)
Suggest o possioee TS why a government might increase the indirect tax on such goods (M73

Players) and discuss, in the light of these reasons, the likely effectiveness of such a policy. [12)

(June 201 0/P22/Q4/b)
wih the help of diagrams, discuss whether consumers will benefit from the introduction on a product of

) 2n indirect tax, and
) an effective maximum price. 12

cers of fuel will affect the
[08]

-cost budget airlines might affect the air travel market and the

a) With the aid of a diagram, explain how a government subsidy to produ
rs and government expenditure.

) Discuss how reduced air fares on low

s for related goods and services. 2l

2009/21/Q2/a) ; A0

in, with the help of a diagram, how the price of a product moves to a new equilibriug('@wfé a

ease in its supply. QQ—TOS]
2007/Q3/b) 0 N

, with the aid of a demand and supply diagram, the effects on consumers a@«l{:ﬁ% when the

(12

emment introduces an indirect tax on a good.
g )cle

Q(D
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